HAREHE: 2022568

EU: Sony Europe B.V.

Da Vincilaan 7-D1, 1930 Zaventem, Belgium
UK: Sony Europe B.V.
The Heights, Brooklands, Weybridge,

Surrey KT13 0XW, United Kingdom

CH: Sony Europe B.V., Hoofddorp,
Schlieren/Switzerland Branch

Wiesenstrasse 5, 8952 Schlieren, Switzerland

Sony Belgium, bijkantoor van

Sony Europe B.V.
EC REP Da Vincilaan 7-D1, 1930 Zaventem,
Belgium

Sony Europe B.V.
UK RP The Heights, Brooklands, Weybridge,
Surrey KT13 0XW, United Kingdom

Sony Europe B.V., Hoofddorp,

CH Schlieren/Switzerland Branch
Wiesenstrasse 5, 8952 Schlieren,

Switzerland

BELADEE
[E—ILASHZBODO LS D] [CHHDEON

VZ—#HIHEr  T108-0075 FEREXAER1-7-1

Sony Corporation
1-7-1 Konan, Minato-ku, Tokyo,
108-0075 Japan

Printed in Japan

SONY.

Monitor Stand
U 0 28 7 8
BH N B SZ o

[logpcTaBka and

MOHMTOpPA
MOHUTOP
TYNKOMMach!

ERRANEFAREAERRAL, HEZERE

BEVEFVZEEDD A ED TENET,

] TR RO OREFRETSE L.
/N SEE| wsorssmcnacenmnss.

COBURHRREC(F. B TODERFIRBREERBOWMO NN cZRUTHDET,

CDBUREHAEZ LK BRHFDS . RAZEREICHBEVEEW. BFRHIIEofcd &l
WDOTHRSNBDETAICHTRELTLIEEL,

SU-600MD

C€ A

© 2016 Sony Corporation

4-587-870-03(1)
2022-06

EkERBEE

Instructions for Use

w

Instructions d’utilisation
Gebrauchsanweisung
Istruzioni per I'uso

Manual de instrucciones __ |

EAEA CS
IR CT
AlE & KR

PykosogacTso no akcrinyataumv___ |gl®]

N

ManganaHy Hyckaynbifbl

Z
=

Gebruiksaanwijzing

-

Manual de instrucdes T

~

Brugervejledning

Kayttbohjeet

Bruksanvisning
Bruksanvisning

Odnyieg xpriong
MHCcTpykumm 3a ynoTtpeba

vy)
®

2] B==| e Innl Im D [€2] (92 o T 2] 4 Wl ~ = i =

Uzivatelska pfirucka

C

Hasznalati utmutato

—

Instrukcja obstugi

Instructiuni de utilizare
Navodila za uporabo
Navod na obsluhu
Lieto$anas instrukcija
Naudojimo instrukcija

Kasutussuunised

Upute za uporabu
Kullanim Talimatlari
Uputstvo za upotrebu

4587870030



I
BZ2DEHIC

V= —OEHIIIE L AT IUTERATE X v &) 12,
VI EE L TEEFshTwET, Larl. $5
Wolffivpizzd s, K- EKE - @EZEICLD
ANEHFHIZ D2 DD GEHRTT,

H G 72OIZRDZ EZLT BTN &,

REDHDERFIRZTD
FROEFRFAE L BFHA S0, BiLko%s

FoOEBFEILINTHET,
MEH Lo ZEE] b TBIHALIZI V.

A

I ]
I

TRDEEETSHEE,
[FhizLrbEzonRICiEE:
5X3TEDBDET,

BEERTOEK
CORRHEEBLOHRTIE, RDK SERR
ZLTVET ., RNONAEL<EBRELTHSE
XEBFTH<EEL,

NES
CORFOEERFEETSEE, BEDEO
DEHIC KD FHE UL D BRI S S

AlcDTBHTENDDOFT,
ABRZ(ETES TAERILT DS
AR =
TRZEIETRT %52
=R

A&
o=

AREISEFRICERE LIEL
CHDVIZHED EREVIZE ZAHIZERET
Le, BNz ELLD LTHAROERE
HHIEDNHY FT,

F7o. BRE - W) TSR OTRE & TS
BWENPD 7280,

BHBEE=5—-DAIEOTEL. F
ATV ROEEZRD
EoF—FEWNFITZIRETAY V FEE
BEEsLXiz, B —OAROTON
F2EAY  FOEMZFo TLZE v,
EDIMOEL TR, BEAET LA
XY A,ENH) £3,

BEMANDEREICERLEBN
CHOAY Y FiE, V=—DLCD £=¥ —H
HTd,
BEORZRLAMIMER L7, ol LCff
ALY 328, MERAEREICL), #
mOSE T LCUHDORERE LD LB
ES

P2 | R2DfHIC /ER

&

&R

fIEO*I%ES
MHIBO R Y &bz E | BEAET LT
HDREE %D LB Y E,

=

&R

B = ENICHER TS
B A TP LATHDL EBEPET LT
I 35ZE0H 0 FT. ERAICHUT
FTUDBDBATWEWI L& FEMLTLE
Sy,



ZOMDRELEDTES

95T 4w oY ViRILDERA

EVEUREHEAZE SR

R DY RVD D B EFTE. Bk
EDRIRRIZLIZD o TITHH L2 &,

COYYRNVITEEEZE TR, BEL T’
WEEL EFETRENT T,

COVYERNVIE, WAEERL, BEL Tl
AEDBIREAEF AR S NE T

ZOY yRVIE, BINILEMRIC BT 2R EE
L. B L CONIERRIC BT B FRE
O EFEFABFE SN E T,
ORI, EEICBIAETLEEZERL.
B L CRENC B B BELE OGRS L AETTD
Bt s nE 9,

[CH [ReP] DY VRNV, AL RAZBITAIEHROMRE
FrFL, BIELTAL AIZBITHERONK
KEOZFREFEFTAPRE SN E T,

ZDY YENIE, FRINFEERIZ BT 5 KRR
mEELET,

DYV IYERNMEITYTNFON—FRLTT,

E@L =

COYYRNVIEEAMNERLE T,

RF - WXEE
DY Y FIWVIIEE & BB
LI,

RF - EDNEE

DYV R INVIIRAE & R EREE O I IR %
FLIT,

*77 - EERE

Z DY Y RIVAIBAF & BB O KRAEHIR
FRLTT,

58 O i FE il BR &

T W~k [

AR

KIEFE /LT 7)) —RBERET L L X1, BIEHRS
DY AZIZEE L., BEL ST 2 IZEOBERE, B
OB L 72 BE BN L7255 TL 2 &0,

A%ﬁm

$

vy

s

%%ﬁmﬁé%G@& CRIHB L ORI D
i3, B —ORFHHELZ ZBE LS,

E

AR
MR (Magnetic Resonance) BRETIIMH L WTL S
Vi,

R K GE, T HIARE

BB TG SRR D D

95

ERLDTES

KEglE, V=—DLCD E= ¥ —HHOAY > FTY,
THERAOE= Y —HBRBEICHIEL TV D) it €
=5 —OHNHLHAEZ TE L 280w,

Ty —HRHET2EXT, EZS—OHEOTDON
F20EA 8 U FOERZFio T 723w,
HEIIE50~70v/vBiEED A4 Y 7u V7V a— v E i
12769 ~ 814v/v% IEEED T ¥ ) — )L TAMKEFEE & 15
ETHERL TS0,

BNV EVE &R, 7)== 7 70R R EDFES
WARIZAR TH D 7RI Z L L& T TRE L o7
#%. RREET AW CERETER L TS v,
Ry DRy v — BRMESREE. Tov ) PRI

ﬁ@ﬂkb%@% LfZ ) & A EIIARGERT L 5O
TTOT, FHFPHIEAIMHFH L 2T 2E
Vo
WOATIZIINEDO AT 2 BN EE 0. HEDORY

DAVl 2L, 27005 AEGO%ET TR ZT
LT ENDHY LT,

o BEWIZZRDENI, LI EIEHEZITo TSV,
g 2 DM AE S E%L@T&?TE% EIRFEMIE R B
L OBREEEIMRRR R I b 53, fiffid v L
FTDOTITTARLIIEZEE N,

s K#EmurfHLIZ L
5D BEERIZ
wrhE T,

o HHFHIC L HZABGIIE T 20— EADE L, T
IZOoWT, —JoHETEEBEVDIRE T,

WX B BER TREE=F,
wa%\éﬁ —PoBREEA

ZOMORS FOTER /ERLOTEE | 3P




4 -y r—TrErEETs

;I_E:’S’ —~O]DbHiFh

tEm

e R—22=v } (1)

e Xy za2=v 1k (1)

e M5 X 2043 (4)

M4 x 14 %Y (4)
BRHAE (1)

=V ASHEOOLEBY (1)

[Ty Rb R HE

1 E_F =AYV FEMARLTH

Qv /a1y MIR—22=y FEEAL, @1
EBOMS x 20 2T (4) THEHZELF I,

2 Eo Y AFLPVELEOLICES, ES—IC
M4 33 (4) 2SHD T 5TV 2 Ba I ) #k3

3 HEOMAX 43T 4) TE=F—2% ¥ FERY
1T 5

P4 | EZHy—~ORMDEIFHE



FIS(THR

(5= #1 29kg

PRAE - EptiE - 20 C~ +60C

BRAE - Et i EE 20% ~ 90%

BRAE - R E 700hPa ~ 1060hPa

AEEDOARESB L UFMEIL, LR D20 Bl EHT 5

BN FTITA, TTHEL ﬂé‘b‘o
N ~E
HA7 D mm

350 100

~N
J

100

© 5

\§ J
//7*1\/[47{
g o) ° [ 00
o}
O
z &

I [/ O Rzt BN
%—7—171_(} 7 LJ "Q
‘ T % O/ A o ) §

195 124
M5 % 80 M5 7

165.1

EZY—DOETEFH-T, AEZHET LI EHNTEE
B

TR

5JP



G82

Before operating the unit, please read this manual
thoroughly and retain it for future reference.

Symbols on the products

EE] Consult the instructions for use

Follow the directions in the instructions for
use for parts of the unit on which this symbol
appears.

This symbol indicates the manufacturer, and
appears next to the manufacturer’s name and
address.

This symbol indicates the Importer, and
appears next to the Importer’s name and
registered office address.

This symbol indicates the European Community
representative, and appears next to the European
Community representative’s name and address.

H H @ E

This symbol indicates the UK Responsible
Person, and appears next to the UK
Responsible Person’s name and address.

This symbol indicates the Swiss authorized
representative, and appears next to the Swiss
authorized representative’s name and address.

o
=

This symbol indicates the medical device in
the European Community.

This symbol indicates the serial number.

This symbol indicates the date of
manufacture.

Storage and transport temperature
This symbol indicates the acceptable
temperature range for storage and transport
environments.

Storage and transport humidity
This symbol indicates the acceptable humidity
range for storage and transport environments.

Storage and transport pressure

This symbol indicates the acceptable
atmospheric pressure range for storage and
transport environments.

QW s~k B

Caution

When you dispose of the unit or accessories, you must
obey the laws in the relative area or country and the
regulations in the relative hospital regarding
environmental pollution.

Precaution

For the customers in Europe

This product has been manufactured by or on behalf of
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-
0075 Japan.

EU and UK Importer: Sony Europe B.V.

Inquiries to the EU Importer or related to product
compliance in Europe should be sent to the
manufacturer’s authorized representative, Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Belgium.

Inquiries to the UK Importer or related to product
compliance in the UK should be sent to the
manufacturer’s UK Responsible Person, Sony Europe
B.V., The Heights, Brooklands, Weybridge, Surrey
KT13 0XW, United Kingdom.

(T3]

Caution

For cautions and further information on using this
product, refer to the Instructions for Use for the monitor.

(T3]

Caution

Do not use the device in a MR (Magnetic Resonance)
environment.

It may cause a malfunction, fire, and unwanted movement.

Precaution

On Safety

* This is the stand for the Sony LCD monitor. For
confirming whether your monitor is compatible with this
unit, refer to the operating instructions of the monitor.

* When you raise the monitor, raise the lower side of the
monitor or the bottom of the stand.

* Clean the surface with a 50 to 70 v/v% concentration
of isopropyl alcohol or a 76.9 to 81.4 v/v%
concentration of ethanol using a swab method.

* Stubborn stains may be removed with a soft cloth such as a
cleaning cloth lightly dampened with mild detergent
solution using a swab method, and then cleaning using the
above chemical solution.

Never use solvents such as benzene or thinner, or acid,
alkaline or abrasive detergent, or a chemical cleaning cloth
for cleaning or disinfection, as they will damage the surface.

* Use the supplied screws for mounting. If you use
screws other than the supplied ones, the screws may
become loose and the device may fall causing injury.



Notes

* Always verify that the unit is operating properly
before use. SONY WILL NOT BE LIABLE FOR
DAMAGES OF ANY KIND INCLUDING, BUT
NOT LIMITED TO, COMPENSATION OR
REIMBURSEMENT ON ACCOUNT OF THE
LOSS OF PRESENT OR PROSPECTIVE
PROFITS DUE TO FAILURE OF THIS UNIT,
EITHER DURING THE WARRANTY PERIOD
OR AFTER EXPIRATION OF THE WARRANTY,
OR FOR ANY OTHER REASON WHATSOEVER. 4  Connect the cables to the monitor.

e SONY WILL NOT BE LIABLE FOR CLAIMS OF
ANY KIND MADE BY USERS OF THIS UNIT
OR MADE BY THIRD PARTIES.

* SONY WILL NOT BE LIABLE FOR THE
TERMINATION OR DISCONTINUATION OF
ANY SERVICES RELATED TO THIS UNIT
THAT MAY RESULT DUE TO
CIRCUMSTANCES OF ANY KIND.

Attaching to the monitor

Accessories supplied

* Base unit (1)

e Neck unit (1)

* M5 x 20 Screws (4)

* M4 x 14 Screws (4)

* Instructions for Use (1)
 Service Contact List (1)

[ 1i] Attaching method

1 Assemble the monitor stand.

Insert the base unit to the neck unit @, and fix it
with the supplied M5 x 20 screws (4) @.

Base unit

2 Place the monitor on a soft cloth, etc., and remove
the M4 screws (4) when they are attached to the
monitor.

3 Attach the monitor stand with the supplied M4 x 14
screws (4).

Attaching to the monitor 3 GB



Specifications

Mass Approx. 2.9 kg (61b 6.3 0z)
Storage and transport temperature
—20 °C to +60 °C (-4 °F to +140 °F)
Storage and transport humidity
20% to 90%
Storage and transport pressure
700 hPa to 1,060 hPa

Design and specifications are subject to change without
notice.

Dimensions
Unit: mm (Inches)
350 (13 7/g) | 100 (4)

=

\
J

100 (4)
) o o

. J
— M4
é / [ hole
:&‘ o) ° [ 00
: ﬂ
Y
= |g
o’ @ o o
3 oo,\ \ . A
o= a =
L 7 J ©
%—7—17 i I\
| 5 A G ° &R
195 (7%, 124 (5 S =
(7"a) ®) = M5 803Y) | M5 X

hole 165.1 (6, hole

Operating angle adjustment

10°

20°

S— |
You can adjust the angle by holding the top and bottom
of the monitor.

GB 4 Specifications






FR2

Avant d’utiliser I’appareil, veuillez lire attentivement ce
manuel et le conserver pour future référence.

Symboles sur les produits

Reportez-vous aux instructions
d’utilisation

Suivez les instructions d’utilisation pour les
parties de I’appareil sur lesquelles ce
symbole apparait.

Ce symbole indique le fabricant et apparait a
coté du nom et de I’adresse du fabricant.

Ce symbole indique I’importateur, et
apparait a c6té du nom de I’importateur et de
I’adresse du siege social.

& Kk

Ce symbole indique le représentant dans la
Communauté européenne et apparait a coté
du nom et de I’adresse du représentant dans
la Communauté européenne.

m
(2]

Ce symbole indique la personne responsable
au Royaume-Uni, et apparait a c6té du nom
et de I’adresse de la personne responsable au
Royaume-Uni.

Ce symbole indique le représentant agréé en
Suisse, et apparait a coté du nom et de
I’adresse du représentant agréé en Suisse.

[2)
=

Ce symbole indique un dispositif médical
dans la Communauté européenne.

Ce symbole indique le numéro de série.

Ce symbole indique la date de fabrication.

Température de stockage et de
transport

Ce symbole indique la plage de température
admise dans les environnements de stockage
et de transport.

~ & ¢ [

Humidité de stockage et de transport
Ce symbole indique la plage d’humidité
admise dans les environnements de stockage
et de transport.

&)

Pression de stockage et de transport
Ce symbole indique la plage de pression
atmosphérique admise dans les
environnements de stockage et de transport.

@

Attention
Lorsque vous éliminez I’appareil ou ses accessoires,
vous devez vous conformer aux lois concernant la

Précautions

pollution de I’environnement dans votre zone
géographique ou dans votre pays ainsi qu’aux
reglements en la matiere de I’hopital en question.

Pour les clients en Europe

Ce produit a été fabriqué par ou pour le compte de Sony
Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Japon.

Importateur UE et Suisse : Sony Europe B.V.

Les questions basées sur la l1égislation européenne pour
I’importateur ou relatives a la conformité des produits
doivent étre adressées au mandataire : Sony Belgium,
bijkantoor van Sony Europe B.V., Da Vincilaan 7-D1,
1930 Zaventem, Belgique.

Les questions basées sur la 1égislation suisse pour
I’importateur ou relatives a la conformité des produits
doivent étre adressées au mandataire autorisé suisse :
Sony Europe B.V., Hoofddorp, Schlieren/Switzerland
Branch Wiesenstrasse 5, 8952 Schlieren, Suisse.

[13]

Attention

Pour prendre connaissance des mises en garde et
d’informations supplémentaires concernant 1’ utilisation
de ce produit, reportez-vous aux instructions
d’utilisation du moniteur.

[13]

Attention

N’utilisez pas I’appareil dans un environnement de RM
(résonance magnétique).

Il peut étre a I’origine d’un dysfonctionnement, d’un
incendie et de mouvements indésirables.

Précautions

A propos de la sécurité

* Ce pied est destiné au moniteur LCD Sony. Reportez-
vous au mode d’emploi fourni avec votre moniteur
pour savoir s’il est compatible avec ce dispositif.

* Pour lever le moniteur, saisissez-le par le bas ou par le
dessous du pied.

* Nettoyez la surface avec une concentration de 50 a
70 v/v% d’isopropanol ou une concentration de 76,9 a
81,4 v/v% d’éthanol, en tamponnant.

* Les taches tenaces peuvent étre €liminées avec un
chiffon doux, notamment un tissu de nettoyage
légérement imbibé d’une solution détergente douce,
en tamponnant, puis en nettoyant avec la solution
chimique ci-dessus.

Lors du nettoyage ou de la désinfection, la surface
risque d’&tre endommagée par I’ utilisation de solvants
tels que du benzene ou du diluant, de 1’acide, du



détergent alcalin ou abrasif, ou encore des lingettes de
nettoyage chimiques.

* Utilisez les vis fournies pour le montage. Si vous

utilisez d’ autres vis, elles risquent de se desserrer et de
provoquer la chute du dispositif qui entrainera a son
tour des blessures.

Remarques
* Vérifiez toujours que 1’appareil fonctionne

correctement avant 1’ utilisation. Sony n’assumera
pas de responsabilité pour les dommages de
quelque sorte qu’ils soient, incluant mais ne se
limitant pas a la compensation ou au
remboursement, a cause de la perte de profits
actuels ou futurs suite a la défaillance de cet
appareil, que ce soit pendant la période de
garantie ou apres son expiration, ou pour toute
autre raison quelle qu’elle soit.

* Sony n’assumera pas de responsabilité pour les

réclamations, quelle qu’elles soient, effectuées
par les utilisateurs de cet appareil ou par des
tierces parties.

* Sony n’assumera pas de responsabilité pour la

cessation ou I’interruption de tout service lié a cet
appareil, résultant de quelque circonstance que
ce soit.

Fixation du moniteur

Accessoires fournis

Base (1)

Col (1)

Vis M5 x 20 (4)

Vis M4 x 14 (4)

Instructions d’utilisation (1)

Liste des services de maintenance (1)

EE] Méthode de fixation

1 Assemblez le pied du moniteur.

Insérez la base dans le col @ et fixez-le au moyen
des vis M5 x 20 (4) fournies @.

Base

Placez le moniteur sur un linge doux, par exemple,
et retirez les vis M4 (4) si celles-ci sont solidaires
du moniteur.

Fixez le pied du moniteur au moyen des vis
M4 x 14 (4) fournies.

Fixation du moniteur

3FR



Spécifications

Poids Environ 2,9 kg (6 1i 6,3 on)
Température de stockage et de transport

—20°C a+60 °C (4 °F a +140 °F)
Humidité de stockage et de transport

20 % 290 %
Pression de stockage et de transport

700 hPa a 1 060 hPa

Type et caractéristiques sont susceptibles d’étre
modifiés sans préavis.

Dimensions
Unité : mm (pouces)
350 (13 7/g) 100 (4)
I
- N e
= | Al
g J
p— h Trgu
| [ / M4
o) ° // 00

I~
75—t [\
O / o X

ZTFOU 80 (3 1/4) Trou
M5 1651 (6", M5

—————+—

195 (7 %,) 124 (5)

309 (12 1/,)
3 ° 55 3865 (14 1/
%) @y 266 (1472

243 76203

gl

Réglage de I’'angle de fonctionnement

10° 20°
T

| |

Vous pouvez régler I’angle en saisissant le moniteur par
le haut et le bas.

FR 4 Spécifications






Bitte lesen Sie dieses Handbuch vor der Benutzung des
Gerdits sorgfiltig durch und bewahren Sie es zum
spiteren Nachschlagen auf.

Symbole auf den Produkten

Gebrauchsanweisung hinzuziehen
Falls dieses Symbol erscheint, gehen Sie
nach den in der Gebrauchsanweisung
enthaltenen Anweisungen fiir die
entsprechenden Teile des Gerits vor.

I Dieses Symbol kennzeichnet den Hersteller
und erscheint neben dem Namen und der
Anschrift des Herstellers.

Dieses Symbol kennzeichnet den Importeur

@ und erscheint neben dem Namen und der
eingetragenen Firmensitzadresse des
Importeurs.

o [ rer] Dieses Symbol kennzeichnet den Vertreter
der Européischen Gemeinschaft und wird
neben dem Namen und der Anschrift des
Vertreters der Europdischen Gemeinschaft
angezeigt.

Dieses Symbol kennzeichnet die fiir

GrofBbritannien verantwortliche Person und
erscheint neben dem Namen und der
Adresse der fiir Grobritannien
verantwortlichen Person.

n [rer] Dieses Symbol kennzeichnet den
autorisierten Schweizer Représentanten und
erscheint neben dem Namen und der
Adresse des autorisierten Schweizer
Reprisentanten.

E

Dieses Symbol kennzeichnet
Medizinprodukte in der Europidischen
Gemeinschaft.

Dieses Symbol weist auf die Seriennummer
hin.

Dieses Symbol weist auf das
Herstellungsdatum hin.

Temperatur bei Aufbewahrung und
Transport

Dieses Symbol weist auf den geeigneten
Temperaturbereich bei Aufbewahrung und
Transport hin.

>~ & [¢g

Luftfeuchtigkeit bei Aufbewahrung
und Transport

Dieses Symbol weist auf den geeigneten
Bereich der Luftfeuchtigkeit bei
Aufbewahrung und Transport hin.

&)

Sicherheitshinweise

Transport

Dieses Symbol weist auf den geeigneten
Luftdruckbereich bei Aufbewahrung und
Transport hin.

_’- Luftdruck bei Aufbewahrung und

Vorsicht

Beachten Sie bei der Entsorgung des Gerits bzw. des
Zubehors die gesetzlichen Vorschriften des jeweiligen
Landes oder der Region und die Vorschriften im
betreffenden Krankenhaus zum Umweltschutz.

Fir Kunden in Europa

Dieses Produkt wurde hergestellt von oder im Namen
der Sony Corporation, 1-7-1 Konan Minato-ku Tokyo,
108-0075 Japan.

EU- und CH-Importeur: Sony Europe B.V.

Anfragen an den Importeur oder zur Produktkonformitit
auf Grundlage der Gesetzgebung in Europa senden Sie
bitte an den Bevollmichtigten Sony Belgium, bijkantoor
van Sony Europe B.V., Da Vincilaan 7-D1, 1930
Zaventem, Belgien.

Anfragen an den Schweizer Importeur oder im
Zusammenhang mit der Produktkonformitit in der
Schweiz senden Sie bitte an die bevollméchtigte
Schweizer Vertretung Sony Europe B.V., Hoofddorp,
Schlieren/Switzerland Branch Wiesenstrasse 5, 8952
Schlieren, Schweiz.

[13]

Vorsicht

Warnhinweise und weitere Informationen zur
Verwendung dieses Produkts finden Sie in der
Gebrauchsanweisung zum Monitor.

[13]

Vorsicht

Verwenden Sie das Gerit nicht in einer MR
(Magnetresonanz)-Umgebung.

Andernfalls kann dies zu Fehlfunktionen, Brinden und
unerwiinschten Bewegungen fiihren.

Sicherheitshinweise

Sicherheit

* Dieses Geriit ist ein Stdnder fiir LCD-Monitore von
Sony. In der Bedienungsanleitung zum Monitor ist
angegeben, ob der Monitor mit diesem Gerét
kompatibel ist.

¢ Wenn Sie den Monitor anheben wollen, fassen Sie den
Monitor am unteren Rand oder den Stinder an der
Grundplatte.

* Wischen Sie die Oberfliche zur Reinigung mit
Isopropylalkohol in einer Konzentration von 50 bis



70 v/v% oder mit Ethanol in einer Konzentration von
76,9 bis 81,4 v/v% ab.

 Entfernen Sie hartnédckige Flecken mit einem weichen
Tuch, beispielsweise einem Reinigungstuch, das
leicht mit einer milden Reinigungslosung
angefeuchtet ist, und wischen Sie dann mit den oben
genannten Chemikalien nach.

Verwenden Sie keinesfalls Losungsmittel wie Benzol
oder Verdiinnung und keine sidurehaltigen, alkalischen
oder scheuernden Reinigungsmittel und auch keine
chemischen Reinigungs- oder Desinfektionstiicher, da
diese die Oberflidche angreifen.

* Verwenden Sie fiir die Montage die mitgelieferten
Schrauben. Wenn Sie andere als die mitgelieferten
Schrauben verwenden, konnen sich diese lockern und
das Gerit kann herunterfallen und Verletzungen
verursachen.

Hinweise

 Bestitigen Sie vor dem Gebrauch immer, dass das
Gerit richtig arbeitet. SONY KANN KEINE
HAFTUNG FUR SCHADEN JEDER ART,
EINSCHLIESSLICH ABER NICHT BEGRENZT
AUF KOMPENSATION ODER ERSTATTUNG,
AUFGRUND VON VERLUST VON
AKTUELLEN ODER ERWARTETEN PROFITEN
DURCH FEHLFUNKTION DIESES GERATS
ODER AUS JEGLICHEM ANDEREN GRUND,
ENTWEDER WAHREND DER
GARANTIEFRIST ODER NACH ABLAUF DER
GARANTIEFRIST, UBERNEHMEN.

* SONY KANN KEINE HAFTUNG FUR
ANSPRUCHE JEDER ART VON DEN
BENUTZERN DIESES GERATS ODER VON
DRITTER SEITE UBERNEHMEN.

* SONY KANN KEINE HAFTUNG FUR DIE
BEENDIGUNG ODER EINSTELLUNG VON
DIENSTLEISTUNGEN BEZUGLICH DIESES
GERATS GLEICH AUS WELCHEM GRUND
UBERNEHMEN.

Montage am Monitor

Mitgeliefertes Zubehor

* Grundplatte (1)

» Halterung (1)

M5 x 20 Schrauben (4)

M4 x 14 Schrauben (4)

* Gebrauchsanweisung (1)

* Wartungskontaktadressen (1)

[ Ti] Montageanleitung

1 Montieren Sie den Monitorstidnder.

Schieben Sie die Grundplatte auf die Halterung @
auf und schrauben Sie sie mit den mitgelieferten
M35 x 20 Schrauben (4) @ fest.

2 Legen Sie den Monitor auf ein weiches Tuch o. A.

und l6sen Sie gegebenenfalls die M4-Schrauben (4)
vom Monitor.

3 Schrauben Sie den Monitor mit den mitgelieferten

M4 x 14 Schrauben (4) am Stinder fest.

Weiches
Tuch

Montage am Monitor 3 DE



Technische Daten

Gewicht ca. 2,9 kg
Temperatur bei Aufbewahrung und Transport
—20 °C bis +60 °C

Luftfeuchtigkeit bei Aufbewahrung und Transport
20 % bis 90 %

Luftdruck bei Aufbewahrung und Transport
700 hPa bis 1.060 hPa

Anderungen, die dem technischen Fortschritt dienen,
bleiben vorbehalten.

Abmessungen

Einheit: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

= M4
é / / Bohrung
/

(%) o

309
366,5

sS40l
76,2

Y

'y A

‘ T <1/ A o
195 124 ©

M5- 80

Bohrung = 165,1 Bohrung

55

A

24

Einstellen des Monitorwinkels

10°

20°

| |

Halten Sie den Monitor zum Einstellen des Winkels
bitte am oberen und am unteren Rand fest.

DE 4 Technische Daten






IT2

Leggere attentamente questo manuale prima di
utilizzare 1’unita, e conservarlo per riferimenti futuri.

Simboli sui prodotti

EE] Fare riferimento alle istruzioni per
'uso

Seguire le istruzioni per 1’uso relative ai
componenti dell’unita sui quali € riportato
questo simbolo.

Questo simbolo indica il fabbricante ed ¢
riportato in corrispondenza del nome e
dell’indirizzo del fabbricante stesso.

Questo simbolo indica I’importatore ed
appare accanto al nome e all’indirizzo della
sede sociale dell’importatore stesso.

¥ K

Questo simbolo indica il rappresentante per
la Comunita Europea ed appare accanto a
nome e indirizzo del rappresentante per la
Comunita Europea.

m
(2]

Questo simbolo indica il responsabile per il
Regno Unito ed appare accanto a nome e
indirizzo del responsabile per il Regno
Unito.

Questo simbolo indica il rappresentante
autorizzato per la Svizzera ed appare accanto
a nome e indirizzo del rappresentante
autorizzato per la Svizzera.

[2)
=

Questo simbolo indica il dispositivo medico
nella Comunita Europea.

Questo simbolo indica il numero di serie.

Temperatura di deposito e trasporto
Questo simbolo indica il campo di
temperatura accettabile per gli ambienti di
deposito e trasporto.

Umidita di deposito e trasporto
Questo simbolo indica il campo di umidita
accettabile per gli ambienti di deposito e
trasporto.

B s~k E

Pressione di deposito e trasporto
Questo simbolo indica il campo di pressione
atmosferica accettabile per gli ambienti di
deposito e trasporto.

6]

Questo simbolo indica la data di produzione.

Precauzioni

Attenzione

Per lo smaltimento dell’apparecchio o degli accessori, €
necessario rispettare le leggi del paese e le normative
dell’ospedale specifico relative all’inquinamento
ambientale.

Per i clienti in Europa

Questo prodotto ¢ stato fabbricato da o per conto di Sony
Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Giappone.

Importatore UE e Svizzera: Sony Europe B.V.
Richieste all’importatore UE o relative alla conformita
di prodotto in Europa devono essere indirizzate al
rappresentante autorizzato del costruttore, Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1 1930 Zaventem, Belgio.

Eventuali richieste all’importatore svizzero o relative
alla conformita del prodotto in Svizzera devono essere
indirizzate al rappresentante autorizzato svizzero del
costruttore, Sony Europe B.V., Hoofddorp, Schlieren/
Switzerland Branch Wiesenstrasse 5, 8952 Schlieren,
Svizzera.

[13]

Attenzione

Per gli avvisi e per ulteriori informazioni sul prodotto,
fare riferimento alle Istruzioni per I’uso del monitor.

[13]

Attenzione

Non utilizzare il dispositivo in ambienti in cui sono attivi
apparecchi di risonanza magnetica.

Questo potrebbe dar luogo a malfunzionamenti, incendi
o spostamenti indesiderati.

Precauzioni

Sulla sicurezza

* Questo ¢ il supporto per il monitor LCD Sony. Per
confermare la compatibilita del monitor con questa
unita, consultare le istruzioni per 1’'uso del monitor.

¢ Quando si solleva il monitor, alzare il lato inferiore
del monitor o la parte inferiore del supporto.

* Pulire la superficie strofinandola con un panno
imbevuto di una concentrazione dal 50 al 70 v/v% di
alcool isopropilico o una concentrazione dal 76,9
all’81,4 v/v% di etanolo.

* Rimuovere le macchie ostinate strofinandole con un
panno morbido, ad esempio un panno per pulizia,
leggermente inumidito con una soluzione detergente
delicata, quindi pulire la superficie utilizzando la
soluzione chimica sopra indicata.

Non utilizzare mai solventi come benzene o diluenti
oppure detergenti acidi, alcalini o abrasivi o un panno



chimico per pulire o disinfettare, in quanto
danneggerebbero la superficie.

 Utilizzare le viti in dotazione per il montaggio. Se si
utilizzano viti diverse da quelle in dotazione, le viti
potrebbero allentarsi facendo cadere il dispositivo con
conseguenti possibilita di lesioni.

Note

* Verificare sempre che I’apparecchio stia
funzionando correttamente prima di usarlo. LA
SONY NON SARA RESPONSABILE DI DANNI
DI QUALSIASI TIPO, COMPRESI, MA SENZA
LIMITAZIONE A, RISARCIMENTI O RIMBORSI
A CAUSA DELLA PERDITA DI PROFITTI
ATTUALI O PREVISTI DOVUTA A GUASTI DI
QUESTO APPARECCHIO, SIA DURANTE IL
PERIODO DI VALIDITA DELLA GARANZIA
SIA DOPO LA SCADENZA DELLA GARANZIA,
O PER QUALUNQUE ALTRA RAGIONE.

+ SONY NON SARA RESPONSABILE PER
RICHIESTE O RICORSI DI NESSUN TIPO
PRESENTATI DA UTENTI DI QUESTO
APPARATO O DA TERZI.

+ SONY NON SARA RESPONSABILE PER LA
CANCELLAZIONE O LA MANCATA
CONTINUAZIONE PER QUALSIASI CAUSA O
CIRCOSTANZA DI SERVIZI CORRELATI A
QUESTO APPARATO.

Fissaggio al monitor

Accessori in dotazione

* Unita base (1)

e Unita collo (1)

Viti M5 x 20 (4)

Viti M4 x 14 (4)

* Istruzioni per I'uso (1)

 Elenco contatti servizio di assistenza (1)

[:E] Metodo di fissaggio

1  Assemblare il supporto del monitor.

Inserire 1’unitd base nell’unita collo @ e fissarla
con le viti M5 x 20 in dotazione (4) @.

Unita base

e rimuovere le viti M4 (4) quando sono fissate al
monitor.

in dotazione (4).

Panno
morbido

Fissaggio al monitor

Posizionare il monitor su uno panno morbido, ecc.,

Fissare il supporto del monitor con le viti M4 x 14

3IT



IT4

Specifiche tecniche

Massa Circa 2,9 kg
Temperatura di conservazione e trasporto
Da-20°C a+60 °C
Umidita di conservazione e trasporto
Da 20% a 90%
Pressione di conservazione e trasporto
Da 700 hPa a 1.060 hPa

Design e caratteristiche tecniche sono soggetti a
modifiche senza preavviso.

Dimensioni
Unita: mm
350

100

N\ J
— Foro
/ l M4
o) ° // 00
T}
©
2| 8
8% ﬂ
I/ st By
3 J ©
[ ——— J 7 2\ ™~
| AR s B o) i
195 124
Foro 80 Foro
M5 165,1 M5

Regolazione angolo di visualizzazione

10° 20°
T

| |

E possibile regolare I’angolazione afferrando il lato
superiore e inferiore del monitor.

Specifiche tecniche






Antes de poner en funcionamiento la unidad, lea
detenidamente este manual y consérvelo para
referencias futuras.

Simbolos en los productos

Consulte el manual de instrucciones
Siga las indicaciones del manual de
instrucciones para las piezas de la unidad
que presenten este simbolo.

Este simbolo indica el fabricante y aparece
junto a su nombre y direccion.

Este simbolo indica el importador y aparece
junto al nombre y la direccién de la sede
social del importador.

H & L

Este simbolo indica el representante de la
Comunidad Europea, y aparece junto al
nombre y la direccién del representante de la
Comunidad Europea.

Este simbolo indica la Persona responsable
de RU y aparece junto al nombre y la
direccién de la Persona responsable de RU.

Este simbolo indica el Representante
autorizado para Suiza y aparece junto al
nombre y la direccién del Representante
autorizado para Suiza.

o
=

Este simbolo indica el dispositivo médico en
la Comunidad Europea.

Este simbolo indica el nimero de serie.

Este simbolo indica la fecha de fabricacién.

Temperatura de transporte y
almacenamiento

Este simbolo indica los intervalos de
temperatura admitidos para el
almacenamiento y el transporte.

~ & ¢ [

Humedad de transporte y
almacenamiento

Este simbolo indica los intervalos de
humedad admitidos para el almacenamiento
y el transporte.

&)

Presién de transporte y
almacenamiento

Este simbolo indica los intervalos de presion
atmosférica admitidos para el
almacenamiento y el transporte.

6]

Precauciones

Precaucion

Cuando deseche la unidad o los accesorios, debera
cumplir con las normas de la zona o pais
correspondiente y con las del hospital en el que se
encuentre en relacidn con la contaminacion
medioambiental.

Para los clientes de Europa

Este producto ha sido fabricado por, o en nombre de,
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-
0075 Japon.

Importador en la UE: Sony Europe B.V.

Las consultas relacionadas con el Importador a la UE o
con la conformidad del producto en Europa deben
dirigirse al representante autorizado por el fabricante,
Sony Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Bélgica.

(T3]

Precaucion

Si desea informarse sobre las precauciones de uso y
demads detalles relativos al producto, consulte el manual
de instrucciones correspondientes al monitor.

[13]

Precaucion

No use el dispositivo en un entorno de RM (resonancia
magnética).

Es posible que se produzca una averia, un incendio o un
movimiento no deseado.

Precauciones

Seguridad

* Este soporte es para el monitor LCD de Sony. Para
saber si su monitor es compatible con esta unidad,
consulte el manual de instrucciones del monitor.

* Al levantar el monitor, levantelo por la parte baja del
monitor o por la parte inferior del soporte.

* Limpie la superficie con alcohol isopropilico
concentrado al 50-70 v/v% o etanol concentrado al
76,9-81,4 v/v% frotando con un algodén.

» Las manchas persistentes pueden eliminarse frotando
con un pafio suave, como un pafio de limpieza,
humedecido con una solucién a base de detergente
neutro. Después, puede proceder con la limpieza
utilizando la solucién quimica indicada arriba.
Nunca utilice disolventes como benceno o diluyente,
4cido, detergentes alcalinos o abrasivos o pafios de
limpieza quimicos para la limpieza o la desinfeccidn,
ya que podrian deteriorar la superficie.

» Utilice los tornillos suministrados para el montaje. Si
utiliza unos tornillos distintos de los suministrados, es
posible que se aflojen, lo que puede provocar la caida
del dispositivo y lesiones.



Notas

* Verifique siempre que esta unidad funciona
correctamente antes de utilizarlo. SONY NO SE
HACE RESPONSABLE POR DANOS DE
NINGUN TIPO, INCLUYENDO PERO NO
LIMITADO A LA COMPENSACION O PAGO
POR LA PERDIDA DE GANANCIAS
PRESENTES O FUTURAS DEBIDO AL FALLO
DE ESTA UNIDAD, YA SEA DURANTE LA
VIGENCIA DE LA GARANTIA O DESPUES
DEL VENCIMIENTO DE LA GARANTIA NI
POR CUALQUIER OTRA RAZON.

* SONY NO SE HACE RESPONSABLE POR
RECLAMACIONES DE NINGUN TIPO
REALIZADAS POR USUARIOS DE ESTA
UNIDAD O POR TERCEROS.

¢ SONY NO SE HACE RESPONSABLE DE LA
FINALIZACION NI DE LA INTERRUPCION,
POR LA CIRCUNSTANCIA QUE FUERA, DE
CUALQUIER SERVICIO RELACIONADO CON
ESTA UNIDAD.

Montaje del soporte en
el monitor

Accesorios suministrados

e Base (1)

Cuello (1)

¢ Tornillos M5 x 20 (4)

¢ Tornillos M4 x 14 (4)

¢ Manual de instrucciones (1)

« Lista de centros de asistencia (1)

[:E] Sistema de montaje

1 Monteel soporte de monitor.

Encaje la base con el cuello @ y fijela con los
tornillos M5 x 20 suministrados (4) @.

Coloque el monitor sobre un pafio suave, etc. y
retire los tornillos M4 (4) que estdn atornillados al
monitor.

Fije el soporte de monitor con los tornillos M4 x 14
suministrados (4).

Montaje del soporte en el monitor

3ES



Especificaciones

Peso Aprox. 2,9 kg

Temperatura de almacenamiento y transporte
De 20 °C a +60 °C

Humedad de almacenamiento y transporte
De 20% a 90%

Presion de almacenamiento y transporte
De 700 hPa a 1.060 hPa

El disefo y las especificaciones estdn sujetos a
modificaciones sin previo aviso.

Dimensiones
Unidad: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

309
366,5

p— OrTficio
| [ [ M4
é o) ° // 00
S Zﬂ

(aV]
B3 J ©
m—— i 7 \ ~
‘ T g 0O / o ) §
195 124 N |
Orificio 80 Orificio
M5 165,1 M5

Ajuste del angulo

10° 20°
T

| |

Puede ajustar el &ngulo sujetando el monitor por la parte
superior y por la parte inferior.

ES 4 Especificaciones






082

B LIRS
EE]%%@E%%%

XA A S HNE A, 158 g
FHSE AR AR e /s BEA THR A

AP S FoRhlEr , WA HBL7ER SR
R A IR )55 32

AP SFondEOw, SBREEMRET
PEA NN I A HAESF 0

AP S5 FR RN IE RN, ZBRTE
WCHNHE [R] (A A B 24 B ALt 550

FRFSFREE NN, RERERE
AT AR A At 5500

R 5 #onim LR AR, = B
AR A P2 AR5 301

%ﬁ%ﬁ%&%ﬁﬁ%ﬁﬂ%@ﬁ&

SRS N I
AT =R ilid H

iR E
%ﬁg%%ﬁﬁﬂﬁ%%ﬁﬂ%&%ﬁ
L2(EA o

FFiziEE
%ﬁg%ﬁﬁﬁﬁ@ﬁ%ﬁﬂ%&%@
- (ERS I

FRMEHED
AT SRR 7 ORI i P Al 2 ) S
JEEer=

D Qe ~EEE G HEE

E=N
FrEABE SRR, RAZE ST T 7E [ SN IX O
g%ﬁﬁ%%%@%&%ﬁ@ﬁ%?%ﬁﬁ%%ﬂ

EE
BREAARIEERIMEZEFEE, ESHE
PLAS A IR o

E=)
EZITE MR (HEHAR) PR AR A .
XAJRER FEUE . KR ARALERIFE D)

EBEI

RTFEF~RHLE

TEANER R I i 5 — FREE TR RN — [ 5P &
IERRAL B F7 7 fi S B TR S PR A R A R
18 PR TE Y DTS2 o

AR A0 T 75 35 1 SR L e PR A

TEEM

XTRE

 X/2 Sony LCD Wil & H 228 . HHEMIAIA
%é%K%ﬁ%ﬁ,%é%%m%mﬁ%ﬁ%
FRRC AR, MIGLZS T M al 2 22 ER4R E -
fERS50 270 vivoe i S I N EEEL 76.9 £ 81.4 viv%
WERCrE, RHERS G AEEE.
07 [ 95 {5 P PR R i it 30 AR 0 3% VA R T T A
A, RAERTTA, AR LR SE R
WG PAEBR
P17 AR SRR a7, s RYE . il
EEMEREE A, st S s m s aid
B, SRR,
(e B AR 22 1 T 2255 . QSR A P AR R (R 2
%%ﬁﬁﬂﬁ%mm,ﬁ%ﬂﬁ%ﬁﬁ,Mﬁﬁ
ik

R

o EEFHRTEREHINAVUEITIES
ZIERIEHRNIPHETEMIER, SONY IHE
AR AT15R. BFAEFEIE MR FE 5
K%F, TEREREHUNKELIN, SONY
BAREERTRE
-%EYW$FﬁmFﬁ%EHWEﬁ§%HK
2=

« SONY X EEAIER SFEEL IESFE LEER A
BXRSEA R




""ul:tgllk 7 %%

B 4

o KA (1)
EE (1)
M5 X 20 #2822 (4)
M4 X 14 1822 (4)

« fEABHT (1)

HrssikegmIz (1)

[RRES%

1

HAE AR S
R R ASUE @, FEHIFFH A M5 X 20 42
“ (4) @EE.

R WL AR E AR <5 B, 5R M4 iR2Z (4)
CREERMS L, FRERT.

FIFH M4 X 14 8822 (4) 223 I AL ae S0

AL

GiE= 2129kg
T R i a1l S

-20 ‘CE +60 C
FRLE S

20% % 90%
Rz

700 hPa % 1060 hPa

IR A E, AR AITEAL
R~
H{V: mm

350 100

100
]
K

309
366.5

0 /a [aV)

n ©

L N i ? LJ ~

\ 1 3 o/ =n
195 124

M5 7, 80 M52,

165.1

RIEAEREY

10° 20°

ﬂLﬂ?&E”’“%’L%’%E’JTD‘T RARJER BB R 147 A

EIEMEE / g

Wt
e
By
?El

SCS



CT2

TEPHIAERMEAR B ZHT, SR AlBEAT M, I
REATMAHHEZES% .

Em ERRTER

SERFHNA

AE B HBICRFERAUEL S, R
VESHIRITE S -

UERFRR SRR , BT R M 4
S M55

IERFSE s E R, MRS R L &4
H 2 R S 2 5%

LEARF 5% #7 BCM LRI RS AU, AR LR
P [ B RS A 2 A S RS

PR on Bl B T A, RN R 5
EEUN-OE Y Sk o

FERF S # i LIRSS, MRS i B
AR 2 R S 55

FERF S #n FE BRI L R RS B R B
R SR R 5% o
Ry s e B H

FIERRE
IEARF SR R 1 1 TSORT S g BR 5 T 42 52 YT
JE i

FMERRE
IEARF SR R 7 A TEOREE g BRI 5 2 FA) ¥
JE i

T RAE R -
U s 2 R B T 5
Wi

O ® ~EEHE § HHERE B

=
B B BRI, R A e 3 18
FHTER, DA BB B A R BRI 15 B AL

C13]

EE
A5 A R (50 PFH AN 7 ot BT E R R TR — P
S BIHUR A R ER I .

C13]

B
ZITE MR (BGHR) BB A E .
75 R e L K S AL B E ST -

3

TABA{ENE

fapsfaTE

BEREEM

e 12/E Sony LCD HH/~#As B 28 . ¥ R IR BH
ﬁ%%éﬁﬁ%ﬁi%,%%ﬁ%%%%@¢$
o BYESRBUNARNE, SRS N2 RS
SR,

o DAVERE 50 & 70 vivoe B ENEE, 5lIEE 769 £
81.4 vivoe B ZB%, HRAERTT BB ERT.

o DAMRAR, {5150 LR 25 95 2 R fRat 8 A T 1 AR 2K
ﬁﬁ,%%utﬁkﬁﬁﬁﬁﬁ,ﬂu%%ﬁ
W AR SRR A, R . W BAEE
ARMETEEE, S ERE B ETIHREIE S,
PR 2 & (M ey $E 18 3R 1

{E R RE I A MR s B f 7228 . QT SR A fe P BB A i 44
Z M AR AR, BRI REE RN, HETREE
MGG E

JE=N

o TEMEHATER IR A ISR A OE T IE R
EIRRIEHANINERIMIER, SONY T
MRIRMAEE. ARAHSIEERNRER
KRFERAFIEIER, AMF (BEEARRR) &
EERHEIE .

« SONY A ARERAENE =SRENKEE
REEEMEE,

« SONY A EIRIZE F A LS IE A 1EREE
&%, BRERNEE.




B BARER

& O BC 14

o KA (1)

o SEHEE (1)

o M5 X 20 1844 (4)

o« M4 X 14 18%% (4)

o BESRIE (D)

o IRASHLERBASERE (1)

[REEs*
1 wEmrsiy.

RS JE TR A\ SEE @ H, SATZ DARERT Y
M5 X 20 #2%% (4) @ JNPAEE .

2 BRSNS B, W M4 14
(4) EEERTAGL, FHEMET.

3 DAREMTE M4 X 14 824 (4) EEERAEAL.

R

B K& 29kg
(it o B i
-20 ‘CE +60 C
(i T B i e
20% % 90%
fit 77 BRL L i R
700 hPa % 1060 hPa

et MBI A S E), AARBITEM.
R~

BE{I: mm
350 100

100
]
K

309
366.5

0 /a [aV)

n ©

L N i ? LJ ~

\ 1 3 o/ =n
195 124

M5 7, 80 M52,

165.1
RIEARERE
10°, 20°

>

4\/

h— |

T DA (3 R i TE i MR DA 2 47 B

BIRERER / BB

30T



KR2

rok
H
2

27172 Agalr] Aol MEA] £ ARG E
SAS, AFAE UFE 19 F BB L
HEel 715
ArS M EE
AFAA o] /)57 EAF FEE ol
sheldl Ahg dne] A% whE AL
AE el 71 50]m, A 250

Az
153 72 dell glsyct.
AE et = 7132, w8l At o) &

S5 AR 72 Qo £A g

@LE

=T 49 FEA) dES JehiE A5
ATEA R o) B3} T 2 T

33 AYAE el 22, 3T A
Ae] o) B3} F2: ol EAIH ek,

2|
H
s

U F2AE Yehi A 5e,
Q) Fedate] o] B3} F2: Aol £

oL
ofl ufl

1715 epl 7] 55 o,

B o~k [
:

3y RueE
B 2 879 51§ L% 991E e
N ES
HU Y RN AE
B 2 279 51§ 55 B91E e
N ES
HE Y 2o
B3 20 279 51§ 714 8 91E e
e 75 gy
zo|
= AFeI QAN YF 712 wol 37 29
of thg B A/ Fke] W gl B WRle)
e 2R L

gl Feol

[13]

=
'I'o

o AF A5l B Fol 4G AT B E 5]

Bl o] A8 A A S FEsA L
9
o] A& MR(AH| & of| A AH&5}A] Bl AL

NEREX

[2
g

[

XL R o

Ao v ofg o T
i

oil CHstod

N

H
HE }%o}ﬁ olAZZRI I L FE
70 vIv9 = oeHE 5% 76.9 ~ 81.

WA AU e §A, A, B, A A
A e EE 254 3T AG T ERE S
7)e2 Ao) 2 ALgsha) vpal A 2.

A7)E PEE A g skl 2. R e bl
obd thE LpAHE AL A5 AL AA A A 3
A7k o)A ehA 5 glrvieh

Fol

« ABg Aolle 4 A4 o8 2HEstex] &t
Al /\]

SONY— 2H2| 2FE oIt 8| == Falf o]
o] &&lof EHE*-’-‘- H01I CHSHA] E*7I’F ZF0[7{L}
HEJ|Z 1t £ = 0{if 8t 0| ROI= HHA EE=
HAFSEX] ?é%LIE}
« SONY< ©| A=x] ol o3l ¢ A Y A32}7) A7)
g o 3 F5o] A Aol disiAE WS A
2] 5yt

« SONYE o A3o] £ 43 glo] o] 4] o}

shof MAF 5 gl A 2]
CEN

1 A7)




EETEE

S5 E HHIA2]

« wle] = 3 (1)

< 9 R0

« M5 % 20 YAk4)

- M4 X 14 YAk

« A& AR

« Au 2= Al dehA] FEx)

2 A RYE e 2 AE A e S

3 e
Aol &2 ¥ A9 M A S

AATY

=
é
m
tfo
fd
L
)
=2
iL

Ay,

Ab

2k 29 kg
=

=20 °Cel| A +60 °C

kT ofy
i o
N
Mo
&3
o

[
ry
e
Ho
iz,
)e
po

0%01]*1 90%

oL
H

OOhPaﬂLH 1,060 hPa

[
iy
%2,
Mo
iz,

ﬁ.l

glo] M4 E 4 &

37|
=9 mm
350 100
\ \
( N 0® ° %4
= | e
- J
| — —)
— M4
_ 9
©
D ©
o [s2)
[sp)
v S
L © 7 ? ©
—————— L
‘ ‘ < O, /‘ o g,
195 124 A N
M5 80 M5
T4 165.1 T4
S |

w3 A

3KR



Ilepen HauamoMm paboOTHI C YCTPONUCTBOM
BHUMATEJIbHO HquHTaﬁTe MJaHHOE€ PYKOBOACTBO U
COXPAHUTE €ro JJIsl CIPaBKU B OyAyLIEM.

CumBOsblI Ha U3aEeNUAxX

CM. pyKOBOACTBO NO 9KCcNyaTauum
CrenyiiTe yKa3aHUSIM PYKOBOJICTBA IO
3KCIUTyaTalyy B OTHOIIIEHUH YacTel
YCTPOMCTBA, HA KOTOPBIX UMEETCS
HAHHBII CUMBOJI.

I DTOT CHMBOJI O3HAYaeT U3TOTOBUTENS U
HOMeIaeTcs PSJOM C Ha3BaHUEM
(pUpPMBI- U3TOTOBUTEIIS U €€ aJPECOM.

OTOT CUMBOJI O3HaYaeT UMIOpTEpa I

% oToOpaskaeTcs psiiOM C Ha3BaHUEM U
afipecoM 3aperucTpupoOBaHHOTO oduca
uMmIoprepa.

[ec [oer] DTOT CHMBOJI O3HAYAET MPEACTaABUTEIS
Egpomneiickoro CoobiiectBa u
oTobpaxaeTcs psiioM ¢ pamMmiinent u
ajipecoM mpejcraBuTes EBponenckoro
CoobmiecTBa.

OTOT CUMBOJ 03HAYa€T OTBETCTBEHHOE

auno 3 BeaukoGpuranuu u
oTo6paxkaeTcs pSAIOM C AIMEHEM 1
aJipecoM OTBETCTBEHHOTO JINIA U3
BenukoGpuranuu.

[cH [Rep] DTOT CUMBOJI O3HAYAET
aBTOPU30BAaHHOTO MPEACTABUTEIS B
1IBeiinapun u oTo6GpazkaeTcs psimoM ¢
Ha3BaHUEM H aJJpecOM aBTOPU30BAHHOTO
npepcrasuteds B LlBeinapun.

OTOT CUMBOJI 03Ha4aeT MEAUIUHCKOE
u3aenue B EBponeiickom Coro3se.

CEpUIIHBIN HOMEP.

OTUM CUMBOJIOM 0003HAaYaeTcs faTa
NPOM3BOJICTBA, OHA HalleyaTaHa Ha
M3[euN 1/um ynakoske. YYYY
ob6o3HavaeT rom, a MM — mecs.

@ 3OTHUM CUMBOJIOM 0003HAYaETCS

TPaHCNOPTUPOBKU

OTHUM CUMBOJIOM 0003HAaYaeTCsI
AMaIa3oH TeMIepaTyp, IpUEeMIIEMbIi A1
XpaHEHUsI ¥ TPAHCIOPTUPOBKH.

/ﬂ/ TemnepaTypa XpaHeHUA U

OTHOCUTENbHAaA BIaXXHOCTb
XpaHEeHUA U TPaHCMOPTUPOBKHU

OTHM CUMBOJIOM 0003HAYAETCS

AUana3oH OTHOCUTEJLHON BIaXKHOCTH,

MPUEMJIEMBIN JJIS1 XpaHEHUS U
TPaHCIIOPTUPOBKHU.

NaBrneHue xpaHeHUA u
TPaHCNOPTUPOBKHU

OTHUM CUMBOJIOM 0003HAa4YaeTCs

nuana3oH aTMOC(EepPHOTO IaBJICHNUSI,

MPUEMIIEMBIN JJIsT XpaHEHUS U

TPAHCTIIOPTUPOBKH.

Mepbl NPeaoCcTOPOXXHOCTM

BHumaHue

ITpu yTunm3anum ycTponcTBa U JOTMOTHUTEIbHBIX
MPUHAJIIESKHOCTEN HEOOXOUMO COOITIONIaTh
3aKOHBI COOTBETCTBYIOIIECIO PETrNOHA WA CTPAHBbI,
a TaksKe MpaBwJa, AeNCTBYIOIIE B OOJIBHUIIE, T
HNCITOJIB30BaJIOChH OGOpynOBaHI/Ie, KacCcarmuecsda
3arpsI3HEHUS OKPY>KAOIIEeH Cpefbl.

[13]

BHumaHue

MepsI IpeoCTOPOKHOCTH U APYTYIO MH(POPMALIUIO
00 UCITOTB30BAaHUT 3TOTO U3JIEJINS CM. B
“PykoBOfiCTBE MO 9KCILTyaTAlK’, HOCTABIISIEMOM C
MOHHUTOPOM.

[13]

BHumaHue

He ucnone3yiite 3TO YCTPOUCTBO B CPEAiE C
MarHUTHBIM PE30HAHCOM.

OTO MOXET IIPUBECTH K HEUCIPaBHOCTH, IOXKapy U
HEXKEeJIaeMOMY II€pEMEIICHHIO.

Mepbl
NnpeaoCTOPOXKHOCTU

Be3onacHocTb

¢ JlanHOE M3fienue sBjsgeTcs nmogacraskou mist LCD-
MoHuTOpa Sony. YToObI yOeqUTHCS, UTO Balll
MOHHUTOP COBMECTHM C TAHHBIM U3JIETIUEM,
0o6paTuTech K MHCTPYKIUMSIM IO KCILTyaTalin
MOHUTODA.

e MoHUTOD ClieflyeT MOHUMATh 3a €ro HUKHIOIO
YacTh WX 3a HIKHIOIO YacTh IOCTaBKH.

¢ [IpoTupaiiTe HOBEPXHOCTH H3OIPONUAIOBHIM
cnmpToM ¢ KorneHTpanuei ot 50 go 70 v/v% nnn
9TAHOJIOM C KOHIIeHTpanuei ot 76,9 no 81,4 v/iv%.



o CunbHBIE 3aTPSI3HEHNS] MOXKHO YIAJIATh,
MPOTHPAs NX MITKON TKaHBIO, HAIPUMEDP
OOTHPOYHON TKAHBIO, CIETKa CMOYEHHOM B
c1aboM pacTBOpE MOIOIIETO CPENICTBA, a 3aTeM
OYHMCTUTH MIOBEPXHOCTD, IPUMEHSISI YKa3aHHBIN
BBIIIIE XUMUYECKHUI PACTBOP.
3amperaeTcs UCNOJIb30BaTh PACTBOPUTEINH, B
YacTHOCTH O€H30J1, pa30aBUTENb, KIUCIOTY,
e104Yb, abpa3uBHOE MOIOIEE CPENICTBO MIIH
XUMHUYECKHe cai(PeTKH ISl YUCTKY UITH
ne3nH(EeKIN, MOCKOIbKY OHH MOTYT IIOBPEIUTh
MTOBEPXHOCTb.

e 1151 KpeTIeHUs NCTIOIB3YUTE IpuiiaraeMble
BUHTHI. Vcriorp30BaHNe KaKUX-TN00 APyTruX
BUHTOB BMECTO MPIJIAraeMbIX MOXKET MPUBECTH K
HEHaJIeXXHOMY KPEIUICHUIO TTO/ICTaBKH, B
pe3yJabTaTe 4ero yCTpouCTBO MOKET yIacTh U
MPUYMHUATH TPABMY.

MpumeyaHua

¢ Bcerpma npoBep#iiTe HCIPaBHOCTH YCTPONCTBA,
MpesKfie YeM ero NCHoJIb30BaTh.
KOMITAHUS SONY HE HECET
OTBETCTBEHHOCTHU 3A KAKOW BBI TO
HU BbIJIO YIIEPB, BKIIIOUAZ, B
YACTHOCTH, KOMITEHCALIIO NJIN
BO3MEIIEHUME YBBITKOB B CBA3U C
YTPATOU VIV HEJOITOJTY YEHUEM
NPUBLIIEN U3-3A
HEPABOTOCITOCOBHOCTHU 2TOI'O
OBOPYJOBAHMU, KAK HA
[MPOTS)KEHUUW TAPAHTUMHOTO
MNEPUOOA, TAK U TIOCJIE UCTEYEHUA
TAPAHTUVHOTO CPOKA, A TAKIKE
BCJIIEJCTBUME JIOBbIX NHBIX
BO3MOXKHbIX [TPUYMH.

e KOMITAHHMA SONY HE HECET
OTBETCTBEHHOCTU 3A ITPETEH3V1HN
JIIOBOTO POJIA, ITPEOBbABIEHHBIE
ITOJIB3OBATEISAMU 5TOI'O ITPUBOPA
NI TPETbMMU JIMLJAMMU.

e KOMITAHHMA SONY HE HECET
OTBETCTBEHHOCTHU 3A
INPEKPAIIEHME UJIN TIPUOCTAHOBKY
MNPEOOCTABIIEHUA KAKUX-TIMBO
YCIIYT, CBA3AHHBIX C 3TUM
[MPUBOPOM, BHE 3ABCHMOCTHU OT
OBCTOMATENBCTB.

KpenneHue K MOHUTOPY

KomnnekT noctaBku

¢ OcHoBanne (1)

¢ BeprukanbHblil KpoHIITewH (1)

e BunThel M5 x 20 (4)

® Buntst M4 x 14 (4)

e PykoBojcTBO no akcmnyaranun (1)

e KoHTakTHast THPOpPMAIIUS CEPBUCHBIX IEHTPOB

(1)

[:E] Cnocob KpenneHuna

1 CobepuTe nojcTaBKy MOHUTOPA.

BcraBbhTe OCHOBaHUE B BEPTUKATLHbBIN
KPOHIITEIH @ ¥ 3aKpenuTe ero ¢ MOMOIIbIO
npuiiaraeMbix BUHTOB M5 x 20 (4) @.

OcHoBaHue

Beprukansubiit
KPOHIITEHH o

2 Tonoxure MOHHTOP Ha MSTKYIO TKaHb WU
YTO-1100 MOJOOHOE U BHIBEPHUTE BUHTHI M4
(4), KoTOpBIE BBEPHYTHI B MOHUTOP.

3 [MpukpenuTe MOACTaBKy MOHUTOPA C
MOMOIIIBIO TIPUJIaraeMbIX BUHTOB M4 x 14 (4).

Msarkas
TKaHb

KpenneHue K MOHUTOPY

3RU



RU4

TexHun4yeckKkue
XapaKTepUCTUKHU

Macca IMpuoa. 2,9 xr

Temnepatypa XpaHeHUs U TPAHCIIOPTUPOBKHU
ot 20 °C go +60 °C

OTHOCUTENIbHAS BIAXKHOCTh XpaHEHUS U

TPaHCIOPTUPOBKHU

oT 20% 1m0 90%

JlaBneHue pu XpaHEHUU U TPAHCIIOPTUPOBKE
ot 700 rITa go 1060 rIla

Ju3aiiH 1 TeXHNYEeCKUe XapaKTePUCTUKU MOTYT
OBITh U3MEHEHBI O3 MpeBapUTEIHLHOTO
YBEOMJICHUS.

Fabaputbl
YcTpolicTBO: MM
350 100
| I
4 N\ 6® ° ©4

= |

= r OtBepcTue
nog BUHT
n M4
|

(%e) 3

Y

309
366,5
d ;m

[aV)

um') :? ©

ﬁ—ijﬁi 5 i ~

< o A o 5 <

195 124 @ o
OTeepcTue 80 OTBepcTue

noj BUHT 165,1 noa, BUHT

M5 M5

TexHu4eckne xapakTepucTuku

PerynupoBKa pabouunx yrnoB HaK/oHa

—

IIpu perynupoBKe yriia HaKJIOHa yep>KuBanTe
MOHHUTOP 3a €r0 BEPXHIOIO U HUXKHIOKO YacTH.






K22

KypbaFbIHbl naiianany sl ajlablHAa MbIHA
HYCKAYJBIKTBI OKBIHBI3 KOHE OHBI OoJalaKkTa
naiiiajJany yUIiH cakTan KOWbIHBI3.

©Himpaeppaeri TaH6anap

MaraanaHy HycKaynbIfblH KapaHbI3
Och1 Oenri 6ap KYpBUTFBIHBIH O6JTiriHe
apHAIIFaH MMaliiajJany HYCKAyIbIFbIHIAFbI
OarpITTapra CyYHeHiHI3.

Byn 6enri enaipyIiHi KOPCETEMl XKOHE
OHJIIPYIIiHIH aThl MEH MEKCHKaWbIHBIH
JKaHBIH/Ia KOPCETUICI].

Byt 6enri ”UMIOPTTAYIIBIHEL KOpCeTeni
JKOHE IMITOPTTAyIIBIHBIH aThI MEH TipKEJITeH
KEHCECIHIH MEKEHKANBIHBIH KaChIHIa
KepCeTilei.

& kK

By 6enri Eypomansik KaybIMaacThIFBIHBIH
OKITIH KepceTelli xoHe Eyponaibik
KaybIMIacThIFbI OKIUTIHIH aThl MCH
MEKEH)KaHBbIHBIH KAChIHIa KOPCETUIC .

m
(2]

By 6enri ¥ npiOpuTaHusIaFs! KayarnTsl
TYIFAHBI KepceTe i KoHe

Y nbI0pUTaHUSAIAFbI JKayalThl TYJIFAHBIH aThI
MeH MEKEH)KalbIHBIH KACBIH]IA KOPCETUIE/I.

By 6enri LIBefinapusgars! yokiIeTTi
exinai kepcereni xxoHe LlIBeitmapus
YOKIJIETTI OKUTiHIH aThl MEH MEKEHKABIHBIH
KACBIH/Ia KOPCETLIea].

o
=

By 6enri Eyponanbik
KaybIMIacThIFBIHIAFBI METUIINHATIBIK
KYPBUIFBIHBI KOPCETEI.

Byt TaHOa cepusAIBIK HOMIPII KOpceTei.

By Genri eHaipy Mep3iMiH KepceTei xKoHe
OJ1 OHIMT€ JK9He/HeMece opaMFa OachlIn
mbiFapbutabl. YY Y'Y —KbUIIb! s)koHe MM —
aiiIbl KepceTesi.

£ g

<
P
2
2
H

Cakray XoaHe Tacbimangay
Temneparypachl

by Tanba cakray »xoHe TackIMaiay
opTaJiapbl YIIiH KaOblI1aHAThIH
TeMmIeparypa ayKbIMbIH KOPCETEI.

N

CaKTay XX9He TaCbimanpgay
bINIFanabinbifbl

Byn Tag0a cakray jxoHE TackMasiay
opTajaphbl YIIiH KaObLIIaHATHIH
BUTFAJIIBUTBIK ayKBIMBIH KOPCETE/I.

&)

CakTblK

CaKTay XX9He TaCcbiMangay KbiCbIMbI
Byt ran6a cakray skoHE TachIMamay
opTanapsl YIIiH KaOblIIaHAThIH
arMocdepabIK KbICHIM ayKbIMBIH
KepceTeni.

AbGannaHbI3

KypbUIFBbIHBI HEMece KOChIMIIA 5Ka0IbIKTap bl
TacTaraH Ke3Je, THICTI alMaKTarsl HeMece eJIeri
3aHIap/Ibl )KOHE KAThICThI KOPILIAFAaH OPTAHBI JIACTay
YKOHIHETI THICTI aypyXaHaJarbl epeKeNep i OpbIHAAY
KEpEK.

[13]

AGannaHbI3

Ochbl eHIM/II TTaliTanany OOMBIHIIA CAKTHIK MIapaiap
MEH KOCBHIMIIIA aKIapaTThl MOHUTOP/BI MaigaaHy
HYCKayJIapblHaH KapaHbI3.

[13]

AbGannaHbI3

Kypruarsiael MP (MarHUTTi-pe30HAHCTHIK) OpPTaaa
naigananyra OonManpl.

Byt onbIH OY3BLTYBIHA, OPTKE HEMECE KaJlayChl3
KO3FaJTyblHA OKEITyl MYMKIiH.

CaKTbIK

LWapanapbl

* byi - Sony LCD MOHUTOPBIHBIH Tiperi. MOHUTOPBIH
OCBI KYPBUIFBIMEH YHJIECIMAUIITIH pacTay YIIiH
MOHHUTOP/IBIH Naii1ajaHy HYCKayJapblH KapaHbI3.

* MOHHTOPABI KOTEPTeH Ke3/Ie¢ MOHUTOPIBIH TOMEHT1
JKarblH HEMECE TIPEK acThIH KOTEPiHi3.

* berin 50-70 v/v% KOHIICHTpALUSIIBI U30TPHIT
criupriMeH Hemece 76,9-81,4 v/v% KOHIeHTpaIusiIbl
STaHOJIMEH CYPTIIl Ta3aIaHbI3.

+ KaHBIK 0ostyapabl opTama arapTKBIII epiTiHaiciHe
[1amMalibl MaJIBIHFaH Ta3aj1ay MaTachl CHSIKTHI JKYMCaK
MaTaMeH CYPTil, O/1aH KeHiH KOFapFbl XUMHUSIIBIK
epITIHAIMEH Ta3aiayMeH K0I0Fa 00Jabl.

Tazanayra HeMece 3apapchi3IaHabIpyFa OeH3071
HEMECEe CYUBIITKBIII CUSKTHI €pITKIIITEPI],
KBIIIKBUIJIBI, CUITLT HeMece abpa3uBTi aFapTKBIIITHI
HeMeCe XUMHUSIIBIK TaFaIarbIIIThl EIIKAITaH
naiiananOaHpI3, ce0ebdi OeTiHe 3aKbIM KeTipe.

* bekiTyre KaMTaMachl3 €TUITeH OypaHJaiap/sl
nainananeiHe3. Erep KamMmTamacsI3 eTinreHHeH 0acka
Oypanpaanap maiiananslica, OypaHaanap
00caThUIBIT, KYPBUIFBI KYJIAI JKapaKaTTaybl MYMKiH.



EckepTtynep

* OpKalllaH Maiananyaad OypblH KYPBUTFEIHBIH
JIypPBIC )KYMBIC iCTeHTIHAITIH TekcepiHiz. SONY
KOPITOPALIMACHI OChI K¥PbIUIFbIHBIH,
AKAYBI CAJIJIAPBIHAH KA3IP HEMECE
BOJIAILIAKTA TTAVJAHBIH AJIBIHBAYBIHA
BAMJIAHBICTBI KOMIIEHCAILIVSI HEMECE
TOJIEM/II KOCA, BIPAK OJIAPMEH
LHEKTEHMEfI, KEITUIAIK MEP3IMI IIITHIE
HEMECE KEITUIAIKTIH MEP3IMI
ASIKTAJIFAHHAH KENIH HEMECE BACKA
CEBEIITEPT'E BAMJIAHBICTBI KE3 KEJITEH
LIBIFBIHIAP YIIIH XXAVAII BEPMEPH[I.

* SONY KOPITOPALIMACHI OCHI K¥PhIJIFbIHbBI
[TANJIAJIAHYILIBUIAPABIH HEMECE
YIIIHILI TAPATITAPIBIH ) KACAFAH KE3
KEJITEH IITAFBIMJIAPHI YIIIH JXKAYAII
BEPMEW/II.

* SONY KOPITOPALIMACHI KE3 KEJITEH
KAFJIAMJIAPFA BAMJIAHBICTBI BOJIYbI
MYMKIH OCBI K¥PbIJIFbIF A KATBICTBI KE3
KEJITEH KbIBMETTEPIIH TOKTATBIJIYBI
HEMECE Y3UIICI YIIIH JKAVAII BEPMEfII[I.

MoHuTOpFa Tipkey

KamTamachbli3 eTinreH KocbiMLLA
Kypanpap

 Herisri kypbsurrst (1)

» Kocemmra kypsinest (1)

* M5 x 20 6ypannacsr (4)

* M4 x 14 6ypannacsr (4)

* [Natiganany ayckayibirsl (1)

* Kb3MeTTik KOHTaKTiIepi Tizimi (1)

[:E] Tipkey agici

1 MoOHHTOp TiperiH MOHTaXKAAHBI3.

Herisri KypbUIFBIHBI KOCBIMIIIA KYPBUTFBIFA CATBITT
©, kamTamace3 etiiren M5 x 20 6ypangames (4)
@ GekiTiHiz.

Herisri KypbUIFEI

MoHUTOpABI )KYMCaK MaTara, T.0. calblm,
MOHHTOpFa TipKeireH ke3ne M4 OypaHanapbeia
(4) 6ocaThIHBI3.

MonwuTop TiperiH KamTamacsi3 etires M4 x 14
Oypanmames (4) TipkeHi3.

MonuTopra Tipkey

3KZ



CunaTtramanap

CanMarbl IlIamamen 2,9 xr
Cakray oHe TachIMallJay TeMIlepaTypachl
—20°C xone +60°C apanbIFeIHIA
Cakray *oHe TachIMalJiay bUIFaJIAbUIBIFbI
20% >xone 90%
Cakray *oHe TachIMaliiay KbICBIMBI
700 rlIla sxome 1060 rlla

JlM3aiid MeH TeXHUKAIBIK CHITaTTaMalapbl ECKepPTYCi3
©3TrepTUIe/II.

©nwempepi
Kypbuirsl: MM

350 100

100

309
366,5

p [ M4
| CaHpblnaybl
) o i 0o

A o~
w0 -
wn [{e]

e LR
3\ A ° SN

195 124 « N
M5 80 M5

caHblnaybl 165,1 CaHplnaybl

ManpanaHy OypbIlWbIH peTTey

10° 20°

| |

MoHuTOp YCTi MEH aCTHIH YCTayMeH OYPBIIIBIH
perTeyre Oomabl.

KZ 4 Cwvnattamanap






Nederlands

Lees, voordat u het apparaat gaat gebruiken, deze
handleiding grondig door en bewaar hem voor later
gebruik.

Symbool op de producten

Raadpleeg de gebruiksaanwijzing
Volg voor onderdelen van het apparaat
waarop dit symbool voorkomt de
aanwijzingen in de gebruiksaanwijzing op.

Dit symbool geeft de fabrikant aan en
verschijnt naast de naam en het adres van de
fabrikant.

Dit symbool geeft de importeur aan en staat
naast de naam en het geregistreerd adres van
de importeur.

H @ LR

Dit symbool geeft de vertegenwoordiging in
de EU aan. Het staat naast de naam en het
adres van de EU-vertegenwoordiging.

Dit symbool geeft de verantwoordelijke in
het VK aan en staat naast de naam en het
adres van de verantwoordelijke in het VK.

Dit symbool geeft de bevoegde
vertegenwoordiging in Zwitserland aan en
staat naast de naam en het adres van de
bevoegde vertegenwoordiging in
Zwitserland.

o
=

Dit symbool geeft het medisch apparaatin de
EU aan.

Dit symbool geeft het serienummer aan.

Dit symbool geeft de fabricagedatum aan.

Temperatuur tijdens opslag en
transport

Dit symbool geeft het aanvaardbare
temperatuurbereik voor opslag- en
transportomgevingen aan.

~ & ¢ [5

Vochtigheidsgraad tijdens opslag en
transport

Dit symbool geeft het aanvaardbare
vochtigheidsbereik voor opslag- en
transportomgevingen aan.

&)

Druk tijdens opslag en transport
Dit symbool geeft het aanvaardbare bereik
van de atmosferische druk voor opslag- en
transportomgevingen aan.

6]

Voorzorgsmaatregelen

Let op

Bij het afvoeren van het toestel of toebehoren, dient u
rekening te houden met de plaatselijk geldende
wettelijke voorschriften en de reglementen in het
betreffende ziekenhuis ten aanzien van
milieuverontreiniging.

Voor klanten in Europa

Dit product werd geproduceerd door of in opdracht van
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-
0075 Japan.

EU-importeur: Sony Europe B.V.

Vragen aan de EU-importeur of met betrekking tot
Europese productconformiteit kunnen worden gericht
aan de gemachtigde vertegenwoordiger, Sony Belgium,
bijkantoor van Sony Europe B.V., Da Vincilaan 7-D1,
1930 Zaventem, Belgi&.

[13]

Let op

Raadpleeg de gebruiksaanwijzing van het scherm voor
waarschuwingen en meer informatie over het gebruik
van dit product.

[13]

Let op

Gebruik het apparaat niet in een MR-omgeving
(magnetische resonantie).

Dit kan defecten, brand en ongewenste verplaatsingen
veroorzaken.

Voorzorgsmaatregelen

Veiligheid

* Ditis een standaard voor een Sony LCD-scherm. Om
na te gaan of uw monitor compatibel is met dit toestel,
raadpleegt u de gebruiksaanwijzing van de monitor.

* Neem voor het hoger plaatsen van de monitor de
onderrand van de monitor of de onderkant van de
standaard vast.

* Reinig het oppervlak met een isopropylalcohol-
concentratie van 50 tot 70 v/v% of een ethanol-
concentratie van 76,9 tot 81,4 v/v% via een
strijkmethode.

» Hardnekkige vlekken kunnen via een strijkmethode
verwijderd worden met een zachte doek, zoals een
reinigingsdoek die licht bevochtigd is met een milde
detergentoplossing. Reinig vervolgens met de
hierboven vermelde chemische oplossing.

Gebruik nooit oplosmiddelen zoals benzeen of
verfverdunner, detergenten op basis van een zuur, base
of schurend product, of chemische reinigingsdoeken
voor reiniging of desinfectie, aangezien deze het
oppervlak zullen beschadigen.



Gebruik de bijgeleverde schroeven voor de montage.
Als u andere dan de bijgeleverde schroeven gebruikt,
kunnen de schroeven losraken en kan het apparaat
vallen, met verwondingen tot gevolg.

Opmerkingen
* Controleer altijd of de unit correct werkt alvorens

deze te gebruiken. SONY KAN OM GEEN ENKELE
REDEN ALS GEVOLG VAN SCHADE AAN DE
UNIT AANSPRAKELIJK WORDEN GESTELD
EN COMPENSEERT OF VERGOEDT NIET HET
VERLIES VAN HUIDIGE OF TOEKOMSTIGE
INKOMSTEN DOOR DEFECTEN AAN DE UNIT
(TIIDENS DE GARANTIEPERIODE OF NA
VERLOOP VAN DE GARANTIE).

* SONY KAN NIET AANSPRAKELIJK WORDEN

GESTELD VOOR WELKE AANSPRAKEN DAN
OOK DOOR GEBRUIKERS VAN DE UNIT OF
DOOR DERDEN.

* SONY IS NIET AANSPRAKELIJK VOOR HET

BEEINDIGEN OF NIET DOORGAAN VAN
ENIGE DIENST MET BETREKKING TOT DEZE
UNIT DIE HET GEVOLG IS VAN WELKE
OMSTANDIGHEID DAN OOK.

Bevestigen aan de
monitor

Bijgeleverde accessoires

Voet (1)

Hals (1)

M35 x 20 schroeven (4)
M4 x 14 schroeven (4)
Gebruiksaanwijzing (1)
Servicecontactlijst (1)

[ Ti] Bevestigingsmethode

1 Monteer de monitorstandaard.

Plaats de voet in de hals @ en maak deze vast met
de bijgeleverde M5 x 20 schroeven (4) @.

2  Plaats de monitor op een zachte doek of iets

dergelijks en verwijder de M4-schroeven (4) als
deze bevestigd zijn aan de monitor.

3 Bevestig de monitorstandaard met de bijgeleverde

M4 x 14 schroeven (4).

Zachte
doek

Bevestigen aan de monitor

3NL



Technische gegevens

Gewicht Ong. 2,9 kg
Temperatuur tijdens opslag en transport
-20 °C tot +60 °C

Vochtigheidsgraad tijdens opslag en transport
20% tot 90%

Druk tijdens opslag en transport
700 hPa tot 1.060 hPa

Wijzigingen in het ontwerp en de specificaties zijn
voorbehouden zonder voorafgaande kennisgeving.

Afmetingen
Eenheid: mm
350 100
-

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

_ Vi
é / / opening
/

(%) o

309
366,5

24 76,2

I~
75—t [\
O / o X

M5- 80 M5-
opening 165,1 opening

4‘
\
34 55

Regeling van de gebruikshoek

10°

20°

| |

Neem voor het regelen van de hoek de boven- en
onderkant van de monitor vast.

NL 4 Technische gegevens






Antes de utilizar a unidade, leia atentamente este manual
e mantenha-o para referéncia futura.

Simbolo nos produtos

Consulte o manual de instrucoes
Siga as indicagdes no manual de instrugdes
para as pecas na unidade em que este
simbolo é apresentado.

Este simbolo indica o fabricante e estd colocado
ao lado do nome e endereco do fabricante.

Este simbolo indica o Importador e aparece
junto ao nome e endereco da sede social do
Importador.

& E

Este simbolo indica o representante da
Comunidade Europeia e aparece junto ao
nome e endereco do representante da
Comunidade Europeia.

m
(2]

Este simbolo indica a Pessoa Responsavel no
Reino Unido e aparece junto ao nome e
endereco da Pessoa Responsavel no Reino
Unido.

Este simbolo indica o representante suico
autorizado e aparece junto ao nome e
endereco do representante suico autorizado.

o
=

Este simbolo indica o dispositivo médico na
Comunidade Europeia.

Este simbolo indica o ndmero de série.

Este simbolo indica a data de fabrico.

Temperatura de armazenamento e
transporte

Este simbolo indica o intervalo de
temperatura aceitavel para os ambientes de
armazenamento e transporte.

~ & ¢ [

Humidade de armazenamento e
transporte

Este simbolo indica o intervalo de humidade
aceitdvel para os ambientes de
armazenamento e transporte.

&)

Pressao de armazenamento e
transporte

Este simbolo indica o intervalo de pressao
atmosférica aceitavel para os ambientes de
armazenamento e transporte.

6]

Precaucdes

Atencéo

Ao inutilizar o aparelho ou os acessoérios, tem de
cumprir a legislacdo vigente na drea ou pais onde se
encontra e as regulamentacdes existentes no hospital em
questdo relativas a polui¢do ambiental.

Para clientes na Europa

Este produto foi fabricado por ou em nome da Sony
Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Japado.

Importador na UE: Sony Europe B.V.

Questdes ao importador na UE ou relacionadas com a
conformidade do produto na Europa devem ser enviadas
ao representante autorizado do fabricante, Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Bélgica.

[13]

Atencéo
Para conhecer os cuidados e outras informagdes

relacionadas com a utilizag@o deste produto, consulte as
Instrugdes de utilizagdo do monitor.

[13]

Atencéo

Nao utilize o dispositivo num ambiente de RM
(Ressonancia Magnética).

Pode causar uma avaria, incéndio € movimento
indesejado.

Precaucoes

Seguranca

* Este € o suporte para o monitor Sony LCD. Para
confirmar se o seu monitor € compativel com esta
unidade, consulte o manual de instru¢des do monitor.

* Quando levantar o monitor, levante o lado inferior do
monitor ou a parte inferior do suporte.

* Limpe a superficie com uma concentracio de 50 a
70 v/v% de dlcool isopropilico ou uma concentragio
de 76,9 a 81,4 v/v% de etanol utilizando um método
de esfregaco.

* As manchas mais dificeis poderdo ser removidas com
um pano macio ligeiramente humedecido com uma
solugdo de detergente suave utilizando um método de
esfregaco e, em seguida, limpando com a solugdo
quimica acima indicada.

Nunca utilize solventes como benzina ou diluente, ou
detergente 4cido, alcalino ou abrasivo, nem um pano
de limpeza com tratamento quimico para limpeza ou
desinfec¢do, uma vez que estes irdo danificar a
superficie.

* Utilize os parafusos fornecidos para a montagem. Se
utilizar outros parafusos que ndo os fornecidos, os
parafusos poderio soltar-se e o dispositivo podera cair
e provocar ferimentos.



3 Instaleo suporte do monitor com os parafusos
Notas M4 x 14 (4) fornecidos.

* Verifique sempre se a unidade esta a funcionar
correctamente antes de a usar. A SONY NAO SE
RESPONSABILIZA POR DANOS DE
QUALQUER TIPO, INCLUINDO, MAS NAO
LIMITADOS A, COMPENSACAO OU
REEMBOLSO DEVIDO A PERDA DE LUCROS
ACTUAIS OU FUTUROS NO DECORRER DE
AVARIA DESTA UNIDADE, QUER DURANTE O
PERIODO DE GARANTIA QUER APOS A
EXPIRACAO DA GARANTIA OU POR
QUALQUER OUTRA RAZAO.

« A SONY NAO SE RESPONSABILIZA POR
QUEIXAS DE QUALQUER TIPO
APRESENTADAS POR UTILIZADORES DESTA
UNIDADE OU POR TERCEIROS.

« A SONY NAO SE RESPONSABILIZA PELO
TERMINO OU DESCONTINUACAO DE
QUAISQUER SERVICOS RELACIONADOS
COM ESTA UNIDADE QUE POSSAM
RESULTAR DEVIDO A CIRCUNSTANCIAS DE
QUALQUER TIPO.

Instalar no monitor

Acessorios fornecidos

* Unidade da base (1)

* Unidade do pescoco (1)

 Parafusos M5 x 20 (4)

 Parafusos M4 x 14 (4)

* Manual de instrucdes (1)

* Lista dos contactos de assisténcia (1)

[ Ti] Método de instalacéo

1 Monteo suporte do monitor.

Insira a unidade da base na unidade do pescoco @
e fixe com os parafusos M5 x 20 (4) fornecidos @.

Unidade da base

2 Coloque o monitor sobre um pano macio, etc., €
retire os parafusos M4 (4) quando estiverem
instalados no monitor.

Instalar no monitor 3 PT



Especificacoes

Peso Aprox. 2,9 kg

Temperatura de armazenamento e transporte
-20°C a+60 °C

Humidade de armazenamento e transporte
20% a 90%

Pressdo de armazenamento e transporte
700 hPa a 1.060 hPa

Design e caracteristicas técnicas sujeitos a alteracdo sem
aviso prévio.

Dimensoes
Unidade: mm
350 100
1

=

\
J
100
© o o
o 1]
O[m
%
[e]e]
Ll L]

366,5

p— OrTficio
| [ [ M4
é o) ° // 00
S Zﬂ

309

A
b J ©
— ' i 7 \ ~
‘ T g O/ A o 5 a
195 124 N
Orificio 80 Orificio
M5 165,1 M5

Ajuste do angulo de funcionamento

10° 20°
T

| |

Pode ajustar o dngulo segurando as partes superior e
inferior do monitor.

PT 4 Especificacdes






DK2

Fgr du betjener denne enhed, skal du l&se denne
vejledning grundigt og opbevare den for fremtidig
reference.

Symboler pa produktet

Se brugervejledningen
Fglg anvisningerne i brugervejledningen for
dele af enheden, hvor dette symbol vises.

Dette symbol angiver producenten og vises
ud for producentens navn og adresse.

Dette symbol angiver importgren og vises
ved siden af importgrens navn og
registrerede kontoradresse.

H @k B

Dette symbol angiver EF-repraesentanten og
vises ved siden af EF-representantens navn
og adresse.

Dette symbol angiver den ansvarlige person
i Storbritannien, og vises ved siden af navn
og adresse pa den ansvarlige person i
Storbritannien.

Dette symbol angiver den autoriserede
representant i Schweiz og vises ved siden af
navn og adresse pa den autoriserede
representant i Schweiz.

(2]
=

Dette symbol angiver det medicinske udstyr
i Det Europaiske Fellesskab.

Dette symbol angiver serienummeret.

Dette symbol angiver produktionsdatoen.

Opbevarings- og transporttemperatur
Dette symbol angiver det acceptable
temperaturinterval for opbevarings- og
transportmiljger.

~ & ¢ [

Opbevarings- og transportfugtighed
Dette symbol angiver det acceptable
fugtighedsinterval for opbevarings- og
transportmiljger.

&)

Opbevarings- og transporttryk

Dette symbol angiver det acceptable
atmosfeariske trykinterval for opbevarings-
og transportmiljger.

6]

Pas pa

Nar du bortskaffer enheden eller tilbehgret, skal du
overholde lovgivningen i det pageldende omrade eller
land og reglerne pa det pagaldende hospital angaende
forurening af miljget.

Forholdsregler

Kunder i Europa

Dette produkt er fremstillet af eller pa vegne af Sony
Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Japan.

EU-Importgr: Sony Europe B.V.

Forespgrgsler til EU-importgren eller vedrgrende
overholdelse af produktgaranti i Europa skal sendes til
fabrikantens representant, Sony Belgien, bijkantoor van
Sony Europe B.V., Da Vincilaan 7-D1, 1930 Zaventem,
Belgien.

[13]

Pas pa
For advarsler og flere oplysninger om brug af dette
produkt henvises til skeermens brugervejledning.

[13]

Pas pa
Brug ikke enheden i et MR-miljg (magnetisk resonans).
Det kan forarsage en funktionsfejl, brand og ugnsket bevaegelse.

Forholdsregler

Om sikkerhed

* Dette er stativet til Sony LCD-skaermen. Se
betjeningsvejledningen til sk&rmen for at bekrefte,
om din skerm er kompatibel med denne enhed.

¢ Nar du hever skermen, skal du heve skermens nedre
side eller bunden af stativet.

* Renggr overfladen ved at duppe med en koncentration
mellem 50 til 70 v/v% eller @tanol med en
koncentration mellem 76,9 til 81,4 v/v%.

* Genstridige pletter kan fjernes ved at duppe med en blgd
klud, f.eks. en renggringsklud, der er fugtet let med et
mildt renggringsmiddel, og derefter renggres med den
kemiske oplgsning ovenfor.

Brug aldrig oplgsningsmidler, f.eks. benzen eller
fortynder, syre, alkaliske eller slibende renggringsmidler,
eller kemikaliepreparerede renggringsklude til renggring
eller desinficering, da dette kan beskadige overfladen.

* Brug de medfglgende skruer til montering. Hvis du
bruger andre skruer end de medfglgende skruer, kan de
blive lgse, og enheden kan falde ned og medfgre skader.



Bemaerk

* Kontrollér altid, at enheden fungerer korrekt, fgr du

bruger den. SONY ER IKKE FORPLIGTET TIL AT
YDE NOGEN FORM FOR ERSTATNING
INKLUSIVE, MEN IKKE BEGRANSET TIL
KOMPENSATION ELLER REFUSION PA GRUND
AF TAB AF NUVZARENDE ELLER MULIG
INDTJENING FORARSAGET AF SVIGT I DENNE
ENHED, ENTEN I LOBET AF GARANTIPERIODEN
ELLER EFTER UDL@B HERAF, ELLER AF EN
HVILKEN SOM HELST ANDEN ARSAG.

* SONY KAN IKKE GORES ANSVARLIG I

FORBINDELSE MED KRAV AF NOGEN ART,
SOM REJSES AF BRUGERE AF DENNE ENHED
ELLER AF TREDJEPARTER.

* SONY KAN IKKE GORES ANSVARLIG FOR

AFBRYDELSEN ELLER OPHORET AF NOGEN
TYPE SERVICE I FORBINDELSE MED DENNE
ENHED, SOM KAN FOREKOMME, UANSET DE
TILGRUNDLIGGENDE OMSTZANDIGHEDER.

Fastgorelse til skaermen

Medfolgende tilbehor

Basisenhed (1)
Mellemstykke (1)

M35 x 20 skruer (4)

M4 x 14 skruer (4)
Brugervejledning (1)
Servicekontaktoversigt (1)

[:E] Fastgorelsesmetode

1

Monter skarmstativet.

For basisenheden ind i mellemstykket @, og
fastggr den med de medfglgende M5 x 20 skruer
4 0.

Basisenhed

2 Anbring skeermen pa et blgdt underlag, og fjern

M4-skruerne (4), hvis de er monteret i skeermen.

3 Fastgor skermstativet med de medfglgende

M4 x 14 skruer (4).

Blgdt
underlag

Fastgarelse til skeermen

3DK



Specifikationer

Vagt Ca.29kg
Opbevarings- og transporttemperatur
—20 °C til +60 °C
Opbevarings- og transportfugtighed
20 % til 90 %
Opbevarings- og transporttryk
700 hPa til 1.060 hPa

Ret til &ndringer i design og specifikationer
forbeholdes.

Mal
Unit: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

(%) o

309
366,5

Y

A
9 J <
%—7—17 i 7 I\ ~
\ i 31 OL A ° Iy
195 124
M5-hul 80 M5-hul
165,1

Justering af betjeningsvinkel

10°

20°

| |

Du kan justere vinklen ved at holde toppen og bunden af
skaermen.

DK 4 Specifikationer






FI2

Lue tdmi kéyttoohje huolellisesti ennen laitteen kdyttod
ja sdilytd se myohempdi tarvetta varten.

Tuotteen symbolit

Noudata kayttoohjeita
Lue tdlld symbolilla merkittyji laitteen osia
koskevat kiyttdohjeet.

Tamé symboli ilmaisee valmistajaa ja nikyy
valmistajan nimen ja osoitteen vieressi.

Tdmi symboli ilmaisee maahantuojan, ja se
nikyy maahantuojan nimen ja rekisterdidyn
toimiston osoitteen vieressi.

H & L

Tamé symboli ilmaisee Euroopan yhteison
edustajaa ja nidkyy Euroopan yhteison
edustajan nimen ja osoitteen vieressé.

Tami symboli ilmaisee Yhdistyneen
kuningaskunnan vastuuhenkilon, ja se nikyy
Yhdistyneen kuningaskunnan
vastuuhenkilon nimen ja osoitteen vieressa.

Tamai symboli ilmaisee Sveitsin valtuutetun
edustajan, ja se ndkyy Sveitsin valtuutetun
edustajan nimen ja osoitteen vieressa.

(2]
=

Tamé symboli ilmaisee ladketieteellistd
laitetta Euroopan yhteisossa.

Téma symboli ilmaisee sarjanumeron.

Taméa symboli ilmaisee valmistuspdivén.

Varastointi- ja kuljetuslampétila
Tdma symboli ilmaisee varastointi- ja
kuljetusympéristoissd hyviksyttdavin
lampdotila-alueen.

~ & |¢g [

Varastointi- ja kuljetuskosteus
Taméa symboli ilmaisee varastointi- ja
kuljetusympéristoissd hyviksyttdvin
kosteusalueen.

&)

Varastointi- ja kuljetuspaine
Tdmi symboli ilmaisee varastointi- ja
kuljetusympéristoissd hyviksyttdvin
ilmanpainealueen.

6]

Huomio
Kun hévitit laitteen tai sen varusteita, noudata voimassa

sairaalan ympiristonsuojelusaantoj.

Varotoimet

Asiakkaille Euroopassa

Téama tuote on valmistettu Sony Corporationin, 1-7-1
Konan Minato-ku Tokyo, 108-0075 Japani, toimesta tai
puolesta.

EU-maahantuoja: Sony Europe B.V.
EU-maahantuojalle osoitetut tiedustelut tai tuotteen
Euroopan vaatimustenmukaisuuteen liittyvét tiedustelut
tulee osoittaa valmistajan valtuutetulle edustajalle: Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Belgia.

[13]

Huomio

Katso tdimin tuotteen kéyttod koskevat varotoimet ja
lisdtiedot monitorin kéyttoohjeista.

[13]

Huomio

Al kiyti laitetta MR-ympiiristossi (magneettinen
resonanssi).

Se voi aiheuttaa toimintavirheitd, tulipalon tai ei-
toivottua liiketti.

Varotoimet

Turvallisuus

* Tdmi on Sony LCD -monitorin jalusta. Katso
monitorin kiyttdohjeesta, onko monitorisi
yhteensopiva tdmén laitteen kanssa.

¢ Kun nostat monitoria, nosta monitorin alareunaa tai
jalustan pohjaa.

* Pyyhi pinta puhtaaksi isopropyylialkoholilla, jonka
pitoisuus on 50 — 70 v/v%, tai etanolilla, jonka
pitoisuus on 76,9 — 81,4 v/v%.

* Vaikeat tahrat voidaan poistaa kevyesti mietoon
puhdistusaineliuokseen kostutetulla puhdistusliinalla
tai vastaavalla pehmedlld liinalla pyyhkimall4, jonka
jélkeen suoritetaan puhdistus edelld mainitulla
kemiallisella liuoksella.

Ald koskaan kiytd liuottimia, kuten bentseenid tai
tinnerid, hapanta, emiksistd tai hankaavaa
puhdistusainetta tai puhdistukseen tai desinfiointiin
tarkoitettua kemiallista puhdistusainetta, koska ne
vahingoittavat pintaa.

» Kiyti kiinnitykseen toimitettuja ruuveja. Jos
kédytetddn muita kuin toimitettuja ruuveja, ruuvit
voivat irrota ja laite pudota, josta voi olla seurauksena
henkil6vahinkoja.



Huomautuksia

e Varmista aina ennen kéyttod, ettd laite toimii
kunnollisesti. SONY EI OLE MISSAAN
VASTUUSSA VAHINGOISTA MUKAAN
LUKIEN, MUTTA EI NITHIN RAJOITTUEN,
KORVAUKSET TAI HY VITYKSET TAMAN
LAITTEEN TAKUUKAUDEN AIKAISISTA TAI
TAKUUAJAN UMPEUDUTTUA
TAPAHTUNEISTA TOIMINTAHAIRIOISTA
AIHEUTUNEIDEN NYKYISTEN TAI
TULEVIEN TULOJEN MENETYKSISTA.

« SONY EI OLE MISSAAN VASTUUSSA
LAITTEEN KAYTTAJIEN TAI KOLMANSIEN
OSAPUOLTEN ESITTAMISTA
VAATIMUKSISTA.

* SONY EI OLE MISSAAN VASTUUSSA TAHAN
LAITTEESEEN LIITTYVIEN PALVELUIDEN
LOPETTAMISESTA TAI KESKEYTYKSISTA,
JOTKA VOIVAT JOHTUA MISTA TAHANSA
SYYSTA.

Monitorin kiinnittaminen

Toimitetut varusteet

Jalustayksikko (1)

* Varsiyksikko (1)

* Ruuvit M5 x 20 (4)

* Ruuvit M4 x 14 (4)

» Kiyttoohjeet (1)

* Huoltoyhteystietoluettelo (1)

[ 1i] Kiinnitysmenetelma

1 Kokoa monitorin jalusta.

Tyonni jalustayksikko varsiyksikkoon @ ja
kiinniti se toimitetuilla M5 x 20 ruuveilla (4) @.

Jalustayksikko

2  Aseta monitori pehmein liinan tms. péille ja irrota
M4-ruuvit (4), jotka on kiinnitetty monitoriin.

3  Kiinniti monitorin jalusta toimitetuilla M4 x 14
ruuveilla (4).

Pehmed
liina

Monitorin kiinnittdminen

3FI



Tekniset tiedot

Paino Noin 2,9 kg

Varastointi- ja kuljetuslampétila
-20°C - +60 °C

Ilmankosteus varastoinnin ja kuljetuksen aikana
20 % — 90 %

Paine varastoinnin ja kuljetuksen aikana
700 hPa — 1 060 hPa

Piddtamme oikeuden muuttaa rakennetta ja teknisid
tietoja ilman erillistd ilmoitusta.

Mitat

Laite: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

(%) o

309
366,5

Y

[aV]
2 J ©
%—7—17 /] 7 I\ ™~
\ L 1oL ° I
195 124
M5- 80 M5-
reika 165,1 reika

Kayttokulman saataminen

10° 20°
T

| |

Kulmaa voidaan sditdd pitdmilld kiinni monitorin yli-
ja alareunasta.

FI‘l Tekniset tiedot






N02

Les bruksanvisningen ngye f@gr du bruker enheten og ta
vare pa den for fremtidig bruk.

Symboler pa produktene
EE] Se i bruksanvisningen

Fglg instruksjonene i bruksanvisningen for
deler av enheten hvor dette symbolet vises.

Dette symbolet indikerer produsenten og er
plassert ved siden av produsentens navn og
adresse.

Dette symbolet indikerer importgren, og
vises ved siden av importgrens navn og
registrerte kontoradresse.

& K

Dette symbolet indikerer EU-representanten
og er plassert ved siden av EU-
representantens navn og adresse.

m
(2]

Dette symbolet indikerer den ansvarlige
personen i Storbritannia, og vises ved siden
av den ansvarlige personen i Storbritannias
navn og adresse.

Dette symbolet indikerer den sveitsiske
autoriserte representanten, og vises ved
siden av den sveitsiske autoriserte
representantens navn og adresse.

(2]
=

Dette symbolet indikerer det medisinske
utstyret i Den europeiske union.

Dette symbolet indikerer serienummeret.

Dette symbolet indikerer
produksjonsdatoen.

Temperatur ved lagring og transport
Dette symbolet indikerer akseptabelt
temperaturomrade for lagrings- og
transportmiljger.

Fuktighet ved lagring og transport
Dette symbolet indikerer akseptabelt
fuktighetsomrade for lagrings- og
transportmiljger.

® s~k E

Lufttrykk ved lagring og transport
Dette symbolet indikerer akseptabelt omrade
for lufttrykk for lagrings- og
transportmiljger.

6]

Forholdsregel

Forsiktig

Nar du kaster utstyret eller tilbehgr, ma du fglge lovene
i omradet eller landet du befinner deg i, samt eventuelle
regler i det aktuelle sykehuset om forurensning av
miljget.

For kunder i Europa

Dette produktet er produsert av eller pa vegne av Sony
Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Japan.

EU-importgr: Sony Europe B.V.

Spgrsmal til EU importgren eller spgrsmal vedrgrende
produktets overensbestemmelse i Europa skal sendes til
produsentens autoriserte represetant, Sony Belgium,
bijkantoor van Sony Europe B.V., Da Vincilaan 7-D1,
1930 Zaventem, Belgia.

[13]

Forsiktig

For advarsler og mer informasjon om bruk av dette
produktet, se bruksanvisningen til skjermen.

[13]

Forsiktig

Ikke bruk enheten i et miljg med MR (Magnetic
Resonance)-utstyr.
Det kan forarsake en feil, brann eller ugnsket bevegelse.

Forholdsregel

Om sikkerhet

* Dette er stativet for Sony LCD-skjermen. For a
bekrefte om skjermen din er kompatibel med denne
enheten, se bruksanvisningene til skjermen.

 Nar du hever skjermen, hev nedre side av skjermen
eller bunnen pa stativet.

» Rengjgr overflaten med en 50 til 70 v/v%
konsentrasjon av isopropylalkohol eller en 76,9 til
81,4 v/v% konsentrasjon av etanol som tgrkes lett
over.

» Vanskelige flekker kan fjernes med en myk klut, som
en rengjgringsklut lett fuktet med et mildt
rengjgringsmiddel som tgrkes lett over, og deretter
rengjgre med den kjemiske Igsningen over.

Bruk aldri lésemidler som benzen eller
tynningsmiddel, eller syre, alkalisk eller skurende
vaskemiddel, eller en kjemisk rengjgringsklut til
rengjgring eller desinfeksjon, da de vil skade
overflaten.

* Bruk de inkluderte skruene for montering. Hvis du
bruker andre skruer enn de som er inkludert, kan
skruene bli Igse og enheten kan falle ned og forarsake
personskade.



3 Fest skjermstativet med de inkluderte M4 x 14
Merk skruene (4).

¢ Kontroller alltid at enheten virker som den skal fgr
bruk. SONY VIL IKKE VZEARE ANSVARLIG FOR 11y
SKADER AV NOE SLAG INKLUDERT, MEN
IKKE BEGRENSET TIL, ERSTATNING ELLER
TILBAKEBETALING PA GRUNN AV TAP AV
EKSISTERENDE ELLER FREMTIDIG
FORTJENESTE SOM SKYLDES SVIKT AV
DENNE ENHETEN, ENTEN UNDER
GARANTIPERIODEN ELLER ETTER AT
GARANTIEN HAR UTL@PT, ELLER FOR
UANSETT ANNEN ARSAK.

« SONY VIL IKKE VZERE ANSVARLIG FOR
KRAV AV NOE SLAG, FREMSATT AV
BRUKERE AV ENHETEN ELLER FREMSATT
AV TREDJEPARTER.

« SONY VIL IKKE VZERE ANSVARLIG FOR
AVSLUTNING ELLER AVBRUDD I NOEN
TJENESTE SOM ER RELATERT TIL DENNE
ENHETEN SOM MATTE OPPSTA PA GRUNN
AV NOEN SOM HELST OMSTENDIGHET.

Feste pa skjermen

Tilbehor som folger med
Sokkelenhet (1)

Halsenhet (1)
M35 x 20 skruer (4)

* M4 x 14 skruer (4)

* Bruksanvisning (1)

* Servicekontaktliste (1)

[:E] Festemetode

1 Monter skjermstativet.

Sett sokkelenheten inn i halsenheten @, og fest den
med de inkluderte M5 x 20 skruene (4) @.

Sokkelenhet

2 Plasser skjermen pa en myk klut, osv., og fjern
M4-skruene (4) nar de festes til skjermen.

Feste pa skjermen 3 NO



Spesifikasjoner

Vekt Ca.29kg
Oppbevarings- og transporttemperatur
—20 °C til +60 °C
Oppbevarings- og transportfuktighet
20 % til 90 %
Oppbevarings- og transporttrykk
700 hPa til 1060 hPa

Utforming og spesifikasjoner kan endres uten forvarsel.

Mal
Enhet: mm

350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

g J
— ﬁ M4-hull
é o) ° // 00

309
366,5

S

A

9 J <

%—7—17 i 7 I\ ~

\ i 1L ° Iy
195 124

M5-hull 80 M5-hull

Justering av driftsvinkel

10°
—

20°
4—\‘/

S— |

Du kan justere vinkelen ved a holde toppen og bunnen
pa skjermen.

NO 4 Spesifikasjoner






Lids denna handbok noga innan utrustningen anvénds
och spara den for framtida bruk.

Symboler pa produkterna
EE] Se bruksanvisningen

Folj anvisningarna i bruksanvisningen for
delar av enheten pa vilka denna symbol
aterfinns.

Denna symbol anger tillverkare och aterfi
nns bredvid tillverkarens namn och adress.

Denna symbol anger importdren, och
forekommer bredvid importérens namn och
registrerade adress.

i

Denna symbol anger representanten i den
Europeiska gemenskapen och forekommer
bredvid representanten i den Europeiska
gemenskapens namn och adress.

m
(2]

Denna symbol anger den ansvariga personen
1 Storbritannien och férekommer bredvid
den ansvariga personen i Storbritanniens
namn och adress.

Denna symbol anger den auktoriserade
representanten i Schweiz och férekommer
bredvid den auktoriserade representanten i
Schweiz namn och adress.

(2]
=

Denna symbol anger medicinteknisk
produkt i Europeiska gemenskapen.

Denna symbol anger serienumret.

Denna symbol anger tillverkningsdatumet.

Férvarings- och transporttemperatur
Denna symbol anger den godtagbara
temperaturintervallen for forvaring och
transport.

~ & g [

Férvarings- och transportfuktighet
Denna symbol anger den godtagbara
fuktighetsintervallen for férvaring och
transport.

&)

Forvarings- och transporttryck

Denna symbol anger den godtagbara
atmosférstrycksintervallen for férvaring och
transport.

691

Forsiktighetsatgarder

Férsiktighet

Om du tinker gora dig av med enheten eller dess
tillbehdr maste du ta hinsyn till gillande lagar. Ténk
ocksa pa att sjukhuset kan ha sina egna regler for hur
miljoférorenande avfall ska behandlas.

For kunder i Europa

Denna produkt har tillverkats av eller pa uppdrag av
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo, 108-
0075 Japan.

EU-importor: Sony Europe B.V.

Fragor till EU-importoren eller fragor som ror
produkternas 6verensstimmelse i Europa skall sédndas
till tillverkarens auktoriserade representant, Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Belgien.

[13]

Forsiktighet

For forsiktighetsatgédrder och mer information om hur
denna produkt anvinds, hinvisas du till skdrmens
anvidndningsinstruktioner.

[13]

Forsiktighet

Anvind inte enheten i ett MR-omrade (magnetisk
resonans).
Det kan orsaka fel, brand och oavsiktliga rorelser.

Forsiktighetsatgarder

Om sakerhet

* Detta dr stativet till Sony LCD-skidrm. Se
bruksanvisningen till skdrmen for att kontrollera om
din skédrm &dr kompatibel med denna enhet.

* Nir skdrmen ska hgjas bor du héja undersidan av
stativet eller skdrmens ldgre sida.

* Rengor ytan med en 50 till 70 v/v%-koncentration av
isopropylalkohol eller en 76,9 till 81,4 v/v%-
koncentration av etanol genom att torka med en trasa.

* Envisa fldckar kan tas bort med en mjuk trasa som t ex
en rengoOringstrasa som fuktats lidtt med en mild
rengoOringslosning och darefter rengora med ovan
nimnda 16sning.

Anvind aldrig 16sningsmedel sasom bensen eller
thinner, sura, alkaliska rengdringsmedel,
rengoringsmedel med slipeffekt, eller kemiska
rengoringsdukar for rengoring eller desinficering,
eftersom de kommer att skada ytan.

* Anvind de medf6ljande skruvarna vid montering. Om
andra skruvar dn de medféljande anvéinds kan
skruvarna lossna och enheten falla vilket kan leda till
skada.



Obs!

» Kontrollera alltid att enheten fungerar som den ska
fore anviindning. SONY KAN INTE HALLAS
ANSVARIG FOR SKADOR AV NAGOT SOM
HELST SLAG, INKLUSIVE, MEN INTE
BEGRANSAT TILL, ERSATTNING ELLER
ATERBETALNING PA GRUND AV FORLUST
AV AKTUELL ELLER FRAMTIDA VINST PA
GRUND AV FEL I DENNA ENHET, ANTINGEN
UNDER GARANTIPERIODEN ELLER EFTER
ATT GARANTIN HAR GATT UT, ELLER AV
VILKA SOM HELST ANDRA ANLEDNINGAR.

« SONY KAN INTE HALLAS ANSVARIG FOR
NAGON TYP AV ANSPRAK AV ANVANDARE
AV ENHETEN ELLER TREDJE MAN.

e SONY KAN INTE HALLAS ANSVARIG FOR
UPPHORANDE ELLER AVBROTT AV NAGON
TJANST I ANSLUTNING TILL DENNA ENHET,
OAVSETT ORSAK.

Montera skarmen

Medfoljande tillbehor

Basenhet (1)

Halsenhet (1)

M35 x 20 skruvar (4)

M4 x 14 skruvar (4)
Bruksanvisning (1)

Lista med servicekontaktdetaljer (1)

[ Ti] Monteringsmetod

1 Montera skidrmstativet.

Sitt in basenheten i halsenheten @ och fist den
med de medféljande M5 x 20-skruvarna (4) @.

Basenhet

2  Placera skirmen pé t.ex. en mjuk duk och skruva ur

M4-skruvarna (4) om de sitter i skdrmen.

3 Montera skidrmstativet med de medféljande

M4 x 14-skruvarna (4).

Montera skarmen

38E



Specifikationer

Vikt Ca.29kg
Temperatur vid forvaring och transport
—20 °C till +60 °C
Luftfuktighet vid forvaring och transport
20 % till 90 %
Forvarings- och transporttryck
700 hPa till 1 060 hPa

Ratt till dndring av design och specifikationer
forbehalles.

Matt

Enhet: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

(%) o

309
366,5

Y

A
9 J <
%—7—17 i 7 I\ ~
\ i 31 OL A ° Iy
195 124 ]
M5-hal 80 M5-hal
165,1

Justering av anvandningsvinkel

10°

20°

| |

Du kan justera vinkeln genom att hélla i skdrmens Gver-
och undersida.

SE 4 Specifikationer






GR2

EAAnvika

ITowv yonopoTomoete T povada, diapdote
OMORANQO TO TTOLQOV EYXELQLOLO RO GUAAETE TO YL
evOEYOUEVT] LEANOVTLXY] KON ON).

ZUuBoAa oTa mpoiovTa

[13]

ZupBouleuTeiTe TIG 0dNYiEg XpAONS
A%okovenote TIg vnoést&ag TV
OdMyLwV (ENONG OYETIRA UE TOL
eEaQTNUOTA TNG uovaéag 0T0 07Ol
eudoaviteral to ovuforo auto.

To oVuforo AUTO ETONUOLVEL TOV
HOTAOKREVAOTY, XOL ERPAVICETOL OLTTACL
0TO OVOUO. %At T OLlevBuvon Tov
RATOOREVAOTY).

To oVuforo AUTO ETONUOLVEL TOV
Ewoaywya, xal epdaviteton dimha otnv
ETOVLULO O T dLeVOUVOT NG
etououng £dgag tov Ewoaywyea.

e [rer] ToO ov upoho oVTO ETTLOM podveg TOV
avtuteoowso s Evpwmoinng
Kowotnrag, xat epdaviteror dirthao 010
ovopa ®oL T dLetBvvor Tov
avTLIItEoomTov s Evowmainng
Kowotrtag.

To oV uBo)»o QUTO ETLONUALVEL TO
Agpodio atopo oto HB, naw epdpaviteton
duha otV Sﬂ:wvvma %a T dlevOuvon
oV AQuodov atopov oto HB.

[cn [rer] To o0pPolo avtd emonpaivel Tov
€EOVOL0O0TNUEVO EXTQOOMITO 0TIV

EMetia nou epdaviCeton dimmho otny
ETWVULILOL ®ow T dlevBuvon Tov
€EOVOLOOOTNUEVOU EXTTQOCMITOV OTNV
EABerio.

To oVUPorO AUTO ETONUOLVEL TV
LaTEw ovoxeun otnv Evpwmoinm
Kowomta.

To oUUBOLO QUTO ETLONUALVEL TOV
0QLOUO 0€LQAG.

To oUUPOLO QUTO ETLONUALVEL TNV
NUEQOUNVIOL XOTALOREVT|C.

OeppoKpacia amoBnkeuong Kai
MeTadopag

To oVPONO QUTO ETLONUOLVEL TO
0TT0dEXTO EVQOS TV OEQUORQAOLOG OE
oUVON®ES ATOONREVONG ROl LETADOQAS.

~ & [¢g

MNpodurd&elg

Yypaoia anmofnkeuong Kai
HETadopaAg

To oUUPOLO QUVTO ETOUOLVEL TO
ATTOOEXTO EVQOG TLUMY VYQUOLOG O
ouvONrES LTTOONUEVONG RO LETODHOQAG.

nison anoer']Ksuonq Kal psmcpopdq
To oV uﬁoko ovTo emcmuawsL TO
OTTOOENTO EVQOG TLUMV UTUOOPOLQLRNG
meong o€ ouvONreg ATodNrREVONG RO

UETAPOQAS.

Mpoooxn

Kortd ) duabeon tng ovoreung 1) Tmv
TOQEMKOUEVOV AUTG, O TRETEL va oefaoTelte
TOUG LOYVOVTES VOUOUGS TNG TTEQLOYNG 1] TNG XDQAG
%O TOVUG ROVOVIOUOUS TOU VOGOKOUELOU OYETIRA IE
™V TEQUPAANOVTLXT| QUITAVOY).

Ma Toug meAaTeg oTnv Eupwrn

AUTO TO TQOIOV EYEL HATAOREVOLOTEL OITO 1) YLOL
LMoyaraoud g Sony corporation, 1-7-1 Konan
Minato-ku Tokyo, 108-0075 Iostwvia.

Ewaywyéag omnv Evpaomn: Sony Europe B.V.
EQWTI0ELS TQOG TOV ELOAYMYEN 1) OYETIRO IUE TV
OUUPOQPMOT TOV TTEOTOVTOS MG TTQOG T1] VOUOOETiLaL
™™g Evpwmaixng "Evoong 0a meémel va
amevBvuvovtal 6Tov eE0UOLOO0THUEVO EXTTQOOMITO,
Sony Belgium, bijkantoor van Sony Europe B.V.,
Da Vincilaan 7-D1, 1930 Zaventem, Bé\yto.

[13]

Mpoooxn

TNa ta pétoa ngoqm}\o@ng %ol OLMz-:g nkn@oq)ogtsg
TTOV OYETLLOVTAL UE TN XQTIGT] aUTOU TOU TTROIOVTOG,
avateeEte otig Odnyleg xonons s 000vne.

(T3]

Mpoooxn

Mn| xoNOLoTTOLELTE T oVOXREVT 08 TTeQUBalhov MR
(LOYVNTLROV CUVTOVIOHOD).

Evdéyetan vo moorhnOel duolettovQyia, TuQrayLd.
%O AVETTOV TN LETARIVION.

Mpodulaéeic

IXETIKA JE TNV aoPaAela

e Avut eival 1 fdaon yia tyv 060vn LCD tng Sony.
T va eléyEete av m 000V cog glvol ovuforth pe
QUTTVY TN LOVAOQ, OVATEEETE OTLG 00N YlEg
Aettovoytag g 000V,



* 'Otav avoonrOVETE TNV 000V, VO, VOO HMVETE

TNV RATW TAEVQA TNG 1) TV XATW TAEUQA TNG ~
T e I'ngoapmon NG
e KaBaplote TV eLPAVELD. UE OVYHEVIQWOT) (o) e ovn q

L00TTEOTTVMAXN G 0A00M S 50 Emg 70 v/iv% M)

OUYREVTOWOT abavoing 76,9 €wg 81,4 viv%, . s

xonowpomolwvtag 0afdo ue Paufaxt. ESapTnuara mou rmapexovrai
* MtoQeite Vo ApALQETETE TOVG ETLUOVOUG AEXEDEG . .

UE EVOL LOAORO TTOVL, OTTMG EVA. TTAVE %OLOOLQLOUO : Mow}ga paong (1)1

IOV EYETE VYQAVEL ENADQIG UE EVOL LAV . BI%ZGREIIS%SQZ)BKEZ)( )

17OV ALTTOQQUITALVTLXOV, Y O1|OLUOTTOLDVTOS . Blésg M4 x 14 (4)

Qdﬁéovus Boupnt RO, 0T OUVEYELD, v ¢ 05 ngg hone (1)

1000QLOETE TNV ETUPAVELL YQNOLUOTOLDVIOS TO oK ny}\ AQNONS L) € . (1)

TAQUIVE® YN SNV aTahoYog TEXVIXTS EEVTTNEETNONG

IToTE PNV XENOLUOTTOLELTE DLOAVTEG, OTTWG

BevCoilo 1 aQaumTiro 1) 0V, ahxoMxO 1

LELOVTIXO QLITOQQUITOLVTLXO 1) TTOVL Y1 IUKOV [:Ii] MeBodog mpooapTnong

2a00QLOUOV YLal TOV XAOAQLOMO 1) TNV 1 i i i

ool pavon, xa0mg o xatooTQapEL 1 Zuvaguoroynote T Paon g 00ovng.

ETLPAVELXL. Ewaydayete T povada faong otn povada
* XQNOLWOTOWOTE TIG PLOES TOU TAQEYOVTOL YLOL 72oQUOU @ 1oL OTEQEMOTE TNV UE TS Ploeg

TV TOTOOETNON. AV YONOLULOTOL0ETE AANES M5 x 20 (4) @ mov maEYOVTAL.

Bldes aTd AVTES TOV TAQEYOVTAL, QVTES UITOQEL
VO {OAOQMTOUV RO 1) CUOKEVT] WTOQEL VOL TTETEL
%O VO TTQOXANOEL TQOV LOTLOHOG.

ZNHEIVOEIG

e TTavta vo emolnBevete OTL Y POVADO AELTOVQYEL
NOVOVIXA TTQOTOV TNV Yonoluomoioete. H
SONY AEN ®EPEI OIAAHITOTE EY®OYNH
I'TA TYXON ZHMIEZ OIAZAHITIOTE
OYZEQSE SYMIIEPIAAMBANOMENQN,
ANEY ITEPIOPIZMOY, OIQNAHIIOTE 2
ATTIOZHMIQZEQN 'H EITIZTPODPQN

Tomobetnote TV 000vN o€ £vo uaAoxo Tavi

XPHMATON E= AITIAS ATIQAFIAS TQON %.ATT. RO O((J)O(LQéOTS TLS ﬁlésg M4 (4), ov glval
TPEXONTQN "H TPOSAOKQMENQN TomoBeTuEVES 0TIV 000V
KEPAQN AOTQ BAABHETHETIAPOYSHE| 3 Moooaotijote m Béton g 00dvIc
MONAAAZ, EITE KATA TH AIAPKEIA xonotpomoinvrag tg fides M4 x 14 (4) mov
THZ ITEPIOAOY EITYHZHZ 'H META TH TTOQEYOVIAL.
AHEH AYTHZ, 'H I'TA OIONAHIIOTE
AAAO AOTO. o
e HSONY AEN ®EPEI EY®OYNH I'TA ( S
OITIOIAAHIIOTE AEIQZH ITPOBAHO®EI gg,
ATIO XPHZETEXZ THE ITAPOYZAZ >
MONAAAZ 'H TPITA TTPOZQIIA. 3 ‘

H SONY AEN ®EPEI EYOYNH I'TA TON
TEPMATIEMO "H TH AHZH Ma}\g 3
OTIOIASAHIIOTE YITHPESIAS :
SXETIZETAI ME THN I[TAPOYZA ot
MONAAA TIOY MITOPEI NA ANAKYWEI
AOT'Q OITOIAZAHIIOTE ITEPIZTAZHZ. 4 SUVvOEOTE TA HOADOLOL otV o@évn,

Mpoodptnon g 080ovng 3 GR



TeXVIKO XOPAKTNPIOTIKA

Bagog IMepimov 2,9 kg
OeQUO%QAOLO OTTOONKEVONG KAl LETADOQAGS
-20°C €wg +60°C

Yyoaoio armodnuevons xo LeTohoQag
20% £0c 90%

ITieon amoONxrevoNg ®oL PETADHOQAS
700 hPa £éw¢ 1.060 hPa

O 0yedLOOUOG %O OL TTQOAYQOPES VITORELVTOL O
oMOYES Y WIS TQOELDOTTOLN o).

AlaoTaoceig
Movada: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

. J
— om
/ / M4
o) ° [ 00
Q ﬂ
()
(2] [{e)
o @
m o o
S
8 J o
%—7—17 i 7 I\ ™~
| T s/ AL s
195 124 «® .
om 80 om
M5 165,1 M5

Mpoocappoyn kKAiong AsiToupyiag

10°

20°

| |

Mitogelte Vo TQOCOQUOOETE TNV KALOT HQOTDOVTOG
TO JTAV® %OL TO ROTW UEQOG TNG 00OVNG.

GR4 TeXVIKA XApAKTNPLOTIKA






Bbnrapcku

ITpenun na 3anovyHeTe Ma U3MOJI3BaTE ypena,
npoqueTe BHHUMATCIIHO TOBa p'bKOBOJZ[CTBO Uro
3ama3eTe 3a Ob/EIU CIPaBKU.

CumBONM Ha NpoAyKTUTE

BuxTe UHCTpyKUUMTE 3a yrnoTtpeba
CHCHBaﬁTC HAaCOKHUTC B UHCTPYKIIUUTE 3a
ynoTpeba 3a YacTUTE Ha YCTPONCTBOTO,
KOWTO pa3noiiaraT ¢ TO3M CUMBOIL.

I To3u cumBOI 0003HaYaBa
HpOI/I3BOJII/ITeJI$I " C€ ITOoABsIBA 1O UMETO "
ajpeca Ha TIPOW3BOIUTEIIS.

To3u cumBOJI 0003HaUYaBa BHOCUTEJISI M CE
IIOCTaB4 1O UMETO U a[ipeca Ha
CENAINIIETO HAa BHOCUTEIIA.

= [rer] To3u cumBoOII 0603HaYaBa
npepcTaBuTess Ha EBponerickara
OOIIHOCT U Ce MOSBSIBa O UMETO U
ajipeca Ha IPECTaBUTEJIS HA
Esponeiickara OGIIHOCT.

To3u cumBOJI 0003HaYaBa OTTOBOPHOTO
nune 3a O6eIMHEHOTO KPAJICTBO U ce

IIOCTaBs O UMETO N afpecCa Ha
OTTOBOPHOTO JIUILEC 3a OGeHHHeHOTO
KpaJICTBO.

[cH [ReP] To3u cumBoOJI 0003HaYaBa
VII'bITHOMOIIICHUS MTPEJICTaBUTEN 32
IlIBeftiiapus u ce MOCTaBs 0 UMETO U
ajipeca Ha YI'bJTHOMOIIEHUS
npepncrasuten 3a llBeiapus.

To3u cuMBOJI 0603HAUABA MEIUITTHCKOTO
m3nenne B EBponeiickaTa OGIIHOCT.

HOMEP.

To3u cumBoOJI 0003HAUYaBa JaTaTa Ha
MTPOM3BOJICTBO.

TemnepaTypa 3a CbxpaHeHue u
TpaHcnopT

To3u cumBOJI 0003HaUYaBa IIpueMJInBUsL
TeMIepaTypeH 00XBaT 3a CpPEIUTE 3a
CbXpaHCHUE U TPAHCIIOPT.

BnaXHOCT 3a CbXxpaHeHue n
@ TpaHcnopT
To3u cuMBOJI 0003HaYaBa IPUEMIIUBUS

00XBaT OT BJIaXKHOCT 32 CPEJUTE 3a
ChXpaHEeHHe U TPAHCIOPT.

@ To3u cuMBOJI 0003HAYABA CEPUITHUS

MpeanasHy MepKku

HanaraHe 3a cbxpaHeHue U
@ TpaHcnopT
To3u cumBO 0O603HAUaBa MpUEMJIINBUSL

00XBaT OT aTMOC(l)CpHO HaJIsiraHe 3a
CpeauTe 3a CbXpaHCHUE U TPAHCIIOPT.

BHumaHue

Korato n3xBbpiasite ycTpOUCTBOTO WX
akcecoapure, TpsiOBa Jia clia3BaTe 3aKOHUTE B
CBHOTBETHATA O0JIACT UJIU 'bpXKaBa U pa3nopenounTe
Ha CHOTBETHOTO OOJIHUYHO 3aBEJIeHUE IO
OTHOIIIEHWE Ha 3aM'bPCSBAHETO HAa OKOJHATA CPEfa.

3a knueHTute B EBpona

To3u IpPOAYKT € MPON3BEACH OT WM OT UMETO Ha
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo,
108-0075 Snonwus.

Brocuren B EC: Sony Europe B.V.

3anuTBaHUs 10 BHOCUTEJIS WM 3alUTBAHUS
CB'BP3aHU ChC ChOTBETCTBUETO Ha IPOAYKTHUTE
C'BIJIACHO 3aKOHOJIaTENICTBOTO Ha EBpomneiickus
C'BIO3, CTIE/IBA Jla CE OTHPABST K'bM
YI'BITHOMOILIEHUS IPEICTaBUTEI HA TPOU3BOAUTEINS
Sony Belgium, bijkantoor van Sony Europe B.V,, Da
Vincilaan 7-D1, 1930 Zaventem, Benrus.

[13]

BHumaHue

3a npeaynpexeHns 1 noBede nHpopManus
OTHOCHO yHOTpeGHTa Ha TO3H1 HpOIIYKT ce 061)pHeTe
K'bM HHCTPYKIUHTE 3a yIoTpeba 3a MOHUTOPA.

[13]

BHumaHue

YcTpoiicTBOTO [1a He ce U3I0J3Ba B cpefa ¢ MP
(MarHUTEH pe30HAHC).

Topa MoxKe fia IPUUUHU IOBpEfia, I0Xap U
HEKEJIAHO IBUKEHUE.

lNpeanasHu mepku

3a 6e3onacHocCT

¢ Toga e croiikara 3a LCD monnTopa Ha Sony. 3a
Jla MPOBEPUTE AN BAIIUST MOHUTOP €
CHBMECTUM C TO3HM MOJTYJI, IperJieanTe
MHCTPYKIMUTE 32 yIOTpeOa Ha MOHUATOPA.

¢ Koraro moBaurate MOHUTOPA, TOBAUTHETE
TOJIHATA YacT Ha MOHUTOPA WU JOJIHATA YacT Ha
CcTOHKaTa.

¢ [TouncreTe NOBBPXHOCTTA C U3OMPOIHIIOB
ankoxoun ¢ koHueHTpanus ot 50 o 70 v/v% unu ¢
€TaHoII ¢ KoHIeHTpanus ot 76,9 mo 81,4 viv% c
IOMOIIITa HAa TaMITOH.



® YnopuTuTe eTHa MOTraT jja ce ipeMaxHaT ¢ MeKa
K'bpIla, KaTO HaIlpUMep K'bpIla 3a IOYUCTBAHE,
JIEKO HAIlO€HA C MeK IIOYHUCTBAll pa3TBOP upe3
MeTO/ia Ha TAMIIOHA, U CJIe]] TOBA ia CE OYHCTHAT C
TOPHHS XUMUYEH Pa3TBOP.
Huxkora He n3nomn3BaiTe pa3TBOPUTEIH, KaTO
Hanpumep O0€H30JI WU pa3peuTel, uiu
KHUCEJIMHHY, aJIKaJIHU UK aOpa3uBHY IIpenapary,
UJIM XUMHUYECKa K'bPIIa 3a IOYUCTBAHE WIIU
ne3nH(eK1us], Thil KaTo I1ie NOBPEsT
OB BPXHOCTTA.

¢ 3non3BaiiTe MpeiocTaBeHNTe BUHTOBE 3a
MOHTHpaHe. AKO U3I0JI3BaTe BUHTOBE, Pa3INIHA
OT NPEJOCTaBEHNTE, BAHTOBETE MOXKE J1a CE
pa3xmnabsT u yCTPOICTBOTO MOXKe Jia IIajHe,
MIPUYUHIBANKY HApAHSBAHNUS.

3abenexku

¢ Bunaru npoBepsiBaiiTe fanu ypeabT padboTu
MpaBWIHO, Ipenn ma ro uznon3pare. SONY HE
HOCHU OTTOBOPHOCT 3A LHIETU OT
KAKBBTO U JA BMJIO BU/,
BKIIIOYMUTEIIHO, HO HE CAMO,
KOMITEHCALIMS NI OBE3IIETEHUE
3A BATYBA HA HACTOLAIIN UJIN
INIEPCIIEKTHBHMU ITEYAJIBU ITOPAIN
HEUN3ITIPABHOCT HA TO3U4 YPE UJIN
110 BPEME HA TAPAHLIMOHHU I
IIEPMO/, NI CIEJ N3TUNYAHE HA
TAPAHLUMATA, NI I10 KAKBATO 1 JA
BUIIO NPYTA ITPUYMHA.

SONY HE HOCH OTTOBOPHOCT 3A
KAJIBM OT KAKBBTO 1 JA BUJIO BU,
IIOJAJEHHM OT ITOTPEBUTEIIN HA
YPEJA UJIN OT TPETU CTPAHI.

SONY HE HOCH OTTOBOPHOCT 3A
ITPEKPATABAHETO HA YCIIYTU OT
KAKBBTO 1 1A BMJIO BU[1, CBbP3AHUA
CTO3U YPEN, B PE3YJITAT HA
OBCTOATEIICTBA OT KAKBBTO U 1A
BUIJIO BU/.

NMpukpenaHe KbM
MOHMTOpPA

OcurypeHu akcecoapu

e OcHoseH Moy (1)

e [Iuen Moy (1)

® M5 x 20 BunTOBe (4)

e M4 x 14 punToBe (4)

e Nncrpykuuu 3a ynorpeba (1)

¢ CnuchbK ¢ KOHTaKTH 3a cepBus (1)

[ 1i] MeTon 3a npukpensaHe

1

Crio0eTe cToiKaTa 3a MOHUTOP.

BxkapaiiTe OCHOBHMSI MOJTYJI B IIMAHUSI MOTTYT1 @
u ro (puKkcupanTe c mpepocrapeHnTe M5 x 20
BUHTOBE (4) @.

OcHoBeH MOy

ITocTaBeTe MOHUTOpA BBPXY MEKA K'bPIla U T.H.
U IpeMaxHeTe BUHTOBeTe M4 (4), KoraTo ca
IIPUKPEIICHU K'bM MOHHUTOPA.

IIpukpenere cToikaTa Ha MOHUTOpPA C
npefocraBenute M4 x 14 puntose (4).

MpuKpensaHe KbM MOHUTOPA 368G



Cneuundcdunkauum

Terno ITpu6n. 2,9 kr

Temnepatypa Ha chbXpaHEHHUE U TPAHCIOPTHPAHE:
ot -20 °C mo +60 °C

BraxxHOCT Ha C’hXpaHEeHNE U TPAHCIOPTHPAHE:
ot 20% 10 90%

Hansrane Ha chXpaHeHHe U TpaHCIOPTUPAHE:
ot 700 hPa mo 1060 hPa

Ju3aiiHbT U cenuUKaIMATE TOIJIeKaT Ha
mpoMmsiHa 6e3 pein3BecTue.

Pa3mepu

Mopyn: MM
350 100

=

\
J
100
© o o
o 1]
O[m
%
[e]e]
Ll L]

(%) o

309
366,5

Y

[aV]
2 J S
%—7—17 /] 7 I\ ™~
\ T g/ AT - I,
195 124
M5 80 M5
0oTBOp 165,1 OTBOpP

PerynupaHe Ha brona npu pabota

10° 20°
T

| |

MoxkeTe fa perynupare br'bjia, KaTo JbpXKUTe
ropHaTa H I0JIHaTa 4acT Ha MOHUTOPA.

BG 4 Cneundchmkaumm






022

Pted pouzitim pfistroje si tuto uZivatelskou prirucku
peclivé prostudujte a uchovejte si ji pro budouci potfebu.

Symboly na produktech

Informujte se v uzivatelské prirucce
V pripad¢ soucasti pristroje oznacenych
timto symbolem postupujte podle
pokynti uvedenych v uzivatelské
prirucce.

Tento symbol oznacuje vyrobce, a
objevuje se vedle nazvu a adresy vyrobce.

Tento symbol oznacuje dovozce a je
uveden vedle nazvu dovozce a adresy
jeho firemniho sidla.

Tento symbol oznacuje zastupce
Evropského spolecenstvi a je uveden v
blizkosti jména a adresy tohoto zastupce.

1 B &L

Tento symbol oznacuje odpoveédnou
osobu ve Velké Britanii a je uveden vedle
jména a adresy odpovédné osoby ve
Velké Britanii.

Tento symbol oznacuje svycarského
autorizovaného zastupce a je uveden
vedle jména a adresy Svycarského
autorizovaného zastupce.

i
I

Tento symbol v Evropském spolecenstvi
oznacuje 1ékatské zarizeni.

Tento symbol oznacuje sériové cCislo.

Tento symbol oznacuje datum vyroby.

Skladovaci a prepravni teplota
Tento symbol oznacuje ptijatelny rozsah
teploty pro skladovani a prepravu.

Skladovaci a prepravni vihkost
Tento symbol oznacuje ptijatelny rozsah
vlhkosti pro skladovani a pfepravu.

Skladovaci a prepravni tlak

Tento symbol oznacuje prijatelny rozsah
atmosférického tlaku pro skladovani a
prepravu.

Q@ ® ~E [

Upozornéni

V pripadé, ze se pristroje nebo prislusenstvi
zbavujete, musite se fidit zakony v prislusné zemi
nebo oblasti a nafizenimi v prislusné nemocnici,
které se tykaji znecisténi zivotniho prostredi.

Bezpec&nostni opatfeni

Pro zakazniky v Evropé

Tento vyrobek byl vyroben bud pfimo nebo v
zastoupeni spolec¢nosti Sony Corporation, 1-7-1
Konan Minato-ku Tokyo, 108-0075 Japonsko.
Dovozce do EU: Sony Europe B.V.

Zadosti tykajici se dovozce do EU nebo technickych
pozadavkl na vyrobky danymi smérnicemi
Evropské unie je tireba adresovat na
zplnomocnéného zastupce, kterym je Sony
Belgium, bijkantoor van Sony Europe B.V,, Da
Vincilaan 7-D1, 1930 Zaventem, Belgie.

[13]

Upozornéni

Bezpecnostni upozornéni a dalsi informace tykajici
se pouzivani produktu naleznete v navodu k pouZziti
monitoru.

[13]

Upozornéni

NepouZivejte toto zafizeni v prostiedi magnetické
rezonance (MR).

MiizZe to zplsobit poruchu, pozar nebo nezadouci
pohyb.

Bezpecnostni opatreni

Bezpecnost

¢ Toto je stojan pro LCD monitor Sony. Abyste
ovérili, zda je vas monitor kompatibilni s timto
zafizenim, nahlédnéte do navodu k pouziti
monitoru.

¢ Kdyz zvedate monitor, zvednéte spodni stranu
monitoru nebo spodek stojanu.

¢ Povrch Cistéte isopropylalkoholem o objemové
koncentraci 50 az 70 v/v% nebo etanolem o
objemové koncentraci 76,9 az 81,4 v/v% pomoci
stérové metody.

¢ Odolné skvrny miiZzete odstranit mékkym
hadfikem, napfiklad Cisticim hadfikem lehce
navlhéenym v mirném Cisticim roztoku stérovou
metodou, poté provedte CiSténi pomoci vyse
uvedeného chemického roztoku.
K cisténi nebo desinfikovani nikdy nepouzivejte
rozpoustédla, jako je benzen nebo fedidlo, nebo
kyselé, zasadité ¢i abrazivni Cistici prostfedky,
pfipadné chemické Cistici hadfiky, mohlo by dojit
k poskozeni povrchu.

¢ K montazi pouzijte dodané Srouby. Pokud byste
pouzili jiné neZ dodané Srouby, mohlo by dojit k
uvolnéni Sroubi a k padu zafizeni, coz by mohlo
zpusobit poranéni.



Poznamky

e Pfed pouzitim vzdy zkontrolujte, zda jednotka
pracuje spravné. SPOLECNOST SONY
NEBUDE ZODPOVIDAT ZA SKODY
JAKEHOKOLI DRUHU, MEZI NEZ PATRI
KOMPENZACE CI NAHRADA ZTRATY
STAVAJICICH NEBO
PREDPOKLADANYCH ZISKU V
DUSLEDKU ZAVADY TETO JEDNOTKY, A
TO BEHEM PLATNOSTI ZARUKY ANI PO
JEJIM UPLYNUTI, ANI Z JAKYCHKOLI
JINYCH DUVODU.

SPOLECNOST SONY NEBUDE
ZODPOVIDAT ZA REKLAMACE ZE
STRANY UZIVATELU TETO JEDNOTKY
ANI TRETICH STRAN.

SPOLECNOST SONY NEBUDE
ZODPOVIDAT ZA UKONCENI NEBO
PRERUSENI JAKYCHKOLI SLUZEB
SOUVISEJICICH S TOUTO JEDNOTKOU V
DUSLEDKU OKOLNOSTI JAKEHOKOLI
DRUHU.

Pripojeni kK monitoru

Dodavané prislusenstvi

¢ Jednotka zakladny (1)

e Jednotka drzaku (1)

e Srouby M5 x 20 (4)

e Srouby M4 x 14 (4)

e Uzivatelska ptirucka (1)

¢ Kontaktni seznam servisnich center (1)

[:E] Zpusob pripojeni

1 Smontujte stojan monitoru.

Vlozte jednotku zédkladny do jednotky drzaku
© a pripevnéte je pomoci dodanych Sroubt
MS5 x 20 (4) @.

Jednotka zdkladny

2 Polozte monitor na mékkou litku apod. a
demontujte Srouby M4 (4), které jsou pripojené
k monitoru.

3 Pripevnéte stojan monitoru pomoci dodanych
sroubli M4 x 14 (4).

PFipojeni k monitoru 3 cz



CZ4

Specifikace

Hmotnost P1ibl. 2,9 kg

Teplota pro skladovani a prepravu
-20°C az +60 °C

Vlhkost pro skladovani a prepravu
20 % az 90 %

Tlak pro skladovani a prepravu
700 hPa az 1 060 hPa

Vzhled a specifikace se mohou zménit bez
upozornéni.

Rozmeéry
Jednotka: mm
350 100

100

— Otvor
| é / [ M4
) o i

309
366,5

0 a o
[To] [{e]

‘ ‘ < O/ © =
195 124 ™ N
Otvor 80 otvor &

M5 165,1 M5

Uprava provozniho tGhlu

10°,20°
—f

| |

Uhel mizZete upravit uchopenim horni a spodni ¢asti
monitoru.

Specifikace






HU2

Az egység hasznalatbavétele el6tt figyelmesen olvassa
el ezt a kézikonyvet és Grizze meg utdnanézoként.

A termékeken talalhaté szimbolumok

Olvassa el a hasznalati utmutatot
A késziilék e szimbolummal jelolt
részeivel kapcsolatban kovesse a
hasznalati itmutatdban leirtakat.

Ez a szimbolum a gyartot jeloli, és a
gyartd neve és cime mellett talalhato.

Ez a szimbdlum az importdrt jeloli és az
import6r neve és bejegyzett irodai cime
mellett all.

i

Ez a szimbo6lum az Eurépai Kozosség
képviselGjét jeloli és az Eurdpai
Kozosség képvisel§jének neve és cime
mellett lathato.

m
2}

Ez a szimbdlum az Egyesiilt Kiralysag
felelGs személyét jeloli és az Egyesiilt
Kiralysag felelds személye neve és cime
mellett all.

[rep] Ez a szimbolum a svéjei meghatalmazott
képviselGt jeldli és a svajci
meghatalmazott képviselS neve és cime
mellett all.

(2]
=

Ez a szimbdélum az orvostechnikai
késziiléket jeloli az Eurépai Kozosségben.

Ez a szimbo6lum a gyari szamot jeloli.
Ez a szimbo6lum a gyartasi datumot jeloli.
Tarolasi és szallitasi hmérséklet
Ez aszimbdlum a tarolas €s szallitas soran

megengedett hdmérséklettartomanyt
jeloli.

~ kg B

Tarolasi és szallitasi légnedvesség
Ez aszimbdlum a tarolas és szallitas soran
megengedett 1égnedvességtartomanyt
jeloli.

&)

Tarolasi és szallitasi légnyomas
Ez aszimbdlum a tarolas és szallitas soran
megengedett Iégnyomastartomanyt jeldli.

6]

Figyelem

A késziilék €s tartozékainak kidobasakor az illetd
orszag vagy térség hatalyos torvényeinek, illetve az
illet6 korhaz kornyezetvédelmi elGirasainak
megfelelSen jarjon el.

Ovintézkedések

Eurépai uigyfeleinknek

Ezt a terméket a Sony Corporation vagy
megbizottja gyartotta, 1-7-1 Konan Minato-ku
Tokyo, 108-0075 Japan.

EU-import6r: Sony Europe B.V.

Az EU importorrel vagy az Eurépai
termékbiztonsaggal kapcsolatos kérdéseket a
gyarto6 jogosult képviselojének kell kiildeni, Sony
Belgium, bijkantoor van Sony Europe B.V,, Da
Vincilaan 7-D1, 1930 Zaventem, Belgium.

[13]

Figyelem

A termék hasznalatara vonatkozé tovabbi
informéaciokért €s figyelmeztetésekért olvassa el a
monitor Hasznalati itmutatéjat.

(T3]

Figyelem

Ne hasznalja a késziiléket MR (magneses
rezonancias) vizsgalati kornyezetben.

Az ilyen kornyezet miikodési hibat, tiizet €s nem
kivant elmozdulasokat okozhat.

Ovintézkedések

Biztonsag

e Ez a Sony LCD-monitor allvanya. Annak
ellendrzéséhez, hogy monitora kompatibilis-e
ezzel az egységgel, tekintse meg a monitor
hasznalati Gtmutatdjat.

¢ A monitor felemelésekor a monitor alsé részét
vagy az allvany aljat emelje meg.

¢ A termék feliiletét 50-70 v/v% koncentraciéju
izopropil-alkohollal vagy 76,9-81,4 v/v%
koncentracidju etanollal, torléssel tisztitsa.

¢ A makacs szennyezddéseket enyhén
megnedvesitett puha kend6vel — példaul hig
tisztitdszeres oldattal enyhén megnedvesitett
tisztitokenddvel — végzett torléssel tavolitsa el,
majd tisztitsa meg a fent megadott tisztitooldattal.
Soha ne hasznaljon oldoszert, példaul benzolt,
higitot, savat, ldgot vagy suroldszert, valamint
vegyszeres rongyot a tisztitdshoz vagy a
fert6tlenitéshez, mivel ezek karosithatjak a
termék feliiletét.

¢ A felszereléshez hasznalja a mellékelt csavarokat.

Ha nem a mellékelt csavarokat hasznalja, a
csavarok meglazulhatnak, az eszkoz pedig leeshet
és sériilést okozhat.



Megjegyzések

e Hasznalat elStt mindig ellendrizze, hogy az

egység megfeleléen mikodik-e. A SONY NEM

VALLAL FELELOSSEGET SEMMILYEN

KARESEMENYERT, TOBBEK KOZOTT,

DE NEM KIZAROLAGOS JELLEGGEL

NEM VALLAL SEMMILYEN

KOMPENZACIOT VAGY

VISSZATERITEST SEMMI OLYAN

JELENLEGI VAGY JOVOBENI

PROFITVESZTESERT, AMELYET A

KESZULEK HIBAJA OKOZOTT A

JOTALLASI IDO LEJARTA ELOTT VAGY

AZUTAN, VAGY VALAMILYEN ETTOL

FUGGETLEN OKBOL KOVETKEZETT BE.

A SONY NEM VALLAL FELELOSSEGET A

KESZULEK FELHASZNALOI VAGY EGY

HARMADIK FEL ALTAL BENYUJTOTT

BARMELY KARTERITESI IGENYERT.

e ASONY NEM VALLAL FELELOSSEGET A
KESZULEKHEZ KAPCSOLODO
SZOLGALTATASOK BARMILYEN
KORULMENYBOL EREDO
MEGSZAKADASAERT VAGY
MEGSZUNTETESEERT.

A monitorhoz valo
csatlakoztatas

Mellékelt tartozékok

e Alapegység (1)

¢ Nyakegység (1)

e M5 x 20 csavarok (4)

e M4 x 14 csavarok (4)

e Hasznalati utmutato (1)

e Szervizek elérhetGségének listaja (1)

EE] A csatlakoztatas médja

1  Allitsa 6ssze a monitorallvanyt.

Helyezze az alapegységet a nyakegységre @, €s
rogzitse a mellékelt M5 x 20 csavarokkal (4) @.

Helyezze a monitort egy puha rongyra stb., és
tavolitsa el az M4 csavarokat (4), ha azok a
monitorhoz vannak rogzitve.

Csatlakoztassa a monitorallvanyt a mellékelt
M4 x 14 csavarokkal (4).

A monitorhoz valé csatlakoztatas

3HU



Miszaki adatok

Tomeg Kb. 2,9 kg
Tarolasi és szallitasi hGmérséklet
—20°C és +60°C kozott

Tarolasi €s szallitasi paratartalom

20% €s 90% kozott
Taroléasi €s szallitasi nyomas

700 hPa és 1 060 hPa kozott

A kialakitas és a miiszaki adatok elézetes bejelentés
nélkiil megvaltozhatnak.

Méretek
Egység: mm
350

100

g J
— M4
/ [ furat
o) ° [ 00
©
(2] ©
o ™
m o o
\’ . A .
3 J o
————— /T —17 /] 7 I\ ~
\ T 3L A o o<t
195 124 A
M5 80 M5
furat 165,1 furat

Uzemi szég beallitasa

10° 20°

| |

A sz0Og beallitasahoz tartsa a monitor tetejét €s aljat.

HU 4 Mdszaki adatok






Przed rozpoczeciem eksploatacji tego urzadzenia
prosimy o dokladne zapoznanie si¢ z niniejsza
instrukcjg. Prosimy ponadto o zachowanie instrukcji
do wykorzystania w przysztosci.

Symbole na produkcie

Zapoznaj sie z instrukcjg obstugi
W przypadku elementow urzadzenia
oznaczonych tym symbolem postepuj
zgodnie z instrukcja obstugi.

Ten symbol wskazuje producenta i jest
umieszczony obok nazwy i adresu
producenta.

Ten symbol wskazuje importera i jest
umieszczony obok nazwy importera i
adresu jego siedziby.

H @ L

Ten symbol wskazuje przedstawiciela na
terenie Wspolnoty Europejskiej i pojawia
si¢ obok imienia, nazwiska i adresu
przedstawiciela.

Ten symbol wskazuje osobg
odpowiedzialng w Wielkiej Brytanii i jest
umieszczony obok imienia i nazwiska
oraz adresu osoby odpowiedzialnej w
Wielkiej Brytanii.

Ten symbol wskazuje autoryzowanego
przedstawiciela w Szwajcarii i jest
umieszczony obok imienia i nazwiska
oraz adresu autoryzowanego
przedstawiciela w Szwajcarii.

o
=

Ten symbol wskazuje urzadzenie
medyczne we Wspdlnocie Europejskie;j.

Ten symbol wskazuje numer seryjny.

Ten symbol wskazuje date produkcji.

Temperatura otoczenia podczas
przechowywania i transportu

Ten symbol wskazuje dopuszczalny
zakres temperatur otoczenia podczas
przechowywania i transportu.

~ & g [5

%) Wilgotnosé otoczenia podczas
przechowywania i transportu
Ten symbol wskazuje dopuszczalny
zakres wilgotnosci otoczenia podczas
przechowywania i transportu.

Srodki ostroznosci

Cisnienie otoczenia podczas
przechowywania i transportu

Ten symbol wskazuje dopuszczalny

zakres ciSnienia atmosferycznego

otoczenia podczas przechowywania i
transportu.

Uwaga

Urzadzenie i akcesoria nalezy utylizowac zgodnie z
prawem obowigzujagcym w danym regionie lub kraju
oraz przepisami w zakresie zapobiegania
zanieczyszczeniu Srodowiska obowiazujacymi w
danym szpitalu.

Dla klientéw w Europie

Ten produkt zostal wyprodukowany przez firme¢
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo,
108-0075 Japonia lub na jej rzecz.

Importer w UE: Sony Europe B.V.

Zapytania do importera w UE i zapytania dotyczace
zgodnosci produktu w Europie nalezy kierowac do
autoryzowanego przedstawiciela producenta: Sony
Belgium, bijkantoor van Sony Europe B.V,, Da
Vincilaan 7-D1, 1930 Zaventem, Belgia.

[13]

Uwaga
Przestrogi oraz szczegotowe informacje na temat

uzywania tego produktu sg zawarte w Instrukcji
obstugi monitora.

[13]

Uwaga

Nie uzywac urzadzenia w srodowisku rezonansu
magnetycznego.

Moze to spowodowac wadliwe dziatanie, pozar i
niepozadane przemieszczanie.

Srodki ostroznosci

Bezpieczenstwo

¢ To jest stojak przeznaczony do monitora LCD
Sony. W celu sprawdzenia, czy dany monitor jest
zgodny z tym stojakiem, nalezy odnies¢ si¢ do
instrukcji obstugi monitora.

® W przypadku podnoszenia monitora podnosi¢ za
dolna czes$¢ monitora lub stojaka.

e Czysci¢ powierzchnig roztworem 50-70 v/v%
alkoholu izopropylowego albo roztworem
76,9-81,4 v/v% etanolu poprzez przecieranie.

¢ Uporczywe plamy mozna usungc za pomocg
mic¢kkiej szmatki lekko zwilzonej roztworem
fagodnego detergentu poprzez przecieranie, a



nastepnie wyczyszczenie za pomocg roztworu
detergentu.
Nigdy nie uzywac rozpuszczalnikéw takich jak
benzen czy rozcienczalnik, detergentéw
kwasnych, zasadowych lub §ciernych ani
chusteczek nasaczonych preparatami
chemicznymi do czyszczenia lub dezynfekcji,
poniewaz spowoduja one zniszczenie powierzchni.
¢ Do montazu uzy¢ dostarczonych Srub. W
przypadku uzycia Srub innych niz dostarczone,
sruby moga si¢ poluzowac, a urzadzenie moze
spas¢, powodujac obrazenia.

Uwagi

® Przed uzyciem nalezy zawsze sprawdzic, czy
urzadzenie dziata prawidtowo.

FIRMA SONY NIE PONOSI
ODPOWIEDZIALNOSCI ZA
JAKIEKOLWIEK SZKODY, W TYM
MIEDZY INNYMI ODSZKODOWANIA
LUB ZWROT KOSZTOW Z TYTULU
UTRATY OBECNYCH LUB PRZYSZtL.YCH
ZYSKOW Z POWODU AWARII TEGO
URZADZENIA W OKRESIE OBJETYM
GWARANCIJA LUB PO NIM, LUB Z
JAKIEGOKOLWIEK INNEGO POWODU.
FIRMA SONY NIE PONOSI
ODPOWIEDZIALNOSCI ZA
JAKIEKOLWIEK ROSZCZENIA
PRZEDSTAWIONE PRZEZ
UZYTKOWNIKOW TEGO URZADZENIA
LUB PRZEZ OSOBY TRZECIE.

FIRMA SONY NIE PONOSI
ODPOWIEDZIALNOSCI ZA
ZAKONCZENIE LUB PRZERWANIE
JAKICHKOLWIEK USt.UG ZWIAZANYCH
Z TYM URZADZENIEM, KTORE MOGA
WYNIKNAC W ZWIAZKU Z
OKOLICZNOSCIAMI DOWOLNEGO
RODZAIJU.

Montaz do monitora

Dostarczone akcesoria

¢ Podstawa (1)

* Wysiegnik (1)

e Sruby M5 x 20 (4)

e Sruby M4 x 14 (4)

e Instrukcja obstugi (1)

e Lista kontaktoéw serwisowych (1)

EE] Metoda montazu

1 Zmontowaé stojak monitora.

Witozy¢ podstawe do wysiegnika @ i
zamocowac za pomoca dostarczonych §rub
M5 x 20 (4) @.

Podstawa

2 Potozy¢ monitor na migkkiej tkaninie itp. i

wykrecic sruby M4 (4), jesli sa wkrecone do
monitora.

3 Zamontowaé stojak monitora za pomocg

dostarczonych s§rub M4 x 14 (4).

1

| ¢
>

”
z
>

e

"

TR

/
Mickka
tkanina

Montaz do monitora 3 PL



PL4

Specyfikacja

Waga Ok.29 kg

Temperatura podczas przechowywania i transportu
od -20°C do +60°C

Wilgotnos¢ podczas przechowywania i transportu
od 20% do 90%

Cisnienie podczas przechowywania i transportu
od 700 hPa do 1 060 hPa

Projekt i dane techniczne mogg ulec zmianie bez
powiadomienia.

Wymiary
Jednostka: mm
350 100

100

= Otwor
i é / [ M4
) o i

309
366,5

i o
L9 -
(o]
| —— ——— | © 1 ? 7 I\ J ~
‘ | Er) O/ A ) o) <t
195 124 o

Otwor 80 Otwor

M5 165,1 M5

Regulacja kata

10° 20°

| |

Mozna wyregulowac kat, przytrzymujac gorng i
dolng czgs$¢ monitora.

Specyfikacja






R02

Romana

Inainte de punerea in functiune a unitatii, va rugdm
sa cititi cu atentie acest manual si sa-1 pastrati pentru
consultare ulterioara.

Simboluri pe produse

Consultati instructiunile de utilizare
Respectati indicatiile din instructiunile
de utilizare pentru componentele unitatii
pe care apare acest simbol.

Acest simbol indica producidtorul si apare
langa numele si adresa producatorului.

Acest simbol indicd importatorul si apare
langa numele importatorului si sediul
social al acestuia.

@ L

Acest simbol indica reprezentantul
Comunitatii Europene si se gaseste langa
numele si adresa reprezentantului
Comunitatii Europene.

m
(2]

Acest simbol indica Persoana
responsabila din Marea Britanie si apare
langa numele si adresa Persoanei
responsabile din Marea Britanie.

Acest simbol indica reprezentantul
autorizat din Elvetia si apare langa
numele si adresa reprezentantului
autorizat din Elvetia.

ﬂ
x

Acest simbol indica dispozitivul medical
in Comunitatea Europeana.

Acest simbol indica numarul de serie.

Acest simbol indica data de fabricare.

Temperatura de depozitare si
transport

Acest simbol indica intervalul acceptabil
de temperatura pentru medii de stocare si
transport.

~ & ¢ [5

Umiditate de depozitare si transport
Acest simbol indica intervalul acceptabil
de umiditate pentru medii de stocare si
transport.

&)

Presiune de depozitare si transport
Acest simbol indicd intervalul acceptabil
de presiune atmosferica pentru medii de
stocare si transport.

6]

Atentie

La dezafectarea unitatii sau a accesoriilor, este
necesar sa respectati legile din zona sau tara in care
va aflati si reglementarile spitalului in ceea ce
priveste poluarea mediului.

Masuri de precautie

Pentru clientii din Europa

Acest produs a fost fabricat de catre sau in numele
Sony Corporation, 1-7-1 Konan Minato-ku Tokyo,
108-0075, Japonia.

Importator UE: Sony Europe B.V.

Intrebadrile citre importatorul UE sau intrebarile
referitoare la conformitatea produsului in Europase
trimit catre reprezentantul autorizat al
producatorului, Sony Belgium, bijkantoor van Sony
Europe B.V, Da Vincilaan 7-D1, 1930 Zaventem,
Belgia.

[13]

Atentie

Pentru avertizari si informatii suplimentare
referitoare la utilizarea acestui produs, consultati
Instructiunile de utilizare pentru monitor.

[13]

Atentie

Nu utilizati dispozitivul intr-un mediu cu rezonanta
magnetica (RM).

Se pot produce defectiuni, incendii si miscari
nedorite.

Masuri de precautie

Despre siguranta

e Acesta este standul pentru monitorul LCD de la
Sony. Pentru a confirma daca monitorul este
compatibil cu aceasta unitate, consultati
instructiunile de utilizare a monitorului.

¢ Atunci cand ridicati monitorul, ridicati partea
inferioara a acestuia sau partea inferioara a
standului.

¢ Curéitati suprafata cu o concentratie de 50 la
70 v/v% de alcool izopropilic sau o concentratie de
76,9 1a 81,4 v/v% de etanol, prin metoda tamponarii.

e Petele persistente pot fi indepartate cu o carpa
moale, precum o carpa de curdtat usor umezita cu
o solutie de detergent folosind metoda tampondrii
si apoi curdtate folosind solutia chimicd de mai sus.
Nu folositi solventi precum benzen sau diluant,
acid, detergent alcalin sau abraziv sau carpe de
curatare chimica sau de dezinfectare, intrucat
acestea vor deteriora suprafata.

e Utilizati suruburile incluse pentru montare. Dacd
utilizati alte suruburi decat cele incluse, acestea se
pot slabi, iar dispozitivul poate cadea provocand
vatamari.



Note

* Verificati intotdeauna inainte de utilizare daca
unitatea functioneaza corect. SONY NU VA FI
RASPUNZATOARE PENTRU NICIUN FEL DE
PAGUBE INCLUSIV, DAR FARA A SE LIMITA
LA, COMPENSATII SAU RAMBURSARI CA
URMARE A PIERDERII PROFITURILOR
PREZENTE SAU VIITOARE CAUZATE DE
DEFECTAREA ACESTEI UNITATI, IN TIMPUL
PERIOADEI DE GARANTIE, DUPA
EXPIRAREA GARANTIEI SAU PENTRU
ORICE ALT MOTIV.

e SONY NU VA FI RASPUNZATOARE
PENTRU NICIUN FEL DE RECLAMATII
FACUTE DE UTILIZATORII ACESTEI
UNITATI SAU DE TERTL

e SONY NU VA FI RASPUNZATOARE
PENTRU INCHEIEREA SAU
INTRERUPEREA NICIUNUI SERVICIU
LEGAT DE ACEASTA UNITATE, CAUZATE
DE CIRCUMSTANTE DE ORICE FEL.

Atasarea la monitor

Accesorii incluse

¢ Unitate de baza (1)

e Unitate de fixare (1)

e Suruburi M5 x 20 (4)

e Suruburi M4 x 14 (4)

e Instructiuni de utilizare (1)

e Lista de contacte pentru Service (1)

[ 1i] Metoda de atasare

1 Asamblati standul monitorului.

Introduceti unitatea de baza in unitatea de
fixare @ si fixati-o cu suruburile M5 x 20 (4)
incluse @.

Unitate de baza

Asezati monitorul pe o carpa moale etc. si
indepartati suruburile M4 (4) dacé sunt atasate
la monitor.

Atasati standul monitorului cu suruburile
M4 x 14 (4) incluse.

Atasarea la monitor

3RO




RO4

Specificatii

Masa Aprox. 29 kg
Temperatura de depozitare si transport
—20°C-+60 °C

Umiditate de depozitare si transport
20% - 90%

Presiune de depozitare si transport
700 hPa - 1.060 hPa

Designul si specificatiile pot fi modificate fara
notificare prealabila.

Dimensiuni
Unitate: mm
350

100

309
366,5

— Oa‘iciu
i / , M4
é o) ° // 00
S Zﬂ

(aV]
9 J ©
%—7—17 i 7 I\ ~
\ T 3L A o o<t
195 124 N o
Orificiu 80 Orificiu
M5 165,1 M5

Reglare unghi de functionare

10° 20°

| |

Puteti regla unghiul tinand de partea superioara si
inferioara ale monitorului.

Specificatii






Slovenscina

Pred uporabo naprave pozorno preberite ta
navodila in jih shranite za prihodnjo uporabo.

Simboli na izdelkih

Glejte navodila za uporabo

Za dele naprave, pri katerih je prikazan
ta simbol, upostevajte napotke v
navodilih za uporabo.

Ta simbol oznacuje izdelovalca in je
prikazan zraven njegovega imena in
naslova.

Ta simbol oznacuje uvoznika in je
naveden poleg imena ter naslova
registriranega sedeza uvoznika.

H @ E

Ta simbol oznacuje predstavnika
Evropske skupnosti in je prikazan zraven
imena in naslova predstavnika Evropske
skupnosti.

Ta simbol oznacuje odgovorno osebo v
ZdruZenem kraljestvu ter je naveden ob
imenu in naslovu odgovorne osebe v
Zdruzenem kraljestvu.

Ta simbol oznacuje Svicarskega
pooblascenega zastopnika ter je naveden
ob imenu in naslovu Svicarskega
pooblascenega zastopnika.

(2]
=

Ta simbol oznacuje medicinski
pripomocek v Evropski skupnosti.

Ta simbol oznacuje serijsko Stevilko.

Ta simbol oznacuje datum proizvodnje.

Temperatura med shranjevanjem in
prevozom

Ta simbol oznacuje razpon temperature,
ki je sprejemljiv za okolje shranjevanja in
prevoza.

~ & ¢ [

Vlaznost med shranjevanjem in
prevozom

Ta simbol oznacuje razpon vlaznosti, ki je
sprejemljiv za okolje shranjevanja in
prevoza.

&)

Tlak med shranjevanjem in prevozom
Ta simbol oznacuje razpon
atmosferskega tlaka, ki je sprejemljiv za
okolje shranjevanja in prevoza.

6]

Previdnostni ukrepi

Opozorilo

Enoto ali pripomocke je potrebno zavreci v skladu z
drzavnimi ali obmoc¢nimi zakoni in predpisi
navedene bolniSnice v povezavi z onesnaZevanjem
okolja.

Za stranke v Evropi

Ta izdelek je bil izdelan s strani ali vimenu
korporacije Sony, 1-7-1 Konan Minato-ku Tokyo,
108-0075 Japonska.

Uvoznik v EU: Sony Europe B.V.

Poizvedbe pri uvozniku v EU ali v zvezi s
skladnostjo izdelkov v Evropi se naslovi na
pooblascenega zastopnika, Sony Belgium,
bijkantoor van Sony Europe B.V,, Da Vincilaan
7-D1, 1930 Zaventem, Belgija.

[13]

Opozorilo

Za opozorila in dodatne informacije o uporabi tega
izdelka glejte navodila za uporabo monitorja.

[13]

Opozorilo

Naprave ne uporabljajte v magnetnoresonanénem
(MR) okolju.

Na ta nacin lahko pride do okvare, pozara in
nezelenega premikanja.

Previdnostni ukrepi

Varnost

¢ To je stojalo za monitor Sony LCD. Zdruzljivost
vaSega monitorja s tem stojalom preverite
v navodilih za uporabo monitorja.

¢ Ko dvignete monitor, dvignite spodnjo stranico
monitorja ali spodnjo stranico stojala.

e Zascitno steklo/zunanje povrsine monitorja Cistite
s 50 do 70 v/v% raztopino izopropilnega alkohola
ali 76,9 do 81,4 v/v% raztopino etanola.

Po ciscenju povrsine preverite z brisom.

¢ Trdovratne madeZe lahko odstranite z mehko
krpo, npr. s Cistilno krpo, ki jo rahlo navlazite
z raztopino detergenta, ter neznim brisanjem.
Po tem dokoncajte Cis¢enje s prej omenjeno
kemicno raztopino.

Nikoli ne uporabljajte topil, ko sta benzen

ali razredcilo, kislinske, alkalne ali jedke
detergente oz. kemicne Cistilne krpe za Ciscenje
ali dezinfekcijo, ker s tem poskodujete povrsine
monitorja.

e Za montazo uporabite priloZene vijake.

Ce uporabite druge vijake, se lahko razrahljajo



in naprava lahko pade ter povzroci telesne
poskodbe.

Opombe

e Pred uporabo se zmeraj prepricajte, da naprava
deluje pravilno. SONY NE ODGOVARIJA ZA
NOBENO SKODO, VKLJUCNO Z,
VENDAR NE OMEJENO NA,
ODSKODNINO ALI VRACILO DENARJA
ZARADI IZGUBE SEDANJEGA ALI
PREDVIDENEGA DOBICKA ZARADI
ODPOVEDI DELOVANJA TE NAPRAVE
MED GARANCIJISKO DOBO ALI PO
NJENEM IZTEKU ALI ZARADI
KAKRSNEGA KOLI DRUGEGA
RAZLOGA.

e SONY NE ODGOVARJA ZA NOBENE
ZAHTEVKE UPORABNIKOV TE ENOTE
ALI TRETJIH OSEB.

e SONY NE ODGOVARJA ZA PREKINITEV
ALI UKINITEV KATERE KOLI STORITVE,
KIJE POVEZANA S TO ENOTO IN DO
KATERE LAHKO PRIDE ZARADI
KAKRSNIH KOLI OKOLISCIN.

Pritrditev na monitor

Prilozena dodatna oprema

e Osnovna enota (1)

¢ Nosilna enota (1)

e Vijaki M5 x 20 (4)

e Vijaki M4 x 14 (4)

¢ Navodila za uporabo (1)

® Seznam kontaktnih podatkov ponudnikov storitev
in servisa (1)

[:E] Nagéin pritrditve

1 Sestavite stojalo za monitor.

Osnovno enoto vstavite v nosilno enoto @ in jo
pritrdite s prilozenimi vijaki M5 x 20 (4) @.

Osnovna enota

Monitor polozite na mehko krpo ipd. ter
odstranite vijake M4 (4), Ce so pritrjeni na
monitor.

Pritrdite stojalo za monitor s priloZenimi vijaki
M4 x 14 (4).

Pritrditev na monitor

38I



SI4

Specifikacije

Teza Pribl. 2,9 kg
Temperatura za shranjevanje in transport
—20 °Cdo +60 °C

Vlaznost za shranjevanje in transport
20 % do 90 %

Tlak za shranjevanje in transport
700 hPa do 1060 hPa

Oblikovanje in specifikacije se lahko spremenijo
brez predhodnega obvestila.

Mere
Enota: mm
350 100

=

<
J
100
© o o
o 1]
B
0d
Ll L]
(-] (]

(%) o

309
366,5

Y

0 N
[Te] J [(e]
———— T — Y i 7 I\ ~
‘ T < O/ A o g, <
195 124 o
Luknja 80 Luknja
M5 165,1 M5

Prilagajanje nagiba monitorja

10°

20°

| |

Nagib monitorja lahko prilagodite tako, da primete
zgornjo in spodnjo stranico monitorja.

Specifikacije






Slovensky

Nez zacnete pristroj pouZzivaf, precitajte si pozorne
tato prirucku a uschovajte si ju pre budicu potrebu.

Symboly na produkte

Pozrite si navod na obsluhu
Postupujte podla pokynov v navode na
obsluhu pre ¢asti zariadenia, na ktorych
sa tento symbol objavi.

Tento symbol oznacuje vyrobcu a
vyskytuje sa vedla mena a adresy vyrobcu.

Tento symbol oznacuje dovozcu a
zobrazuje sa vedla jeho mena a adresy
sidla.

& E

Tento symbol oznacuje zastupcu
Eurdpskeho spolocenstva a objavuje sa
vedla nazvu a adresy zastupcu
Eurépskeho spolocenstva.

m
(2]

Tento symbol oznacuje zodpovednil
osobu Spojeného kralovstva a zobrazuje
sa vedla mena a adresy zodpovedne;j
osoby Spojeného kralovstva.

ﬂ
x

Tento symbol oznacuje splnomocneného
zastupcu Svajéiarska a zobrazuje sa vedla
mena a adresy splnomocneného zastupcu
Svajéiarska.

Tento symbol oznacuje zdravotnicke
zariadenie v Eurépskom spolocenstve.

Tento symbol oznacuje sériové Cislo.

Tento symbol oznacuje datum vyroby.

Skladovacia a prepravna teplota
Tento symbol oznacuje prijatelny rozsah
teplot prostredia na skladovanie a
prepravu.

~ & g [5

Skladovacia a prepravna vihkost
Tento symbol oznacuje prijatelny rozsah
vlhkosti prostredia na skladovanie a
prepravu.

&)

Skladovaci a prepravny tlak

Tento symbol oznacuje prijatelny rozsah
atmosférického tlaku prostredia na
skladovanie a prepravu.

6]

Preventivne opatrenia

Upozornenie

Pri likvidacii zariadenia alebo prislusenstva je
potrebné dodrzZiavat zakony prislusnej oblasti alebo
krajiny a nariadenia prisluSnej nemocnice o
znecisteni Zivotného prostredia.

Pre zakaznikov v Eurépe

Tento vyrobok bol vyrobeny spolo¢nostou (alebo
pre spolo¢nost) Sony, 1-7-1 Konan Minato-ku
Tokyo, 108-0075 Japonsko.

Dovozca pre EU: Sony Europe B.V.

Otazky ¢i vyrobok vyhovuje poziadavkam podla
legislativy Eur6pskej tinie treba adresovat na
autorizovaného zastupcu Sony Belgium, bijkantoor
van Sony Europe B.V,, Da Vincilaan 7-D1, 1930
Zaventem, Belgicko.

[13]

Upozornenie

Upozornenia a dalSie informacie o pouZzivani tohto
produktu najdete v ndvode na obsluhu monitora.

[13]

Upozornenie

NepouZzivajte pristroj v prostredi magneticke;j
rezonancie.

Mohlo by to sposobit poruchu, poZziar a
nevyziadany pohyb.

Preventivne opatrenia

Informacie o bezpecnosti

e Tento stojan je uréeny pre monitor LCD od
spolo¢nosti Sony. Ak chcete potvrdit, Ci je vas
monitor kompatibilny s tymto zariadenim, pozrite
si navod na pouzivanie monitora.

¢ Pri zdvihani monitora zdvihajte spodnu stranu
monitora alebo spodnt Cast stojana.

e Povrch Cistite roztokom izopropylalkoholu s
koncentraciou 50 az 70 v/v% alebo etanolu s
koncentraciou 76,9 az 81,4 v/v% spdsobom
stierania.

e Tazko odstranitelné skvrny mozno odstranit
jemnou handrickou, napriklad handrickou na
Cistenie mierne navlh¢enou v jemnom roztoku
Cistiaceho prostriedku, sposobom stierania a
naslednym utretim povrchu pomocou vyssie
uvedenych chemikalii.

Nikdy nepouzivajte rozpustadla, ako napriklad
benzén alebo riedidlo, kyselinu, alkalické alebo
abrazivne Cistiace prostriedky, ani Cistiace alebo
dezinfekcné handricky napustené chemickymi
latkami, pretoZe poskodia povrch stojana.



e Na montaz pouzite dodané skrutky. Ak pouZzijete
iné ako dodané skrutky, mozu sa uvolnit a
zariadenie m6ze padom spOsobif zranenie.

Poznamky

¢ Pred pouzitim vzdy skontrolujte, ¢i zariadenie
spravne pracuje. SPOLOCNOST SONY
NEZODPOVEDA ZA SKODY
AKEHOKOLVEK DRUHU, VRATANE A
BEZ OBMEDZENIA, ODSKODNENIA
ALEBO VRATENIA PENAZI NA UCET Z
DOVODU STRATY SUCASNEHO ALEBO
BUDUCEHO ZISKU KVOLI PORUCHE
TOHTO PRISTROJA A TO BUD V OBDOBI
ZARUCNEJ LEHOTY ALEBO PO JEJ
UPLYNUTI ALEBO Z AKEHOKOLVEK
INEHO DOVODU.

¢ SPOLOCNOST SONY NEZODPOVEDA ZA
ZIADNE NAROKY VZNESENE
POUZIVATEIMI TOHTO ZARIADENIA
ANI TRETIMI STRANAML

¢ SPOLOCNOST SONY NEZODPOVEDA ZA
UKONCENIE ANI PRERUSENIE
POSKYTOVANIA ZIADNYCH SLUZIEB
SUVISIACICH S TYMTO ZARIADENIM,
KTORE MOZE BYT SPOSOBENE
AKYMIKOLVEK OKOLNOSTAML

Pripevnenie k monitoru

Dodané prislusenstvo

¢ Podstavec (1)

* Stipik (1)

e Skrutky M5 x 20 (4)

e Skrutky M4 x 14 (4)

e Navod na obsluhu (1)

e Zoznam servisnych stredisk (1)

[:E] Spodsob pripevnenia

1 Zmontujte stojan monitora.

Zasuiite podstavec do stipika @ a zaistite ho
dodanymi skrutkami M5 x 20 (4) @.

Podstavec

2 Umiestnite monitor na jemndu tkaninu a

odskrutkujte skrutky M4 (4) (ak st
priskrutkované k monitoru).

3 Pripevnite stojan na monitor pomocou

dodanych skrutick M4 x 14 (4).

I
L
_ Jé?’
/
Jemna

tkanina

Pripevnenie k monitoru 3 SK



SK4

4

Specifikacie

Hmotnost Pribl. 2,9 kg

Teplota pri skladovani a preprave
-20°C az +60 °C

Vlhkost pri skladovani a preprave
20 % az 90 %

Tlak pri skladovani a preprave
700 hPa az 1 060 hPa

Dizajn a technické idaje sa mézu zmenit bez
oznamenia.

Rozmery
Jednotky: mm
350 100

100

[ |

— Otvor na
é / / skrutku M4
) ° //

309
366,5

0 o ]
[To] [{e]
S R — i 3) 7 LJ ~

‘ ‘ < O/ © =
195 124 ® S
Otvor na 80 Otvorna®

skrutku 165,1 skrutku
M5 M5

Nastavenie prevadzkového uhla

10°,20°
T i

| |

Uhol mo6Zete nastavit podrZzanim monitora za hornd
a dolnu Cast.

Specifikacie







Pirms ierices izmanto$anas rupigi izlasiet $o
rokasgramatu un saglabajiet to turpmakai izmanto$anai.

Simboli uz izstradajumiem

Skatiet lietosanas instrukciju

Ievérojiet tos lieto$anas instrukcijas
noradijumus, kuri attiecas uz ierices dalam,
kas apzimeétas ar $o simbolu.

Sis simbols norada razotaju un atrodas lidzas
razotaja nosaukumam un adresei.

Sis simbols norada importétaju, un tas ir
redzams blakus importétaja nosaukumam
un juridiskajai adresei.

H @ L

Sis simbols norada Eiropas Kopienas
parstavi, un tas paradas lidzas Eiropas
Kopienas parstavja vardam, uzvardam un
adresei.

Sis simbols norada Apvienotaja Karalisté
atbildigo personu, un tas ir redzams blakus
Apvienotaja Karalisté atbildigas personas
nosaukumam un adresei.

Sis simbols norada Sveices pilnvaroto
parstavi, un tas ir redzams blakus Sveices
pilnvarota parstavja nosaukumam un
adresei.

o
=

Sis simbols norada uz Eiropas Kopienas
medicinas iekartu.

Sis simbols norada sérijas numuru.

Sis simbols norada razo$anas datumu.

Uzglabasanas un transportésanas
temperatura

Sis simbols norada pienemamo temperatiras
diapazonu uzglabasanas un transportésanas
videé.

~ & g [5

Uzglabasanas un transportésanas
mitruma limenis

Sis simbols norada pienemamo mitruma
limena diapazonu uzglabasanas un
transportésanas vide.

&)

Uzglabasanas un transportésanas
spiediens

Sis simbols norada pienemamo atmosféras
spiediena diapazonu uzglabasanas un
transportésanas vide.

6]

Piesardzibas pasakumi

Uzmanibu

Kad atbrivojaties no iekartas vai piederumiem, jums
jaievero atbilsto$a apgabala vai valsts likumi un
atbilstosas slimnicas noteikumi attieciba uz vides
piesarnojumu.

Klientiem Eiropa

Si izstradajuma razotajs ir Sony Corporation, 1-7-1
Konan Minato-ku Tokyo, 108-0075 Japana, vai ari §is
izstradajums razots Sony Corporation uzdevuma.
Importétajs Eiropas Savieniba: Sony Europe B.V.

Lai sazinatos ar ES importétaju vai uzzinatu par
produkta atbilstibu Eiropas likumdo$anas aktiem,
vérsieties pie raZotaja autorizéta parstavja Sony Belgium,
bijkantoor van Sony Europe B.V., Da Vincilaan 7-D1,
1930 Zaventem, Belgija.

[13]

Uzmanibu

Bridinajumu informaciju, ka ari citu informaciju par §i
izstradajuma lietoSanu skatiet monitora lieto$anas
instrukcija.

[13]

Uzmanibu

Neizmantojiet ierici MR (magnétiskas rezonanses) vidé.
Ta var izraisit darbibas traucéjumus, ugunsgréku un
nevélamas kustibas.

Piesardzibas pasakumi

Drosibai

o Sis stativs ir paredzéts Sony LCD monitoram. Lai
parbauditu, vai jasu monitors ir saderigs ar $o
piederumu, skatiet monitora lietoSanas instrukcijas.

« Pacelot monitoru, celiet aiz monitora vai stativa
apaksdalas.

« Notiriet virsmu ar 50-70 v/v% koncentracijas
izopropilspirtu vai 76,9-81,4 v/v% koncentracijas
etanolu, veicot slaukosas kustibas.

« Grati notiramus traipus var nonemt, izmantojot
mikstu draninu, pieméram, kas viegli samitrinata
maiga tiriSanas $kiduma, un veicot slaukosas kustibas,
péc tam notirot ar iepriek§ minéto kimisko $kidumu.
Veicot tiriSanu vai dezinfekciju, nekad neizmantojiet
$kidinatajus, pieméram, benzolu vai atskaiditaju, vai
skabi saturo$u, sarmainu vai abrazivu mazgasanas
lidzekli, ka ari kimiska sastava tiriSanas lupatinu, jo
tadéjadi var bojat iekartas virsmu.

« Montazaj izmantojiet komplekta ieklautas skrives.
Izmantojot skrives, kas nav ieklautas ierices
komplektacija, tas var klat valigas un ierice var nokrist,
izraisot traumas.



Piezimes

« Pirms lieto$anas vienmeér parliecinieties, vai ierice
darbojas pareizi. UZNEMUMS SONY
NEUZNEMAS ATBILDIBU PAR JEBKADIEM
BOJAJUMIEM, TOSTARP, BET
NEAPROBEZOJOTIES AR KOMPENSACIJU VAI
ATLIDZINASANU PAR PASREIZEJAS VAI
PAREDZAMAS PELNAS ZAUDEJUMU SIS
IERICES KLUMES DEL. GARANTIJAS PERIODA
VAI PEC TA BEIGAM, VAI JEBKADA CITA
IEMESLA DEL.

o UZNEMUMS SONY NEUZNEMAS ATBILDIBU
PAR JEBKADAM PRETENZIJAM, KO
IZVIRZIJUSI SIS IERICES LIETOTAJI VAI
TRESAS PUSES.

o UZNEMUMS SONY NEUZNEMAS ATBILDIBU
PAR JEBKADU AR SO IERICI SAISTITO
PAKALPOJUMU IZBEIGSANU VAI
PARTRAUKSANU, KAS VARETU RASTIES
JEBKADU APSTAKLU REZULTATA.

Pievienosana monitoram

Komplektacija ieklautie piederumi

o Pamatnes dala (1)

o Vertikala balsta dala (1)

o M5 x 20 skraves (4)

o M4 x 14 skraves (4)

« Lietosanas instrukcija (1)

o Apkopes kontaktinformacijas saraksts (1)

EE] Pievienosanas metode

1 Uzstadiet monitora stativu.

Ievietojiet pamatnes dalu vertikalaja balsta dala @
un nostipriniet to ar komplektacija ieklautajam
M5 x 20 skrivem (4) ©.

Pamatnes dala

Vertikala balsta >

2 Novietojiet monitoru uz mikstas dranas un
iznemiet M4 skruves (4), ja tas ir piestiprinatas
monitoram.

3 Pievienojiet monitora stativu, izmantojot
komplektacija ieklautas M4 x 14 skraves (4).

Miksta
drana

Pievienosana monitoram

3LV



Specifikacijas

Svars Apm. 2,9 kg
Uzglabasanas un transportésanas temperatiira
no -20 °C lidz +60 °C
Uzglabasanas un transporté$anas mitrums
no 20 % lidz 90 %
Uzglabaganas un transportésanas spiediens
no 700 hPa lidz 1060 hPa

Ierices konstrukcija un tehniskie dati var tikt mainiti bez
iepriekséja bridinajuma.

Izmeri
Vieniba: mm

350 100

309
366,5

= Txvuf
| é atvere
) o i 0o

a ~

wn ~

n O

v S AN I

< 1O/ A ° o)+ <+

195 124 ” N
M5 80 M5

atvere 165,1 atvere

Ekspluatacijas lenka regulesana

10°, 20°
T

| |

Lenki iespéjams regulét, turot un savér$ot monitora
aug$dalu un apaksdalu.

Lv 4 Specifikacijas






LT2

Lietuviy kalba

Prie$ naudodamiesi kamera, atidZiai perskaitykite $j
vadova ir pasilikite jj, kad galétuméte juo pasinaudoti
ateityje.

Gaminiy simboliai

[13]

Zr. naudojimo instrukcija

Vadovaukités naudojimo instrukcijoje
pateikiamais nurodymais dél jrenginio daliy,
ant kuriy yra $is simbolis.

Siuo simboliu Zymimas gamintojas ir jis
pateikiamas $alia gamintojo pavadinimo ir
adreso.

Siuo simboliu Zymimas importuotojas ir yra
pateikiamas $alia importuotojo pavadinimo
ir registruoto biuro adreso.

¥ K

Siuo simboliu Zymimas atstovas Europos
Bendrijoje. Simbolis jterpiamas $alia atstovo
pavadinimo (vardo ir pavardés) ir adreso.

m
(2

Siuo simboliu Zymimas JK atsakingaji
asmenj ir yra pateikiamas Salia JK
atsakingojo asmens vardo, pavardés ir
adreso.

Siuo simboliu Zymimas Sveicarijos
jgaliotasis atstovas ir jis yra pateikiamas Salia
Sveicarijos jgaliotojo atstovo vardo, pavardés
ir adreso.

Q
=

Siuo simboliu Zymima medicinos priemoné
Europos Bendrijoje.

Siuo simboliu Zymimas serijos numeris.

Siuo simboliu Zymima pagaminimo data.

Sandéliavimo ir gabenimo temperatiira
Siuo simboliu Zymimas leidziamos
temperataros diapazonas sandéliuojant ir
gabenant.

~ i |¢g [§

Sandéliavimo ir gabenimo drégnis
Siuo simboliu Zymimas leidziamos drégnio
diapazonas sandéliuojant ir gabenant.

Sandéliavimo ir gabenimo slégis

Siuo simboliu Zymimas leidziamos
atmosferinio slégio diapazonas sandéliuojant
ir gabenant.

(ORI O

Démesio

ISmesdami prietaisg arba jo priedus, privalote laikytis
atitinkamos vietos arba $alies jstatymy ir atitinkamos
ligoninés nuostaty dél aplinkos tar$os.

Atsargumo priemonés

Europos klientams

Sio gaminio gamintojas yra ,,Sony Corporation®, 1-7-1
Konan Minato-ku Tokyo, 108-0075 Japonija, arba
gaminys yra pagamintas pagal ,,Sony Corporation”
uzsakyma.

ES importuotojas: ,,Sony Europe B.V.

Norédami susisiekti su ES importuotoju arba suZinoti
dél gaminio atitikties, pagrijstos Europos Sajungos teisés
aktais, kreipkités j jgaliota gamintojo atstova ,,Sony
Belgium®, bijkantoor van Sony Europe B.V., Da Vincilaan
7-D1, 1930 Zaventem, Belgija.

[13]

Démesio
Perspéjimy ir i§samesnés informacijos, kaip naudoti §j
gaminj, ieskokite monitoriaus naudojimo instrukcijose.

[13]

Démesio

Irenginio nenaudokite MR (magnetinio rezonanso)
jrenginio aplinkoje.

Gali atsirasti gedimy, nepageidaujamo judéjimo arba
kilti gaisras.

Atsargumo priemonés

Sauga

o Taiyra ,,Sony“ LCD monitoriaus stovas. Ar turimg
monitoriy galima naudoti su $iuo jrenginiu, Zr.
monitoriaus naudojimo instrukcijose.

Monitoriy kelkite uz apatinio jo krasto arba uz stovo

apacios.

Pavirsiy valykite tamponéliu, suvilgytu 50-70 v/v%

koncentracijos izopropilo alkoholiu arba 76,9-81,4 v/

v% koncentracijos etanoliu.

« Sunkiai nuvalomas démes galima pasalinti §velnia
$luoste, pvz., $iek tiek sudrékinta $velniu ploviklio
tirpalu valymo $luoste, valant kaip tamponéliu, o tada
nuvalyti pirmiau nurodytu cheminiu tirpalu.
Valydami arba dezinfekuodami jokiu budu
nenaudokite tirpikliy, pvz., benzeno, skiediklio,
ragstinio, $arminio ar abrazyvinio ploviklio, arba
cheminio valymo $luostés, nes jie pazeis pavirsiy.

« Montuodami naudokite pridedamus varztus. Jei
naudosite ne pridedamus, o kitus varztus, jie gali
atsilaisvinti, o tada jrenginys gali nukristi ir suzaloti.



Pastabos

o Prie§ naudodami visuomet patikrinkite ar prietaisas
tinkamai veikia. ,SONY“ NEBUS ATSAKINGA UZ
BET KOKIO POBUDZIO ZALA, [SKAITANT, BET
NEAPSIRIBOJANT, KOMPENSACIJA AR
ATLYGINIMA UZ ESAMO ARBA BUSIMO
PELNO PRARADIMA DEL $IO JRENGINIO
GEDIMO GARANTINIO LAIKOTARPIO METU
ARBA JAM PASIBAIGUS AR DEL BET KOKIOS
KITOS PRIEZASTIES.

« ,SONY“ NEBUS ATSAKINGA UZ BET KOKIO

POBUDZIO SIO PRIETAISO NAUDOTOJU AR
TRECIUJU SALIU PRETENZIJAS.

« ,SONY“ NEBUS ATSAKINGA UZ BET KOKIO

POBUDZIO PASLAUGU SUSIJUSIU SU SIUO
PRIETAISU NUTRAUKIMA ARBA NETESIMA,
NEPRIKLAUSOMAI NUO TO PRIEZASCIU.

Tvirtinimas prie
monitoriaus

P

ateikiami priedai

Pagrindas (1)

Asis (1)

M5 x 20 varztai (4)

M4 x 14 varztai (4)

Naudojimo instrukcija (1)

Techninés prieziaros kontakty sarasas (1)

[:E] Tvirtinimas

1

2

3

Sumontuokite monitoriaus stova.

Pagrindg prijunkite prie asies @ ir sutvirtinkite
pridedamais M5 x 20 varztais (4) @.

Pagrindas
S )
L L s

1=

Paguldykite monitoriy ant minksto audeklo arba
pan. ir iSsukite M4 varztus (4), jei jie jsukti
monitoriy.

Pritvirtinkite monitoriaus stova pridedamais
M4 x 14 varztais (4).

Minkstas
audeklas

Tvirtinimas prie monitoriaus

3 LT



LT4

Specifikacijos

Svoris Apytiksliai 2,9 kg
Laikymo ir gabenimo temperatiira

Nuo -20 °C iki +60 °C
Laikymo ir gabenimo aplinkos drégnis

Nuo 20 % iki 90 %
Laikymo ir gabenimo aplinkos slégis

Nuo 700 hPa iki 1060 hPa

Dizainas ir specifikacijos gali keistis apie tai nepranesus.

Matmenys
Irenginys: mm
350 100
—
4 N\ °

100

() 3

309
366,5

/i ° TN
" {
un O
‘%—*ﬁ‘ LA i 7 ; ‘ ~
< o /-' o o, <
195 124 ” o
M5 80 M5
anga 165,1 anga

Pakrypimo kampo reguliavimas

10°

20°

r"‘—\‘

h— |

Kampag sureguliuokite laikydami uz monitoriaus vir$aus

ir apacios.

Specifikacijos






EE2

Enne seadme kasutamist lugege see juhend pohjalikult
14bi ja hoidke hilisemaks kasutamiseks alles.

Toodetel olevad siimbolid

Vaadake kasutusjuhendit
Jargige selle sitmboliga téhistatud osade
puhul kasutusjuhendis toodud suuniseid.

See siimbol tahistab tootjat ning asub tootja
nime ja aadressi jarel.

See stimbol tahistab maaletoojat ning on
toodud maaletooja nime ja registrijargse
asukoha korval.

See siimbol tihistab Euroopa Uhenduse
esindajat ning paikneb Euroopa Uhenduse
esindaja nime ja aadressi kérval.

See stimbol tdhistab vastutavat isikut
Uhendkuningriigis ning on toodud
Uhendkuningriigi vastutava isiku nime ja
asukoha korval.

H | @eL B

See siimbol tdhistab Sveitsi volitatud
esindajat ning on toodud Sveitsi volitatud
esindaja nime ja asukoha korval.

o
=

See siimbol tihistab Euroopa Uhenduses
meditsiiniseadet.

See stimbol tdhistab seerianumbrit.

See stimbol tahistab tootmiskuupéeva.

Temperatuur hoiustamisel ja
transportimisel

See siimbol tihistab sobivat
temperatuurivahemikku hoiustamis- ja
transpordikeskkonnas.

~ i |¢g [§

Niiskus hoiustamisel ja transportimisel
See siimbol tahistab sobivat
niiskusvahemikku hoiustamis- ja
transpordikeskkonnas.

&)

Rohk hoiustamisel ja transportimisel
See stimbol tdhistab sobivat
Shuréhuvahemikku hoiustamis- ja
transpordikeskkonnas.

6]

Ettevaatust

Seadme voi selle tarvikute likvideerimisel peate alluma
vastava piirkonna voi riigi seadustele ja vastava haigla
eeskirjadele, mis kisitlevad keskkonnareostust.

Ettevaatusabinéud

Klientidele Euroopas

Selle toote on valmistanud Sony Corporation (1-7-1
Konan Minato-ku Tokyo, 108-0075 Jaapan) vdi seda on
tehtud tema nimel.

EL-i maaletooja: Sony Europe B.V.

Uhendust EL-i maaletoojaga ja teavet toote vastavusest
Euroopa Liidu seadusandluseaktidele saate tootja
volitatud esindaja kaudu Sony Belgium, bijkantoor van
Sony Europe B.V., Da Vincilaan 7-D1, 1930 Zaventem,
Belgia.

[13]

Ettevaatust

Kui soovite tutvuda ettevaatusabindudega ja saada
taiendavat teavet toote kasutamise kohta, vaadake
monitori kasutussuuniseid.

[13]

Ettevaatust

Arge kasutage seadet magnetresonantskeskkonnas.
See voib pohjustada rikke, tulekahju ja soovimatu
litkumise.

Ettevaatusabinoud

Turvalisus

+ See on Sony LCD-monitori alus. Kontrollimaks, kas
teie monitor ithildub sellega, vaadake monitori
kasutussuuniseid.
Kui tostate monitori, tostke monitori alaservast voi
aluse alaosast.
Puhastage pinda 50-70 v/v% kontsentratsiooniga
isopropiiiilalkoholi voi 76,9-81,4 v/v%
kontsentratsiooniga etanooliga tupsutades.
Raskemate plekkide eemaldamiseks vo6ib tupsutada
pehme lapiga, nt puhastuslapiga, mida on niisutatud
ornalt lahja puhastusainelahusega, ja seejarel
puhastada mainitud keemilist lahust kasutades.
Arge kasutage puhastamiseks ega desinfitseerimiseks
kunagi lahusteid, nagu benseen voi vedeldi, voi
happelisi, aluselisi voi abrasiivseid puhastusaineid voi
keemilisi puhastuslappe, kuna need kahjustavad
pinda.
« Kasutage paigaldamiseks komplekti kuuluvaid
kruvisid. Kui kasutate muid kruvisid, voivad need lahti
tulla ja seade voib kukkuda ning vigastusi tekitada.



Markused

o Enne kasutamist kontrollige alati, kas seade to6tab
korralikult. SONY EI VASTUTA MIS TAHES
KAHJUDE EEST, SEALHULGAS, KUID MITTE
AINULT, El HUVITA EGA KOMPENSEERI
KAOTATUD VOI VOIMALIKKU SAAMATA
JAANUD TULU, MIS ON TINGITUD SEADME
RIKKEST VOI MIS TAHES MUUST ASJAOLUST,
EI SEADME GARANTIIPERIOODI VALTEL EGA
PARAST SEDA.

« SONY EI VOTA VASTUTUST SELLE SEADME

KASUTAJATE VOI KOLMANDATE OSAPOOLTE
ESITATUD NOUETE EEST.

o SONY EI VASTUTA MIS TAHES ANTUD

SEADMEGA SEOTUD TEENUSE OSUTAMISE
LOPETAMISE VOI KATKESTAMISE EEST,
SOLTUMATA SELLISE TEGUVIISI POHJUSTEST.

Monitori kiilge
kinnitamine

Komplekti kuuluvad tarvikud

Alusplaat (1)

Jalg (1)

M5 x 20 kruvid (4)

M4 x 14 kruvid (4)

Kasutussuunised (1)

Teeninduse kontaktandmete loend (1)

[:E] Kinnitamismeetod

1

2

3

Pange monitori alus kokku.

Sisestage alusplaat jalaossa @ ja kinnitage see
komplekti kuuluvate M5 x 20 kruvidega (4) @.

Alusplaat
- )
L (P

1=

Pange monitor pehmele kangale vms ja eemaldage
M4 kruvid (4), kui need on monitori kiilge
kinnitatud.

Kinnitage monitori alus komplekti kuuluvaid
M4 x 14 kruvisid (4) kasutades.

Monitori kiilge kinnitamine

3EE



Tehnilised andmed

Kaal Ligikaudu 2,9 kg
Temperatuur hoiustamisel ja transportimisel
-20 °C kuni +60 °C
Niiskus hoiustamisel ja transportimisel
20% kuni 90%
Rohk hoiustamisel ja transportimisel
700 hPa kuni 1060 hPa

Kujundust ja tehnilisi andmeid voidakse ette teatamata
muuta.

Moo6tmed
Uhik: mm
350 100

~
J
100
CECEE
o o
B
o
09|
o C]
o oo

— ﬁ M4 ava
é 0 o |

309
366,5

fal ~
wn -4
Yo} O
— A 7 7 LJ ~
< o /-' o o, <
195 124 ” ~

M5 ava 80 M5 ava

165,1

Kasutusnurga reguleerimine

10°, 20°
T

| |

Saate nurka reguleerida, hoides kinni monitori iila- ja
alaosast.

EE 4 Tehnilised andmed






HR2

Prije nego §to zapoénete upotrebljavati ovaj uredaj,
pazljivo procitajte ovaj prirucnik i pohranite ga za
bududu uporabu.

Simboli na proizvodu

Pogledajte upute za upotrebu
Slijedite smjernice u uputama za
upotrebu za dijelove uredaja na kojima se
pojavljuje ovaj simbol.

Ovaj simbol oznacava proizvodaca i
pojavljuje se pored naziva i adrese
proizvodaca.

il

Ovaj simbol oznacava uvoznika, a
pojavljuje se uz naziv i registriranu
adresu ureda uvoznika.

@

[rer] Ovaj simbol oznacuje predstavnika
Europske zajednice i pojavljuje se pokraj
imena i adrese predstavnika Europske
zajednice.

m
(2]

Ovaj simbol oznacava odgovornu osobu
za UK i pojavljuje se uz naziv i adrese
odgovorne osobe za UK.

Ovaj simbol oznacava ovlastenog
predstavnika za Svicarsku i pojavljuje se
uz naziviadresu ovlastenog predstavnika
za Svicarsku.

o
= o

Ovim se simbolom oznacuje medicinski
uredaj u Europskoj zajednici.

Ovim se simbolom oznacuje serijski broj.

Ovim se simbolom oznacuje datum
proizvodnje.

Temperatura pri skladiStenju i
transportu

Ovim se simbolom oznacuje prihvatljivi
raspon temperature u okruzenjima za
skladiStenje i transport.

~ [ ¢ [

Vlaznost pri skladistenju i transportu
Ovim se simbolom oznacuje prihvatljivi
raspon vlaznosti u okruzenjima za
skladiStenje i transport.

1S

Tlak pri skladistenju i transportu
Ovim se simbolom oznacuje prihvatljivi
raspon atmosferskog tlaka u okruzenjima
za skladiStenje i transport.

6]

Oprez

Mjere opreza

Kada odlazete jedinicu ili pribor, morate se
pridrzavati zakona svoje regije ili zemlje te propisa
svoje bolnice povezano s oneciséenjem okolisa.

Za korisnike u Europi

Ovaj je proizvod proizveden od strane ili u ime
tvrtke Sony Corporation, 1-7-1 Konan Minato-ku
Tokyo, 108-0075 Japan.

Uvoznik za EU: Sony Europe B.V.

Upiti koji se odnose na uvoznika za EU ili upiti koji
se odnose na sukladnost proizvoda trebaju se uputiti
ovlastenom zastupniku proizvodaca, Sony Belgium,
bijkantoor van Sony Europe B.V,, Da Vincilaan
7-D1, 1930 Zaventem, Belgija.

(T3]

Mjere opreza

Kako biste procitali mjere opreza i druge
informacije o uporabi ovog proizvoda, pogledajte
upute za uporabu monitora.

[13]

Mjere opreza

Nemojte se koristiti uredajem u okruzenju za
magnetsku rezonanciju.

To moze prouzrociti kvar, poZar i neZeljeno
kretanje.

Oprez

Sigurnost

¢ Ovaj nosa¢ namijenjen je za monitor Sony LCD.
Kako biste provjerili je li vas monitor
kompatibilan s ovim nosacem, procitajte upute za
rukovanje koje se nalaze na monitoru.

¢ Prilikom podizanja monitora podignite njegovu
donju stranu ili donji dio nosaca.

¢ Brisanjem ocistite povrsinu izopropilnim
alkoholom koncentracije od 50 do 70 v/v% ili
etanolom koncentracije od 76,9 do 81,4 v/v%.

e Uklonite brisanjem tvrdokorne mrlje mekom
krpom, poput krpe lagano navlazene u blagoj
otopini deterdZenta, a zatim je oCistite prethodno
navedenom kemijskom otopinom.

Ne koristite nikada otapala poput benzena ili
razrjedivaca te kiseloga, luznatoga ili abrazivnoga
deterdzZenta ili kemijske krpe za CiSéenje ili
dezinfekciju jer ¢e oni ostetiti povrsSinu.

¢ Upotrijebite isporucene vijke za postavljanje.
Ako ne upotrijebite isporucene vijke, vijci se
mogu olabaviti i uredaj moZze pasti te
prouzrokovati nastanak ozljede.



Napomene

¢ Uvijek provijerite radi li ispravno uredaj prije

nego Sto ga zapocnete koristiti. TVRTKA

SONY NE SNOSI ODGOVORNOST NI ZA

KAKVU STETU - UKLJUCUJUCIL ALI NE

OGRANICAVAJUCI SE NA NAKNADU

STETE ILI NOVCANU NADOKNADU -

ZBOG TRENUTNE ILI BUDUCE STETE

NASTALE ZBOG NEPRAVILNOG RADA

OVOG UREDAJA TUEKOM TRAJANJA

JAMSTVENOG RAZDOBLJA I NAKON

NJEGOVOG ISTEKA NITI ZBOG BILO

KOJEG DRUGOG RAZLOGA.

TVRTKA SONY NE SNOSI

ODGOVORNOST ZA BILO KAKVA

POTRAZIVANJA KORISNIKA OVOG

UREDAJA ILI TRECIH STRANA.

e TVRTKA SONY NE SNOSI
ODGOVORNOST ZA UKIDANIJE ILI
PREKID PRUZANJA USLUGA KOJE SE
ODNOSE NA OVAJ UREDPAJ USLUED
BILO KAKVIH OKOLNOSTL

Priévrséivanje monitora

Isporuceni dodatni dijelovi

e Osnovica (1)

e Utor (1)

e Vijci M5 x 20 (4)

e Vijci M4 x 14 (4)

e Upute za uporabu (1)

¢ Popis servisa s podacima za kontakt (1)

[:E] Postupak priévrséivanja

1 Sastavite nosa¢ monitora.

Umetnite osnovicu u utor @ i ucvrstite je
isporucenim vijcima M5 x 20 (4) @.

Osnovica

2 Postavite monitor na mekanu tkaninu i zatim

uklonite vijke M4 (4) koji su pricvrséeni za
monitor.

3 Pri¢vrstite monitor za nosaé isporuc¢enim

vijcima M4 x 14 (4).

Mekana
tkanina

Pri¢vrs¢ivanje monitora

3HR



HR4

Znacajke

Tezina Priblizno 2,9 kg
Temperatura cuvanja i transporta

od 20 °C do +60 °C
Vlaznost cuvanja i transporta

od 20 % do 90 %
Tlak cuvanja i transporta

od 700 hPa do 1060 hPa

Dizajn i specifikacije podlozni su promjenama bez
prethodne obavijesti.

Dimenzije
Jedinica: mm
350

100

. J
p— Rupa
[ / M4
o) ° [ 00
()
(2] [{e)
o (0]
m o o
To) \f‘ ° A N
[To] J [{e]
———— T — Y i 7 I\ ~
‘ T < O/ A ° =
195 124 o N
Rupa 80 Rupa
M5 165,1 M5

Namjestanje kuta

10°,20°
—f~

| |

Uhvatite monitor za gornji ili donji dio kako biste
namjestili kut.

Znacajke






TR2

Cihazi ¢alistirmadan 6nce bu kilavuzu iyice okuyun ve
ileride bagvurmak icin saklayin.

Uriinlerin iistiindeki semboller

Kullanim talimatlarina bakin

Bu semboliin gortildiigii tinitenin
parcalarina iligkin kullanim talimatlarinda
bu yonlendirmeleri takip edin.

Bu sembol, tireticiyi gosterir ve tiretici ad1
ile adresinin yaninda bulunur.

Bu sembol Ithalat¢r’yr gosterir.
Ithalat¢r’nin adi ve kayitl ofis adresinin
yaninda goriiniir.

Bu sembol Avrupa Toplulugu temsilcisini
gosterir ve Avrupa Toplulugu temsilcisinin
adi ve adresinin yaninda goriniir.

i er B

Busembol BK Sorumlu Kisisi'ni gosterir ve
BK Sorumlu Kisisi'nin ad1 ve adresinin
yaninda goruntir.

Bu sembol _isvigre Yetkili Temsilcisi'ni
gosterir ve Isvigre Yetkili Temsilcisi'nin ad1
ve adresinin yaninda goriiniir.

o
=

Bu sembol Avrupa Toplulugu'ndaki tibbi
cihazi gosterir.

Bu sembol, seri numarasini gosterir.

Bu sembol, tiretim tarihini gosterir.

Depolama ve tasima sicakhgi

Bu sembol, depolama ve tasima ortamlari
icin kabul edilebilir sicaklik araligini
gosterir.

Depolama ve tasima nemi
Bu sembol, depolama ve tasima ortamlari
icin kabul edilebilir nem araligini gosterir.

Depolama ve tasima basinci

Bu sembol, depolama ve tasima ortamlari
icin kabul edilebilir atmosfer basinci
araligini gosterir.

@ ® ~E4 [

Dikkat

Uniteyi veya yardimcei techizatlar bertaraf ederken
ilgili bolge veya iilkenin yasalarina ve ayrica ilgili
hastanenin yasal cevre kirliligi diizenlemelerine
uymaniz gerekmektedir.

Onlem

Avrupa’daki miisteriler icin

Bu iirtin, 1-7-1 Konan Minato-ku Tokyo, 108-0075
Japonya adresinde bulunan Sony Corporation
tarafindan veya adina imal edilmistir.

AB Ithalatcisi: Sony Europe B.V.

AB lthalatcisi veya iiriin uygunlugu ile ilgili tiim
bagvurular imalatcinin yetkili temsilcisi olan Sony
Belgium, bijkantoor van Sony Europe B.V., Da
Vincilaan 7-D1, 1930 Zaventem, Belgika'ya
gonderilmelidir.

[13]

Dikkat

Bu tiriiniin kullanimuyla ilgili uyarilar ve daha fazla
bilgi icin, monitoriin kullanim talimatlarina bakin.

(T3]

Dikkat

Cihazi1 bir MR (Manyetik Rezonans) ortaminda
kullanmayin.

Bir arizaya, yangina ve istenmeyen bir harekete neden
olabilir.

Onlem

Giivenlikle llgili

* Bu stand, Sony LCD monitor i¢indir.
Monitoriiniiziin bu tiniteyle uyumlu olup
olmadigini onaylamak i¢in, monitoriin kullanim
talimatlarina bakin.

* Monitori yiikselttiginizde, monitoriin alt tarafini
veya standin altini da ytikseltin.

* Yiizeyi % 50 ila 70 v/v izopropil alkol
konsantrasyonu veya % 76,9 ila 81,4 v/v etanol
konsantrasyonu ile bir silme yontemini kullanarak
temizleyin.

» Inatg izler, yumusak deterjan ¢ozeltisiyle biraz
nemlendirilmis yumusak bir temizleme beziyle bir
silme yontemi kullanilarak ve sonra yukaridaki
kimyasal soliisyon kullanilarak temizlenebilir.
Yiizeye zarar verebileceginden kesinlikle benzen
veya tiner gibi ¢Ozlicliler veya asit, alkalin veya
asindirici deterjan ya da temizleme veya
dezenfeksiyon icin kimyasal temizleme bezi
kullanmayin.

* Montaj icin uirtinle birlikte verilen vidalari kullanin.
Uriinle birlikte verilenin digindaki vidalari
kullanirsaniz, vidalar gevseyebilir ve cihaz duserek
yaralanmaya yol acabilir.



Notlar

» Kullanmadan Once tinitenin diizgiin ¢alistigini
daima dogrulayin. SONY, UNITENIN
CALISMAMASI DURUMUNDA SIMDIiKi VE
GELECEKTEKI FAYDALARIN KAYBINI
TAZMIN ETME VEYA GERI ODEMEYLE
SINIRLI OLMAYAN FAKAT BU EYLEMLERI
KAPSAYAN HERHANGI BiR HASARDAN
GARANTI SURESI DAHILINDE VEYA
GARANTI SURESININ BITIMINDEN
SONRA HER NE SEBEPLE OLURSA OLSUN
SORUMLU OLMAYACAKTIR.

+ SONY, BU UNITENIN KULLANICILARI
VEYA UCUNCU TARAFLAR TARAFINDAN
YAPILAN HiCBIR iDDIAYA KARSI
SORUMLU OLMAYACAKTIR.

+ SONY, HERHANGI BiR DURUM
SEBEBIYLE BU UNITEYE ILISKIN
HERHANGI BiR SERVISIN
DURDURULMASI VEYA SONA
ERDIRILMESI KONULARINDA ORUMLU
OLMAYACAKTIR.

vidalarla takin (4).

4  Kablolar monitore baglayimn.

Monitore takma

Birlikte verilen aksesuarlar

* Ana tinite (1)

* Boyun iinitesi (1)

* M5 X 20 Vidalar (4)

* M4 X 14 Vidalar (4)

» Kullanim Talimatlar1 (1)
« Servis Iletisim Listesi (1)

[:E] Takma yontemi

1 Monitor standini monte edin.

Ana liniteyi boyun iinitesine takin @ ve birlikte
verilen M5 % 20 vidalarla sabitleyin (4) @.

2 Monitérii yumusak bir bez, vb. lizerine yerlestirin
ve M4 vidalari (4) monitore takiliyken ¢ikarin.

3 Monitor standini birlikte verilen M4 x 14

S

Monitdre takma

3TR



Teknik Ozellikler

Agirlik Yakl. 2,9 kg
Depolama ve nakliye sicakligi

—20°Cila +60 °C
Depolama ve nakliye nemi

%20 ila %90
Depolama ve nakliye basinci

700 hPaila 1.060 hPa

Tasarim ve Ozellikler 6nceden haber verilmeksizin
degistirilebilir.

Boyutlar
Unite: mm
350 100

=

<
J
100
©o O o
o 1]
B
0d
Ll L]
(-] (]

(%) o

309
366,5

S

0
Ty}
———— / 7 kj
‘ T < 0O / o )
195 124 «©
M5 80 M5
deligi 165,1 deligi

Calisma acisi ayari

10°

20°

S— |
Monitoriin Ustlinii ve altin1 tutarak aciyi
ayarlayabilirsiniz.

Teknik Ozellikler

24 76,2






Pre nego §to uredaj pustite u rad, temeljno procitajte ovo
uputstvo i sacuvajte ga za referencu u buducénosti.

Simboli na proizvodu

Konsultujte uputstvo za upotrebu
Pratite smernice u uputstvu za upotrebu za
delove uredaja na kojem se pojavljuje ovaj
simbol.

Ovaj simbol oznacava proizvodaca i
pojavljuje se pored imena i adrese
proizvodaca.

Ovaj simbol oznacava uvoznika i prikazuje
se pored naziva i registrovane adrese
kancelarije uvoznika.

H @ L

Ovaj simbol oznacava predstavnika
Evropske zajednice i prikazan je pored
naziva i adrese predstavnika Evropske
zajednice.

Ovaj simbol oznac¢ava odgovorno lice za UK
i prikazuje se pored naziva i adrese
odgovornog lica za UK.

Ovaj simbol oznacava ovlaséenog
predstavnika za Svajcarsku i prikazuje se
pored naziva i adrese ovlas¢enog
predstavnika za Svajcarsku.

o
=

Ovaj simbol oznacava medicinski uredaj u
Evropskoj zajednici.

Ovaj simbol oznacava serijski broj.

Ovaj simbol oznacava datum proizvodnje.

Temperatura pri Cuvanju i transportu
Ovaj simbol oznacava prihvatljivi opseg
temperatura okruzenja pri skladistenju i
transportu.

~ [L |¢g [3

Vlaznost vazduha pri Cuvanju i
transportu

Ovaj simbol oznacava prihvatljivi opseg
vlaznosti vazduha okruZenja pri skladistenju
1 transportu.

&)

Pritisak pri Cuvanju i transportu

Ovaj simbol oznacava prihvatljivi opseg
atmosferskog pritiska vazduha okruZenja pri
skladiStenju 1 transportu.

6]

Mera predostroznosti

Oprez

Prilikom odlaganja uredaja ili dodatnog pribora na
otpad, neophodno je da se pridrzavate zakona u
odgovarajugem podrugju ili zemlji i propisa u
odgovarajuzoj bolnici u vezi sa zagadenjem zivotne
sredine.

Za kupce u Evropi

Ovaj uredaj je proizveden od strane ili u ime kompanije
Sony, 1-7-1 Konan Minato-ku Tokyo, 108-0075 Japan.
Uvoznik za podruc¢je Evropske unije: Sony Europe B.V.
Pitanja za uvoznika za podrucje EU ili pitanja u vezi
usaglasenosti proizvoda u Evropi treba poslati
ovlaséenom predstavniku proizvodaca, Sony Belgium,
bijkantoor van Sony Europe B.V., Da Vincilaan 7-D1,
1930 Zaventem, Belgija.

[13]

Oprez

Mere opreza i dodatne informacije o kori$¢enju ovog
proizvoda potrazite u Uputstvu za upotrebu monitora.

[13]

Oprez

Ne koristite ovaj uredaj u sredini sa magnetnom
rezonancom (MR).

U suprotnom, moze da dode do kvara, pozara i
nezeljenog kretanja.

Mera predostroznosti

O bezbednosti

* Ovo je postolje za Sony LCD monitor. Da biste
utvrdili da li je va$ monitor kompatibilan sa ovim
uredajem, pogledajte uputstva za rukovanje
monitorom.

» Kad podizete monitor, podignite donju stranu

monitora ili donju stranu postolja.

Cistite povrsinu izopropil alkoholom u koncentraciji

50 do 70 v/v% ili etanolom u koncentraciji 76,9 to

81,4 v/v% tapkanjem i brisanjem.

» Uporne mrlje se mogu ukloniti mekom krpom kao §to
je krpa za ¢is¢enje lako navlaZena blagim rastvorom
deterdzenta tako Sto se natapkaju a zatim ociste
pomocu gore navedenog hemijskog rastvora.

Za ¢iscenje ili dezinfekciju nikada nemojte koristiti
rastvarace kao $to su benzen ili razredivac, kiselina,
alkalni ili abrazivni deterdzent ili krpa za ¢is¢enje

natopljena hemikalijama jer ¢e oni oStetiti povrSinu.

+ Za montazu koristite prilozene vijke. Ako koristite
druge a ne priloZene vijke, vijci mogu da se razlabave
i uredaj moze da padne i izazove povredu.



Napomene

* Pre upotrebe uvek proverite da li uredaj ispravno
radi. KORPORACIJA SONY NECE BITI
ODGOVORNA ZA STETE BILO KOJE VRSTE
UKLJUCUJUCI, ALI NE OGRANICAVAJUCI SE
NA: NAKNADU ILI ODSTETU NA IME
GUBITKA TRENUTNOG ILI OCEKIVANOG
PROFITA ZBOG OTKAZIVANJA OVOG
UREDAIJA, BILO TOKOM GARANTNOG
PERIODA ILI POSLE ISTEKA GARANTNOG
PERIODA ILI IZ BILO KOG DRUGOG
RAZLOGA.

« KORPORACIJA SONY NECE BITI

ODGOVORNA ZA POTRAZIVANJA BILO KOJE
VRSTE OD STRANE KORISNIKA OVOG
UREDAJA ILI TRECIH STRANA.

« KORPORACIJA SONY NECE BITI

ODGOVORNA ZA OKONCANIJE ILI PREKID
BILO KOJIH USLUGA U VEZI SA OVIM
UREDAJEM DO KOJIH MOZE DA DOBE
USLED OKOLNOSTI BILO KOJE VRSTE.

Priévrséivanje monitora

Prilozena dodatna oprema

Bazni uredaj (1)

Vrat (1)

Vijei M5 x 20 (4)

Vijci M4 x 14 (4)

Uputstvo za upotrebu (1)

Spisak kontakata za servisiranje (1)

[ Ti] Naéin priévrs¢ivanja

1

Sklopite postolje monitora.

Uvucite bazni uredaj u vrat @ i ucvrstite prilozenim
vijcima M5 x 20 (4) ©.

Bazni uredaj

2  Stavite monitor na meku krpu, itd. i uklonite vijke

M4 (4) ako su pricvrséeni na monitor.

3 Pricvrstite postolje monitora priloZzenim vijcima
M4 x 14 (4).

Priévr§¢ivanje monitora

38R



SR4

Specifikacije

Masa Pribl. 2,9 kg
Temperatura za ¢uvanje i transport
—20 °C do +60 °C
Vlaznost za ¢uvanje i transport
20% do 90%
Pritisak za cuvanje i transport
700 hPa do 1.060 hPa

Dizajn i specifikacije podleZzu promeni bez obavestenja.

Dimenzije
Jedinica mere: mm
350 100
I
4 N\ e

100

I\ J
— Rupa
| / [ M4
) o i 0o
©
D [<e]
o ™
© o o
fai ¢ TN
w0 -
[{e]
| —7ﬁ\ i 7 ? 7 . .
< o /-' o o, <
195 124 « o
Rupa 80 Rupa
M5 165,1 M5

Podesavanje ugla za koris¢enje

10° 20°

T

S |

Ugao mozete da podesite drzeci gornju i donju ivicu
monitora.

Specifikacije






	JP

	注意
	その他の安全上のご注意
	使用上のご注意
	モニターへの取り付けかた
	付属品
	取り付け方法

	主な仕様

	GB

	Precaution
	On Safety

	Attaching to the monitor
	Accessories supplied
	Attaching method

	Specifications

	FR
	Précautions
	À propos de la sécurité

	Fixation du moniteur
	Accessoires fournis
	Méthode de fixation

	Spécifications

	DE
	Sicherheitshinweise
	Sicherheit

	Montage am Monitor
	Mitgeliefertes Zubehör
	Montageanleitung

	Technische Daten

	IT
	Precauzioni
	Sulla sicurezza

	Fissaggio al monitor
	Accessori in dotazione
	Metodo di fissaggio

	Specifiche tecniche

	ES
	Precauciones
	Seguridad

	Montaje del soporte en el monitor
	Accesorios suministrados
	Sistema de montaje

	Especificaciones

	CS
	注意事项
	关于安全

	安装至监视器
	附件
	安装方法

	规格

	CT
	預防措施
	關於安全性

	連接顯示器
	隨附的配件
	連接方法

	規格

	KR
	사용상의 주의
	안전에 대하여

	모니터에 장착
	부속된 액세서리
	장착 방법

	사양

	RU

	Меры предосторожности
	Безопасность

	Крепление к монитору
	Комплект поставки
	Способ крепления

	Технические характеристики

	KZ
	Сақтық
	Шаралары

	Мониторға тіркеу
	Қамтамасыз етілген қосымша құралдар
	Тіркеу әдісі

	Сипаттамалар

	NL
	Voorzorgsmaatregelen
	Veiligheid

	Bevestigen aan de monitor
	Bijgeleverde accessoires
	Bevestigingsmethode

	Technische gegevens

	PT

	Precauções
	Segurança

	Instalar no monitor
	Acessórios fornecidos
	Método de instalação

	Especificações

	DK
	Forholdsregler
	Om sikkerhed

	Fastgørelse til skærmen
	Medfølgende tilbehør
	Fastgørelsesmetode

	Specifikationer

	FI
	Varotoimet
	Turvallisuus

	Monitorin kiinnittäminen
	Toimitetut varusteet
	Kiinnitysmenetelmä

	Tekniset tiedot

	NO
	Forholdsregel
	Om sikkerhet

	Feste på skjermen
	Tilbehør som følger med
	Festemetode

	Spesifikasjoner

	SE
	Försiktighetsåtgärder
	Om säkerhet

	Montera skärmen
	Medföljande tillbehör
	Monteringsmetod

	Specifikationer

	GR
	Προφυλάξεις
	Σχετικά με την ασφάλεια

	Προσάρτηση της οθόνης
	Εξαρτήματα που παρέχονται
	Μέθοδος προσάρτησης

	Τεχνικά χαρακτηριστικά

	BG
	Предпазни мерки 
	За безопасност 

	Прикрепяне към монитора 
	Осигурени аксесоари 
	Метод за прикрепяне 

	Спецификации 

	CZ
	Bezpečnostní opatření
	Bezpečnost

	Připojení k monitoru
	Dodávané příslušenství
	Způsob připojení

	Specifikace

	HU
	Óvintézkedések
	Biztonság

	A monitorhoz való csatlakoztatás
	Mellékelt tartozékok
	A csatlakoztatás módja

	Műszaki adatok

	PL
	Środki ostrożności
	Bezpieczeństwo

	Montaż do monitora
	Dostarczone akcesoria
	Metoda montażu

	Specyfikacja

	RO
	Măsuri de precauţie
	Despre siguranţă

	Atașarea la monitor
	Accesorii incluse
	Metodă de atașare

	Specificaţii

	SI
	Previdnostni ukrepi
	Varnost

	Pritrditev na monitor
	Priložena dodatna oprema
	Način pritrditve

	Specifikacije

	SK
	Preventívne opatrenia
	Informácie o bezpečnosti

	Pripevnenie k monitoru
	Dodané príslušenstvo
	Spôsob pripevnenia

	Špecifikácie

	LV
	Piesardzības pasākumi
	Drošībai

	Pievienošana monitoram
	Komplektācijā iekļautie piederumi
	Pievienošanas metode

	Specifikācijas

	LT
	Atsargumo priemonės
	Sauga

	Tvirtinimas prie monitoriaus
	Pateikiami priedai
	Tvirtinimas

	Specifikacijos

	EE
	Ettevaatusabinõud
	Turvalisus

	Monitori külge kinnitamine
	Komplekti kuuluvad tarvikud
	Kinnitamismeetod

	Tehnilised andmed

	HR
	Oprez
	Sigurnost

	Pričvršćivanje monitora
	Isporučeni dodatni dijelovi
	Postupak pričvršćivanja

	Značajke

	TR
	Önlem
	Güvenlikle İlgili

	Monitöre takma
	Birlikte verilen aksesuarlar
	Takma yöntemi

	Teknik Özellikler

	SR
	Mera predostrožnosti
	O bezbednosti

	Pričvršćivanje monitora
	Priložena dodatna oprema
	Način pričvršćivanja

	Specifikacije




